
  The Pipe & Joint System

GB
1/2023



CAD
Design Software

powered by

The Profi le System

The key ...The key ...

The Profi le System The Clean-Room System

Safety Barriers The Modular Wall System Noise Resist

The Tube Clamping System

The Telescopic System The Linear SystemThe Conveyor System

The Personnel Transfer System The Skid Transfer System The Dust Protection System

  The Profi le System



I

Design Software

Tube
powered by

The Pipe & Joint System

... ... to success !to success !

The Pipe & Joint System

Applications

The ideal modular system
MayTec offers a comprehensive, harmonised 
modular system. All modules can be combined 
in any way conceivable. 

The accessories provide functional and aesthetic 
solutions for a wide range of applications.

Service
The MayTec service is as versatile as the 
MayTec modular system.
You may choose: 

• delivery of standard elements ex-factory
• delivery of profi les, pipes and accesso-  
 ries cut to size according to parts list  
 for customer’s assembly
• delivery of pre-fi tted modular components
• delivery of completely assembled units
• assembly at your premises

Implementation
The MayTec modular system is easy to process 
and quick to assemble. Its fl exible and modular 
construction means it can be easily modifi ed 
and is reusable at any time.

An experienced team will support you in 
implementing the MayTec system, tailored to 
your individual applications, taking into con-
sideration your dimensions, loading capacity 
and stability.

  The Pipe & Joint System

The Trailer System

• assembly and inspection stations
• display systems
• exhibition cabinets and stands
• FiFo shelves
• fl ow shelves

• machine bases
• machine enclosures
• machine guarding
• partitions and protective walls
• plant equipment

• protective and work cabinets
• sequence trolleys
• special shelves
• transfer and supply trolleys
• work stations



II

CAD
Design Software Design Software

Tube
powered by

The key to success !The key to success !

Title DE GB FR ES IT CZ

Product Summary • • • • • •

The Profi le System • • • • •

The Inch System  •

The Pipe & Joint System • •  • •

The Trailer System • •   •

The Conveyor System • • •  •

The Linear System • •

The Modular Wall System • •   •

Safety Barriers • •

The Tube Clamping System • 

The Telescopic System • •   •

MayCAD / MayTube • • • • •

Download at http://maytec.com.de

Summary: Catalogues



CAD.01

CAD
Design Software Design Software

Tube

CAD Tube

In preparation:

3D CAD-Tool for

The Profi le System

3D confi guration module for

The Conveyor System

3D CAD-Tool for

The Pipe & Joint System

Offl ine Online

Offl ine

Link:
h  ps://may-tube.com

Free download at:
h  p://maytec.com.de/index.php?id=21

System requirements
• Microso   Windows
• Graphics card with OpenGL (from version 3.3)

3D CAD-Tool for

The Profi le System and The Pipe & Joint System

3D confi guration module for

The Conveyor System

CAD
Design Software



CAD.02

CAD

CAD

Design Software

CAD

Download link:
www.maytec.de/index.php?id=21

Sample

Machine enclosure Complete in 20 min.   ...  Ready

• Free to use
• Easy to install 
• 80% faster
• Export function for 3D models   
 and parts list

3D view

Dimensional 
drawing

Exploded view with part numbers
Detailed drawings for all 
panel elements Parts list with calculations

The Profi le System

Input in
MayCAD

Offl ine 3D CAD-Tool

Hand sketch



CAD.03

CAD

CAD

Design Software

CAD

Download link:
www.maytec.com.de/index.php?id=21

Sample

M-SK1 Belt conveyor
Type 111-2220-100
• running inside
• drive under belt

Confi guration in
MayCAD

Complete in 2 min.   ...  Ready

• Free to use
• Easy to install
• Export function for 3D model

Article number with description
3D model for use in CAD systems

The Conveyor System

Offl ine 3D confi guration module
for layout planning

Conveyor confi guration



CAD.04

Design Software

Tube

Tube

Tube

Complete in 90 min.  ...  Ready

h  ps://may-tube.com

Sample

Kanban material conveyancing

• Free to use
• No software installation required
• 80% faster
• Export function for 3D models
 and parts list

The Pipe & Joint System

Exploded view with position numbers
Single part drawing for all 
panel elements Parts list with calculations

Online 3D CAD-Tool

Hand sketch
Dimensional 
drawing

3D view

Input in
MayCAD



0.01

0

1

2

3

4

5

6

7

8

9

A

B

Register

 Table of contents

 Summary: Total - all product groups

Pipes  21.11

Connection systems 21.12

Mounting accessories 21.13

Caps, plugs and threaded inserts 21.14

Feet, castors and footplates 21.15

Roller tracks 21.16

Accessories 21.17

Panel elements 21.18

Screws and nuts, tools 21.99

 Subject index

 Article number index



0.02



0.03

Table of contents

Article number group PageArticle number group Page

 Summary: Total - all product groups 10.01
   

 Pipes 
21.11 Summary: Pipes .................................................... 11.01

21.11 Numerical key for articles ....................................... 11.02

21.11 Steel pipe, Symbols, Special characters .................. 11.03

21.11 Steel pipes Ø 28, Stainless steel pipes Ø 28 ............. 11.04

21.11 Aluminium pipes Ø 28 ............................................ 11.06

21.11 Curved pipes ......................................................... 11.08

21.11A Calculation of the tube cutting lengths .................... 11.09

21.11B Defl ection .............................................................. 11.10

21.11B Defl ection of steel and stainless steel pipes ............. 11.11

21.11B Defl ection of aluminium pipes ................................. 11.12

21.11B Load capacity ........................................................ 11.13

21.11B Defl ection: Example ............................................... 11.14

   

 Connection systems 
21.12 Joints - MayConnect ............................................. 12.01

21.12 Summary: Joints .................................................... 12.02

21.121 Joints.................................................................... 12.08

21.12A  Load values .................................................... 12.14

21.12A  Locking screw ................................................. 12.15

21.12 Summary: Connection elements ............................. 12.17

21.121 Connection elements ............................................. 12.18

21.M MayConnect:

  Pipe connectors, inside .................................... 12.21

21.M MayConnect: Numerical key for articles ................... 12.22

21.M MayConnect: Connection possibilities

  Ø28 pipe  Ø28 pipe ..................................... 12.23

21.M MayConnect-Pipe connector for Ø28 pipe

  Ø28 pipe..................................................... 12.24

21.M   pipe profi le Ø28 ......................................... 12.26

21.M   profi le ........................................................ 12.28

21.M   panel element ............................................ 12.29

21.M MayConnect: Pipe connector components ............... 12.30

21.M MayConnect: Assembly of pipe connector................ 12.36

   

 Accessories 
21.13 Summary: Mounting accessories ............................ 13.01

21.13 Mounting accessories ............................................ 13.02

21.14 Summary: Caps, plugs and threaded inserts ............ 14.02

21.14 Caps, plugs and threaded inserts ............................ 14.02

21.15 Summary: Feet, castors and footplates .................... 15.01

21.15 Feet ...................................................................... 15.02

21.15 Castors ................................................................. 15.05

21.15 Racks: Application examples................................... 15.06

21.15  Blickle .................................................. 15.09

21.15  Tente .................................................... 15.14

21.15 Foot plates ............................................................ 15.25

21.15 Forklift guides ........................................................ 15.29

21.16 Summary complete: Roller tracks............................ 16.02

 Summary .......................................................................

21.16  Roller track 35 ................................................ 16.05

21.16  Roller track 40 ................................................ 16.06

21.16  Roller track 60 ................................................ 16.08

21.16  Roller track 85 ................................................ 16.09

21.16  Center guiding profi les - for all roller tracks ....... 16.10

21.16 Load capacity of the roller tracks ............................ 16.11

22.16 Roller track 35 ....................................................... 16.13

21.16 Roller track 40 ....................................................... 16.16

21.16 Roller track 60 ....................................................... 16.33

21.16 Roller track 85 ....................................................... 16.37

22.16 Roller track center guiding profi les .......................... 16.41

21.16 Roller track center guiding profi les .......................... 16.42

21.17 Summary: Accessories ........................................... 17.01

21.17 Accessories ........................................................... 17.02

21.18 Summary: Panel elements ...................................... 18.01

21.18 Panel elements ...................................................... 18.02

21.99 Summary: Screws and nuts, tools ........................... 99.01

21.99 Screws and nuts .................................................... 99.02

21.99 Tools ..................................................................... 99.04

 

 

 

 Subject index ................................................ A.01

 Article number index ..................................... B.01

 



0.04



10.01

0
Steel t 11.04

Aluminium t 11.06

21.11 Pipes

Stainless steel t 11.04

 wall

 thickness

 s

 [mm] Description

Standard pipe Ø 28, ABS, 0.7, colour

Standard pipe Ø 28, ABS, 1.0, colour

Standard pipe Ø 28, ABS, 2.0, colour

Standard pipe Ø 28, ABS, 0.7, black, ESD

Standard pipe Ø 28, ABS, 1.0, black, ESD

Standard pipe Ø 28, ABS, 2.0, black, ESD

Slide pipe Ø 28, ABS, 1.0, colour

Slide pipe Ø 28, ABS, 2.0, light grey

Slide pipe Ø 28, ABS, 1.0, black, ESD

Flat pipe Ø 28, ABS, 1.0, black

Flat pipe Ø 28, ABS, 1.0, black, ESD

 0.7 • • • • • • • • • •

 1.0 • • • • • • • • • •

 2.0 • • • • • • • • • •

 0.7 • 

 1.0 •

 2.0 •

  

 1.0 • • •

 2.0     •

  

 1.0 •

    

  

 1.0 •

  

  

 1.0 •

Version

Standard

ESD 

Standard

ESD

Standard

ESD

Summary: Total

Product group

Aluminium pipe Ø28, 

2.0

Aluminium pipe

profi le Ø28, 1.5,

1 F-slot

Aluminium pipe

profi le Ø28, 1.5,

2 F-slots, corner

Aluminium pipe

profi le Ø28, 1.5,

2 F-slots

Aluminium pipe

profi le Ø28, 1.5,

3 F-slots

Aluminium pipe

profi le Ø28, 1.5,

4 F-slots

Standard pipe

Slide pipe

Flat pipe



10.02

E-J 1 E-J 5E-J 3E-J 1C E-J 2 E-J 4

E-J 090 E-J 13E-J 110 E-J 160 E-J 45

E-J 12 E-J 24E-J 17 E-J 18

E-J 7 E-J 7C E-J 14 E-J 6

E-J 8 E-J 180 E-J 20

E-J 6C

E-J 9

E-J 1L E-J 4L

90° 45°110° 160° 45°

Summary: Total

Product group

Standard joints t 12.08

Angle joints t 12.10

Sliding joints t 12.13

21.12 Joints

Standard joints overlapping joint t 12.09

Hinge joints t 12.11 Crossover joints t 12.11

Parallel joints t 12.12 Pipe extension t 12.12 Flat pipe joint t 12.12



10.03

PS-A PS-B

0

Summary: Total

Cross connector t 12.18

Panel holder t 12.19

21.12 Connection elements

Pipe extensions t 12.18

Slide pipe joints t 12.19

Product group

type A type B

with stop union with offset Slide pipe bridge, 

square

Slide pipe bridge, 

rounded



10.04

B

B

B

B

B

D

D

D

D

D

R

R

R N

A

A

A

A

A

+

+

+

+

+

Summary: Total

Product group

21.M MayConnect: Pipe connectors, inside t 12.21

Ø28 Pipe  Ø28 Pipe

Ø28 Pipe  Profi le (with slot)

Ø28 Pipe  Pipe profi le Ø28 (with slot)

Ø28 Pipe  Panel element

A = Anchor,   B = Cross bushing,   D = Connector sleeve,   R = Intermediary,   N = Rivet nut 

 Connection Connector

rivet nut

Patent pending



10.05

0

Summary: Total

fl ush

Pipe clamps PE Pipe quick lockPipe clamps PE, 

type B

Profi le adaptor 90°Profi le adaptor

Pipe clip

single sided double sidedcenter

Pipe clips PEwide

Screw-on pipe clamps t 13.02

21.13 Mounting accessories

Pipe clamps, pipe clips t 13.04

Adaptors t 13.07

Links, joints t 13.09

Pipe clamps t 13.04

Table top joint Shock absorber Shock absorber 

clamp

Shock absorber t 13.10

Roller track link

Plate support t 13.07

Profi le adaptor

two piece

Pipe holder

one piece

Plate support, corner

center,

sliding

Product group



10.06

Summary: Total

End caps Cover caps End plugs for ABS coated pipesRubber cap for stainless steel 

pipes

Caps, plugs t 14.02 Threaded inserts t 14.04

Product group

21.14 Caps, plugs and threaded inserts



10.07

0

Summary: Total

Product group

round square with rubber padfl at square

Slip on feet t 15.02 Threaded feet t 15.03

Fixed castors Swivel castors Swivel castors

lockable

Castors, Blickle t 15.09

Swivel castors

Swivel castors Swivel castors

Swivel castorsFixed castorsSwivel castors

lockable

Swivel castors

lockable

Swivel castors

lockable

Swivel castors

lockable

Series 2A t 15.15

Series 2C t 15.15

Series 2B t 15.15

Series 2D t 15.15

Castors, Tente t 15.14

Locking foot

for castors

Clamping bushes Castor mounting

sets

Castors t 15.21

corner left

narrow

corner

corner right center with post

Spacer plate

Screw-on element for

castors with bolt hole

Footplates for pipes t 15.27

Footplates for pipes t 15.25

Forklift guides t 15.29

21.15 Feet, castors and footplates



10.08

Summary: Total

    35 40 60 85

Summary   t 16.05 16.06 16.08 16.09

 Standard  16.13 16.18 16.33 16.37

  low noise (ln)  16.18  

 fl at  16.19 16.33

 Edge roller  16.20  

  low noise (ln)  16.20  

 with offset  16.13   

Side guiding profi le    

 PE   16.14 16.21  

  with offset  16.14 16.22  

Roller track    

 - support  16.15 16.24 16.34 16.38

  with stop   16.25 16.34 16.39

  with offset  16.16 16.26 16.35 16.39

  with return stop   16.27 16.35

 - extension 16.17 16.30 16.36 16.40

 - overlay   16.30 16.36 16.40

 - bridge 16.17 16.31  16.40

 Adapter bridge   16.31  

 Mounting clamp  16.16   

Roller track brake    

 Standard   16.32  

 fl at   16.32  

 Edge roller   16.32

Roller track

Product group

21.16



10.09

0

Summary: Total

  mounting on:

PE   Roller track support 35 16.41

  Roller track support 40 16.42

Alu 16.42

  Slide pipe supports 12.19

Center guiding profi le - for all roller tracks



10.10

Summary: Total



10.11

0

Summary: Total

Roller track

- support

   

 with offset

  

  

Mounting clamp

- extension

- bridge

Adapter
for roller track

support 40

round

type B

round

 Ø28 profi le 40 35 t 16.15

 Side guiding profi le  t 16.14
for roller track 35  

PE

with offset

 Roller track 35  t 16.13

Type of roller

Standard

with offset

Product group



10.12

Summary: Total

 Roller track 40  t 16.18

      
 Type of roller  low noise (ln)

 Roller track t 16.32
 brake 40

Standard

fl at

Edge roller

PE

  with offset

Standard

fl at

Edge roller

 Extension clip

for side guiding  

 profi le   

 with offset

 Side guiding profi le  t 16.21
 for roller track 40

Product group



10.13

0

Summary: Total

- support

 with stop

  

   

 with offset

 with return stop

- extension

- overlay

- bridge

Adapter bridge

rear

front

type B

 Ø28 Ø33 profi le 40

bracket left bracket right

bracket left bracket right

short

round

hinged
Roller track

 40 t 16.24



10.14

Summary: Total

- support

 with stop

 with offset

 with return stop

- extension

- overlay

type B

 Ø28 Ø33

Standard

fl at

 Roller track 60 t 16.33

Type of roller Roller track

 60 t 16.34

Product group



10.15

0

Summary: Total

- support

 with stop

  

 with offset

- extension

- overlay

- bridge

rear

type B

bracket left bracket right

bracket left bracket right

short

Standard

 Ø28 Roller track 85 t 16.37

Type of roller Roller track

 85 t 16.38

Product group



10.16

Summary: Total

Mounting:
on roller track support 40

t 16.24

Mounting:
on roller track support 35

t 16.15

Mounting:
on slide pipe support

t 12.19

PE

  

Alu

 Center guiding profi les  t 16.41
 for all roller tracks

Product group



10.17

0

Summary: Total

Plastic pipe collars Sleeves Bolted pipe collar Pipe hanger Label holder Label holder

Label strip 32Label clipLabel bar Sticker bar

Pipe collars, sleeves t 17.02

Labeling t 17.03

21.17 Accessories

Labeling t 17.02

clip, double-sided double-sidedsingle-sided

Position retainer t 17.06 Roller fi xture t 17.07

Ball castorsRoller bushings

Tilt rails t 17.15

Bushings t 17.08

Drink holder with 

mounting plate

Multiple tool holder

Hang up hook

Tool holder for cord-

less pistol nutrunner

Tool holder

Ring hook

42

Cable duct

10024

Pipe cover

Bottle holder

Device holder

Sliding hook Sliding hook, PA

Tool, device and bottle holder t 17.11

Tool and device holder t 17.10

Profi les t 17.16

Hooks t 17.14

Hooks t 17.13

Protective hose t 17.17

Label bag

63 98 stop

Stopper t 17.07

 with protective skin

Tool holder for

cordless screwdriver

Product group



10.18

Summary: Total

Panel elements t 18.02

21.18 Panel elements

Chipboards Alu-plastic

composite panels

Edge protectionSolid plastic panels Structured-core

panels

Polycarbonat

(Makrolon)

Product group



10.19

0

Summary: Total

Screws and nuts t 99.02 Tools t 99.04

21.99 Screws and nuts, tools

Pipe cutter for ABS 

coated pipes

Pipe cutter for stain-

less steel pipes

Pipe deburrer Step drills

for cross bushing

Product group



10.20



11.01

21.11

Standard pipe

Slide pipe

Flat pipe

Aluminium pipe Ø28, 

2.0

Aluminium pipe

profi le Ø28, 1.5,

1 F-slot

Aluminium pipe

profi le Ø28, 1.5,

2 F-slots, corner

Aluminium pipe

profi le Ø28, 1.5,

2 F-slots

Aluminium pipe

profi le Ø28, 1.5,

3 F-slots

Aluminium pipe

profi le Ø28, 1.5,

4 F-slots

1

Summary: Pipes

Steel t 11.04

Aluminium t 11.06

21.11 Pipes

Stainless steel t 11.04

 wall

 thickness

 s

 [mm] Description

Standard pipe Ø 28, ABS, 0.7, colour

Standard pipe Ø 28, ABS, 1.0, colour

Standard pipe Ø 28, ABS, 2.0, colour

Standard pipe Ø 28, ABS, 0.7, black, ESD

Standard pipe Ø 28, ABS, 1.0, black, ESD

Standard pipe Ø 28, ABS, 2.0, black, ESD

Slide pipe Ø 28, ABS, 1.0, colour

Slide pipe Ø 28, ABS, 2.0, light grey

Slide pipe Ø 28, ABS, 1.0, black, ESD

Flat pipe Ø 28, ABS, 1.0, black

Flat pipe Ø 28, ABS, 1.0, black, ESD

 0.7 • • • • • • • • • •

 1.0 • • • • • • • • • •

 2.0 • • • • • • • • • •

 0.7 • 

 1.0 •

 2.0 •

  

 1.0 • • •

 2.0     •

  

 1.0 •

    

  

 1.0 •

  

  

 1.0 •

Version

Standard

ESD 

Standard

ESD

Standard

ESD

Product group



11.02

21.11

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . 1 ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä 1 . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . 1 ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . 3 ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . 4 ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä 0 ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä 1 ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä 2 ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä 3 ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä 8 ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä 1 ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä 2 ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä 3 ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä 4 ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä 0 . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä E . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . 0 7 . ä ä . ä ä

21 . ä ä . ä ä ä ä . 1 0 . ä ä . ä ä

21 . ä ä . ä ä ä ä . 1 2 . ä ä . ä ä

21 . ä ä . ä ä ä ä . 1 5 . ä ä . ä ä

21 . ä ä . ä ä ä ä . 2 0 . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 0 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 1 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 2 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 3 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 4 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 5 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 6 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 7 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 8 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 0 9 . ä ä

21 . ä ä . ä ä ä ä . ä ä . 1 0 . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . 4 ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä . ä 0
21 . ä ä . ä ä ä ä . ä ä . ä ä . ä 1
21 . ä ä . ä ä ä ä . ä ä . ä ä . ä 2

21 . ä ä . ä ä ä ä . ä ä . ä ä / ä ä ä ä

21 . ä ä . ä ä ä ä . ä ä . ä ä / ä ä ä ä

Pipes

Cut to length pipes

Key

The Pipe & Joint System

Pipe outside-Ø:

 28 mm

Product group:

 Pipes

Material:

 Steel, ABS coated     

 Stainless steel     

 Aluminium 

Coating:

 w/o      

 ABS      

 Powder      

 Paint      

 Anodized

Pipe model:

 Standard pipe     

 Slide pipe     

 Flat pipe     

 Pipe profi le

Conductivity:

 Standard     

 ESD

Wall thickness:

 0.7 mm      

 1.0 mm      

 1.2 mm      

 1.5 mm      

 2.0 mm 

Colour of coating:     

 w/o      

 black      

 white      

 ivory      

 dark grey

 light grey     

 dark blue     

 light blue     

 green      

 red      

 yellow

Length of pipe:

 4 m

Packing unit:

 1 Pipe      

 10 Pipes (PU 1)     

 100 Pipes (PU 2)

Key

cut length [mm]

similar to RAL
9004: signal black

9002: grey white

1014: ivory

7012: basalt grey

7038: agate grey

5005: signal blue

5012: light blue

6018: yellow green

3000: fl ame red

1018: zinc yellow

Numerical key for articles

Pipe / Cutting



11.03

21.11

1

Steel pipe, Symbols, Special characters

Symbols ESD
ESD protection

Steel pipe, ABS coated
ABS coating

Steel pipe

Interior coating

Adhesive

ä  Placeholder  Example identifi es the articles:
  in article No. 21.11.484.10.4ä 21.11.484.10.40

    21.11.484.10.41

    21.11.484.10.42

t Reference Example reference to
   t 13.05 catalogue page 13.05

   t 21.11 article number group 21.11

   t 21.11.484.10.4ä group of articles 21.11.484.10.4ä

Special characters



11.04

21.11

ØA

ØIk
s

ØA

ØIk
s 29

.5

18

ØA

ØIk
s 28
.5

31

ØA

ØI

s

  Version

Standard pipe  Standard

  

  

  ESD 

  

  

Slide pipe  Standard

  

  

  ESD

  

  

Flat pipe  Standard

  

  

  ESD

  

Technical data 

Material: Steel, ABS coated
Pipe outside-Ø: 28 mm
Length of pipe: 4 m

Steel

Stainless steel

 s Ø
A
 Ø

I
 k I

x
I
y
 W

x
 W

y
 G

 [mm] [mm] [mm] [mm] [cm4] [cm4] [cm3] [cm3] [kg/m]

 0.7 27.6 24.2 1.0 0.4 0.4 0.3 0.3 0.5

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

 2.0 27.6 21.6 1.0 1.1 1.1 0.8 0.8 1.1

 0.7 27.6 24.2 1.0 0.4 0.4 0.3 0.3 0.5

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

 2.0 27.6 21.6 1.0 1.1 1.1 0.8 0.8 1.1

  

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

 2.0 27.6 21.6 1.0 1.1 1.1 0.8 0.8 1.1

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

  

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

  

 1.0 27.6 23.6 1.0 0.6 0.6 0.4 0.4 0.7

 wall diameter ABS moment of moment of weight

 thickness outer inner thickn. inertia resistance 

  Version

Stainless steel pipe  ESD

Technical data

Material: Stainless steel, V4A
Pipe outside-Ø: 28 mm
Length of pipe: 4 m

 s Ø
A
 Ø

I
 I

x
I
y
 W

x
 W

y
 G

 [mm] [mm] [mm] [cm4] [cm4] [cm3] [cm3] [kg/m]

 0.7 27.6 24.2 0.6 0.6 0.4 0.4 0.5

 1.2 27.6 23.6 0.9 0.9 0.6 0.6 0.8

 wall diameter moment of moment of weight

 thickness outer inner  inertia resistance 

Steel pipes Ø 28,
Stainless steel pipes Ø 28



11.05

21.11.1110.07.ää.4ä

21.11.1110.10.ää.4ä

21.11.1110.20.ää.4ä

21.11.111E.07. 0 1 .4ä

21.11.111E.10. 0 1 .4ä

21.11.111E.20. 0 1 .4ä

21.11.1120.10.ää.4ä

21.11.1120.20. 0 5 .4ä

21.11.112E.10. 0 1 .4ä

21.11.1130.10. 0 1 .4ä

21.11.113E.10. 0 1 .4ä

21.11

 01 02 03 04 05 06 07 08 09 10

21.11.301E.07.00.4ä

21.11.301E.12.00.4ä

1
ää = Colour

black

white

ivory

dark grey

light grey

01

02

03

04

05

ä = Quantitiy

0 = 1 Pipe

1 = 10 Pipes (PU 1)

2 = 100 Pipes (PU 2)

Article No.

dark blue

light blue

green

red

yellow

06

07

08

09

10

ää  = Colour

 wall

 thickness

 s

 [mm] Description

Standard pipe Ø 28, ABS, 0.7, colour

Standard pipe Ø 28, ABS, 1.0, colour

Standard pipe Ø 28, ABS, 2.0, colour

Standard pipe Ø 28, ABS, 0.7, black, ESD

Standard pipe Ø 28, ABS, 1.0, black, ESD

Standard pipe Ø 28, ABS, 2.0, black, ESD

Slide pipe Ø 28, ABS, 1.0, colour

Slide pipe Ø 28, ABS, 2.0, light grey

Slide pipe Ø 28, ABS, 1.0, black, ESD

Flat pipe Ø 28, ABS, 1.0, black

Flat pipe Ø 28, ABS, 1.0, black, ESD

 

 0.7 • • • • • • • • • •

 1.0 • • • • • • • • • •

 2.0 • • • • • • • • • •

 0.7 • 

 1.0 •

 2.0 •

  

 1.0 • • •

 2.0     •

  

 1.0 •

    

  

 1.0 •

  

  

 1.0 •

Article No.Description

Stainless steel pipe Ø 28, 0.7

Stainless steel pipe Ø 28, 1.2

 s 

 [mm] 

 0.7 •

 1.2 •

 wall w/o colour

 thickness coating

ä = Quantitiy

0 = 1 Pipe

1 = 10 Pipes (PU 1)

2 = 100 Pipes (PU 2)



11.06

21.11

ØA

ØI

s

8.2

5.
9

1.
5

8.2

5.
9

1.
5

8.2

5.
9

1.
5

8.2

5.
9

1.
5

8.2

5.
9

1.
5

ØI

ØA

Aluminium pipes Ø 28

  

Aluminium pipe

Aluminium pipe profi le

Technical data 

Material: Aluminium, E6/EV1- matt stained and  
 natural anodised
Pipe outside-Ø: 28 mm
Length of pipe: 4 m

 s Ø
A
 Ø

I
 I

x
 I

y
 W

x
 W

y
 G

 [mm] [mm] [mm] [cm4] [cm4] [cm3] [cm3] [kg/m]

 2.0 28.0 24.0 1.4 1.4 1.0 1.0 0.4

 1.5 28.0 12.0 1.5 1.5 1.1 1.1 0.6

 1.5 28.0 12.0 1.3 1.3 0.9 0.9 0.6

 1.5 28.0 12.0 1.5 1.1 1.1 0.8 0.6

 1.5 28.0 12.0 1.3 1.1 0.9 0.8 0.6

 1.5 28.0 12.0 1.1 1.1 0.8 0.8 0.5

Aluminium

 wall diameter moment of moment of weight

 thickness outer inner  inertia resistance 



11.07

21.11

21.11.4810.20.00.4ä

21.11.484.10.4ä

21.11.484.22.4ä

21.11.484.20.4ä

21.11.484.30.4ä

21.11.484.40.4ä

1

Article No.Description

Aluminium pipe Ø 28, 2.0

Aluminium pipe profi le Ø 28, 1.5, 

1 F-slot

Aluminium pipe profi le Ø 28, 1.5, 

2 F-slots, corner

Aluminium pipe profi le Ø 28, 1.5,

2 F-slots

Aluminium pipe profi le Ø 28, 1.5,

3 F-slots

Aluminium pipe profi le Ø 28, 1.5, 

4 F-slots

 s 

 [mm] 

 2.0 •

 1.5 •

 1.5 •

 1.5 •

 1.5 •

 1.5 •

ä = Quantitiy

0 = 1 Pipe

1 = 10 Pipes (PU 1)

2 = 100 Pipes (PU 2)

 wall w/o colour

 thickness coating



11.08

21.11

2328

2931.4
14

70

Ø2
8

81
3.
7

63°

27
°

51
1

R206

R206

Curved pipes

Curved pipes

Example

Manufacturing according to customer drawing



11.09

28

28

21.11A

A

B

C

Ø
3

3

303516,5

A

B

C

14,014,0

1

Calculation of the tube cutting lengths

Pipes Ø28 and Joints

Pipes Ø28 and MayConnect connectors

pipe end pipe end

 A B C
 outside dimension pipe center span pipe cut length

  A = B + 33 A = C + 103

 B = A -   33  B = C +   70

 C = A - 103 C = B - 70

 A B C
 outside dimension pipe center span pipe cut length

  A = B + 28 A = C + 84

 B = A - 28  B = C + 56

 C = A - 84 C = B - 56

pipe end pipe end



11.10

21.11B

f =

f =
F · I3 + F1 · I1

2 · l + F2 · I2
2 · I

3E · J

F · I3

3E · J

f =
F · I3

8E · J

f =
F · I3

48E · J

f =
5F · I3

384E · J

f =
F · a2 · b2

3E · J · I

f =
F · I3

192E · J

f =
F · I3

384E · J

f =
 F · I3

(48 +  ) · E · J
29m

I

1

2

3

4

5

6

7

8

9

2)

Defl ection

For the computation of defl ection use formulas 

on this page.

For the computation of defl ection by the 

profi les own weight, apply "Type of load" 

3, 6 or 9.

f = Defl ection in mm

F = Type of load in N

I = Pipe length in mm

J 1) = Moment of inertia in mm4

E = Module of elasticity in N/mm2

E
St
 = 210,000 N/mm2

E
V4A

 = 200,000 N/mm2

E
AL

 = 70,000 N/mm2

1) Comments 
• Catalogue data in cm4

 (Note factor of conversion 104 !)

• The moments of inertia are given on

 pages 11.04 and 11.06 under the  

 respective pipes.

2) approximate value

Type of load



11.11

50
0

1,1

200

21.11B

1

Defl ection of steel and stainless steel pipes

To determine the approximation of defl ection, 

use the diagram on this page.

Determination of defl ection 
1. Type of load F in N

2. Pipe length l in mm

3. Move cross point on the diagonal

4. Moment of inertia of the selected

 pipe J in cm4

5. Cross point with the diagonal to

 be vertically extended to the bottom

6. Defl ection f for the specifi c

 "Type of load" in mm

Example: Standard pipe Ø 28, 2.0,

 (Steel, ABS coated)

1 F = 200 N

2 l = 500 mm

3 Move cross point on the diagonal

4 J = 1.1 cm4 for Standard pipe Ø 28, 2.0

5 Cross point with the diagonal to

 be vertically extended to the bottom 

6 Defl ection for the specifi c   

 "Type of load" in mm:

 Type of load 1: f = 3,6 mm

 Type of load 4: f = 0,22 mm

 Type of load 8: f = 0,56 mm

Type of load 1

Type of load 4

Type of load 8

Pipe length I in mm

Lo
ad

 F
 in

 N

M
om

en
t o

f i
ne

rt
ia

 J
 in

 c
m

4

Defl ection f in mm

Approximate determination of defl ection

steel /

stainless steel

steel /

stainless steel

steel /

stainless steel



11.12

50
0

1,4
200

21.11BDefl ection of aluminium pipes

To determine the approximation of defl ection, 

use the diagram on this page.

Determination of defl ection 
1. Type of load F in N

2. Pipe length l in mm

3. Move cross point on the diagonal

4. Moment of inertia of the selected

 pipe J in cm4

5. Cross point with the diagonal to

 be vertically extended to the bottom

6. Defl ection f for the specifi c

 "Type of load" in mm

Example: Aluminium pipe Ø 28, 2.0

1 F = 200 N

2 l = 500 mm

3 Move cross point on the diagonal

4 J = 1,4 cm4 for Aluminium pipe Ø 28, 2.0

5 Cross point with the diagonal to

 be vertically extended to the bottom 

6 Defl ection for the specifi c   

 "Type of load" in mm:

 Type of load 1: f = 8,5 mm

 Type of load 4: f = 0,53 mm

 Type of load 8: f = 0,13 mm

Type of load 1

Type of load 4

Type of load 8

Pipe length I in mm

Lo
ad

 F
 in

 N

M
om

en
t o

f i
ne

rt
ia

 J
 in

 c
m

4

Defl ection f in mm

Approximate determination of defl ection

aluminium

aluminium

aluminium



11.13

21.11B

 750 640 1,070 560 930 470 780 470 780 470 780

 1,000 270 450 230 390 190 330 190 330 190 330

 1,250 130 230 120 200 100 170 100 170 100 170

 1,500 70 130 60 110 50 90 50 90 50 90

1

Load capacity

Steel pipes, ABS coated

Stainless steel pipes

Aluminium pipe

Aluminium pipe profi les

Load capacity

center distance center distance

 center distance Aluminium pipe profi le Ø 28 , 1.5

 [mm] 1 F-slot 2 F-slots, corn. 2 F-slots 3 F-slots 4 F-slots

clamped pipe with 2 standard joints

load data in N with a defl ection of approx. 5 mm

point load line load

 center distance Steel pipe, ABS coated

 [mm] Ø 28 × 0.7 Ø 28 × 1 Ø 28 × 2

 center distance Stainless steel pipe

 [mm] Ø 28 × 0.7 Ø 28 × 1.2

 center distance Aluminium pipe

 [mm]   Ø 28 × 2

load data in N with a defl ection of approx. 5 mm

load data in N with a defl ection of approx. 5 mm

load data in N with a defl ection of approx. 5 mm

 750 520 860 1,030 1,570 1,570 2,550

 1,000 210 360 390 640 640 1,000

 1,250 100 180 200 290 290 490

 1,500 60 100 100 200 180 290

 750 980 1,470 1,370 2,160

 1,000 390 590 540 880

 1,250 200 270 270 440

 1,500 100 180 150 250

 750     600 1,000

 1,000     250 420

 1,250     120 210

 1,500     70 120



11.14

21.11B

0
500 750 1.000 1.250 1.500

640 N

1.000

2.000

3.000

4.000

1

2
3

1.000 N

500 750
0

2.000

3.000

4.000

1.000 1.250 1.500
1

2
3

 5

 10

 15

 20

 5

 10

 15

 20

Defl ection under point load

Defl ection under line load

Defl ection

Bending lines

defl ection [mm]

Bending lines

defl ection [mm]

Example: Standard pipe Ø 28 × 2 mm, ABS coated

load
[N]

load
[N]

center distance [mm]

center distance [mm]

center distance

center distance

Determination of defl ection under
point load
1. center distance l in mm

2. permissible defl ection f in mm

3. permissible point load F in N

Determination of defl ection under
line load 
1. center distance l in mm

2. permissible defl ection f in mm

3. permissible line load F in N

Example   
1 l = 1,000 mm

2 f = 5 mm

3 F = 640 N

Example   
1 l = 1,000 mm

2 f = 5 mm

3 F = 1,000 N



12.01

21.12

2

Connection system

System 1: Joints t 12.03

System 2: MayConnect t 12.23
pipe connector, inside



12.02



12.03

21.12

E-J 1 E-J 5E-J 3E-J 1C E-J 2 E-J 4

E-J 090 E-J 13E-J 110 E-J 160 E-J 45

E-J 12 E-J 24E-J 17 E-J 18

E-J 7 E-J 7C E-J 14 E-J 6

E-J 8 E-J 180 E-J 20

E-J 6C

E-J 9

E-J 1L E-J 4L

90° 45°110° 160° 45°

2

Summary: Joints

Standard joints t 12.08

Angle joints t 12.10

Sliding joints t 12.13

21.12 Joints

Standard joints overlapping joint t 12.09

Hinge joints t 12.11 Crossover joints t 12.11

Parallel joints t 12.12 Pipe extension t 12.12 Flat pipe joint t 12.12

Product group



12.04

E-3 E-4E-1C E-2E-1 E-1L4

90°

45°

110°

160°

45°

E-J 1

E-J 5

E-J 3

E-J 1C

E-J 2

E-J 4

E-J 1L

E-J 4L

E-J 45

E-J 13

E-J 090

E-J 110

E-J 160

E-J 20

21.12

2 ×     

 2 ×    

  1 × 1 ×  

  2 ×  1 × 

    2 × 

  4 ×   

     2 ×

     

     

     

     

     

     

1 ×     

t 12.08

t 12.09

t 12.10

t 12.12

t 12.15 t 12.15 t 12.15 t 12.15

Standard
joints

Standard
joints
overlapping joint

Angle
joints

Flat pipe
joint

Summary: Joints

with bore Ø4.2 for locking screw

(drilling screw DIN 7504 4.2 × 13)





  



12.05

E-4L H-110 H-160E-090 E-13BE-13A H-45 E-20

21.12

        1 ×

        1 ×

        2 ×

        3 ×

        2 ×

        4 ×

        1 ×

2 ×        2 ×

 2 ×       2 ×

  2 ×      2 ×

   2 ×     2 ×

    1 × 1 ×   1 ×

      2 ×  1 ×

       1 × 1 ×

t 12.15

2

Summary: Joints





12.06

21.12

E-7B E-14E-7A E-7C E-6CE-6

E-J 7

E-J 7C

E-J 14

E-J 6C

E-J 6

E-J 9

E-J 8

E-J 180

E-J 24

E-J 18

E-J 17

E-J 12

2 × 2 ×    

 2 × 2 ×   

 4 ×  2 ×  

    2 × 

     2 ×

     

     

     

     

     

     

     

t 12.11

t 12.11

t 12.12

t 12.12

t 12.13

t 12.15

Hinge
joints

Sliding
joints

Summary: Joints

Crossover
joints

Parallel
joints

Pipe
extension



with bore Ø4.2 for locking screw

(drilling screw DIN 7504 4.2 × 13)





12.07

21.12

E-9E-8 H-180 E-18 H-24E-12 E-17

        2 ×

        2 ×

        2 ×

        1 ×

        1 ×

2 ×        1 ×

 2 ×       1 ×

  2 ×      1 ×

   2 ×    1 × 1 ×

    2 ×   1 × 1 ×

     2 ×  2 × 1 ×

      2 × 1 × 2 ×

2

Summary: Joints



12.08

21.121

Ø4.2*

33

65

33

65

65

65

33

Ø4.2*

Ø4.2*

E-2E-3

33

65

65
Ø4.2*

Ø4.2*

33

65

65

Ø4.2*

Ø4.2*

E-2
E-4

65

65











Joints

Description  Weight Article No.
E-J 1 Joint, complete  149 g 21.121.01.ä

Single parts Pcs.  
Half shell E-1 2 70 g 21.121.01A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 1C Joint, complete  129 g 21.121.02.ä

Single parts Pcs.  
Half shell E-1C 2 60 g 21.121.02A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 2 Joint, complete  239 g 21.121.03.ä

Single parts Pcs.  
Half shell E-2 1 96 g 21.121.03A.ä

Half shell E-3 1 125 g 21.121.03B.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

Standard joints

E-J 3

E-J 1

E-J 4

E-J 1C

E-J 2

Description  Weight Article No.
E-J 4 Joint, complete  238 g 21.121.04.ä

Single parts Pcs.  
Half shell E-4 2 110 g 21.121.04A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 3 Joint, complete  329 g 21.121.05.ä

Single parts Pcs.  
Half shell E-2 2 96 g 21.121.03A.ä

Half shell E-4 1 110 g 21.121.04A.ä

Connector screw M 6 × 25 3 7 g 0.63.0912.06025.ä

Connector nut M 6 3 2 g 21.99.61.A06.ä

Technical data
material: steel

 with bore Ø4.2 for locking screw

 (drilling screw DIN 7504 4.2 × 13 t 12.15)











Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.09

21.121

33

65 65

Ø4.2*

36

65

33

65



Standard joints

Joints

Standard joints
overlapping joint

Description  Weight Article No.
E-J 1L Joint, complete  141 g 21.121.11.ä

Single parts Pcs.  
Half shell E-1L 2 66 g 21.121.11A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 4L Joint, complete  238 g 21.121.14.ä

Single parts Pcs.  
Half shell E-4L 2 110 g 21.121.14A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

E-J 1L

E-J 4L

E-J 5 Description  Weight Article No.
E-J 5 Joint, complete  420 g 21.121.06.ä

Single parts Pcs.  
Half shell E-2 4 96 g 21.121.03A.ä

Connector screw M 6 × 25 4 7 g 0.63.0912.06025.ä

Connector nut M 6 4 2 g 21.99.61.A06.ä

Technical data
material: steel

 with bore Ø4.2 for locking screw

 (drilling screw DIN 7504 4.2 × 13 t 12.15)



Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.10

21.121

E-J 110

E-J 160

E-J 13

E-J 45

90°

110°

160°

45°

45°

64
.5

33

11
0°

64
.5

33

16
0

33

64
.5

Ø4.2*

Ø4.2*

33

45°

33

E-13A

E-13B

Joints

Angle joints

Description  Weight Article No.
E-J 090 Joint, complete  232 g 21.121.21.090.ä

Single parts Pcs.  
Half shell E-090 2 107 g 21.121.21.090A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

E-J 090

Description  Weight Article No.
E-J 110 Joint, complete  232 g 21.121.21.110.ä

Single parts Pcs.  
Half shell E-110 2 107 g 21.121.21.110A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 160 Joint, complete  232 g 21.121.21.160.ä

Single parts Pcs.  
Half shell E-160 2 107 g 21.121.21.160A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 13 Joint, complete  155 g 21.121.22.ä

Single parts Pcs.  
Half shell E-13A 1 73 g 21.121.22A.ä

Half shell E-13B 1 73 g 21.121.22B.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 45 Joint, complete  232 g 21.121.22.045.ä

Single parts Pcs.  
Half shell H-45 2 107 g 21.121.22.045A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä



 with bore Ø4.2 for locking screw

 (drilling screw DIN 7504 4.2 × 13 t 12.15)

Technical data
material: steel

Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.11

E-J 6

E-J 6C

21.121

E-J 7

E-J 7C

E-J 14

33

E-7B

E-7C

Ø4.2*

33

E-7B

E-7A

Ø4.2*

33

E-7B

E-14

Ø4.2*

Ø4.2*

Description  Weight Article No.
E-J 6 Joint, complete  109 g 21.121.31.ä

Single parts Pcs.  
Half shell E-6 2 50 g 21.121.31A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 6C Joint, complete  97 g 21.121.32.ä

Single parts Pcs.  
Half shell E-6C 2 44 g 21.121.32A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Crossover joints

Joints

Description  Weight Article No.
E-J 7 Joint, complete  234 g 21.121.23.ä

Single parts Pcs.  
Half shell E-7A 2 48 g 21.121.23A.ä

Half shell E-7B 2 60 g 21.121.23B.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 7C Joint, complete  281 g 21.121.25.ä

Single parts Pcs.  
Half shell E-7C 2 67 g 21.121.25A.ä

Half shell E-7B 2 60 g 21.121.23B.ä

Connector screw M 6 × 25 3 7 g 0.63.0912.06025.ä

Connector nut M 6 3 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 14 Joint, complete  394 g 21.121.24.ä

Single parts Pcs.  
Half shell E-14 2 59 g 21.121.24A.ä

Half shell E-7B 4 60 g 21.121.23B.ä

Connector screw M 6 × 25 4 7 g 0.63.0912.06025.ä

Connector nut M 6 4 2 g 21.99.61.A06.ä

Hinge joints







 with bore Ø4.2 for locking screw

 (drilling screw DIN 7504 4.2 × 13 t 12.15)

Technical data
material: steel

Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.12

21.121

33

65

67
33

40.
5

33

65 E-1

E-20

Ø4.2*

Joints

E-J 8

E-J 9

Parallel joints

Description  Weight Article No.
E-J 8 Joint, complete  121 g 21.121.41.ä

Single parts Pcs.  
Half shell E-8 2 56 g 21.121.41A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Description  Weight Article No.
E-J 9 Joint, complete  289 g 21.121.42.ä

Single parts Pcs.  
Half shell E-9 2 140 g 21.121.42A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Pipe extension

Description  Weight Article No.
E-J 180 Joint, complete  289 g 21.121.50.ä

Single parts Pcs.  
Half shell H-180 2 140 g 21.121.50A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

E-J 180

Description  Weight Article No.
E-J 20 Joint, complete  149 g 21.121.81.ä

Single parts Pcs.  
Half shell E-20 1 70 g 21.121.81A.ä

Half shell E-1 1 70 g 21.121.01A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

E-J 20

Flat pipe joint



 with bore Ø4.2 for locking screw

 (drilling screw DIN 7504 4.2 × 13 t 12.15)

Technical data
material: steel

Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.13

21.121

36

65

36
36

36

65

Ø28

33

Joints

Sliding joints

Sliding sleeve

Description  Weight Article No.
E-J 12 Joint, complete  137 g 21.121.71.ä

Single parts Pcs.  
Half shell E-12 2 64 g 21.121.71A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

1 sliding sleeve is required. Please order separately (see below)

Description  Weight Article No.
E-J 17 Joint, complete  135 g 21.121.72.ä

Single parts Pcs.  
Half shell E-17 2 63 g 21.121.72A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

1 sliding sleeve is required. Please order separately (see below)

Description  Weight Article No.
E-J 18 Joint, complete  123 g 21.121.73.ä

Single parts Pcs.  
Half shell E-18 2 57 g 21.121.73A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

2 sliding sleeves are required. Please order separately (see below)

E-J 12

E-J 17

E-J 18

E-J 24 Description  Weight Article No.
E-J 24 Joint, complete  224 g 21.121.74.ä

Single parts Pcs.  
Half shell H-24 2 103 g 21.121.74A.ä

Connector screw M 6 × 25 2 7 g 0.63.0912.06025.ä

Connector nut M 6 2 2 g 21.99.61.A06.ä

1 sliding sleeve is required. Please order separately (see below)

Description  Weight Article No.
Sliding sleeve, black  6 g 21.121.70A.01

Sliding sleeve, black, ESD  6 g 21.121.70A.01E

Sliding sleeve, grey  6 g 21.121.70A.04

Technical data
material: PA

Technical data
material: steel

Comments
Connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä   = ä

 joint, complete, half shell   screw, nut 

 black = 1 black = 1

 nickel plated = 2 silver electroplated = 2

 galvanised = 3 silver electroplated = 2



12.14

21.12A

z

z

z

z

x

x

x

x

y

y

x x

E-J 3

E-J 1

E-J 4

E-J 2

z

x

tightening torque

test results

pull-out force sliding force

tightening screw

Joints: Load values

 wall thickness of pipe tightening max. load of joint
 steel, ABS coated V4A torque  E-J 1   E-J 2, E-J 3, E-J 4

    x  z x y z

 [mm] [mm] [Nm] [kg]  [kg] [kg] [kg] [kg]

 0.7  14 120 180 60 60 180

 1.0       

 2.0       

  0.7 8 60 70 30 30 70

  1.2 10     

  



12.15

21.12A

Ø4.2

Joints: Locking screw

Half shells with
bore for locking screw

Description Weight Article No.
Drilling screw  DIN 7504 M-H lens head PH with pressed washer 

M4.2×13, black 2 g 0.63.7504.4.2x131

M4.2×13, silver electroplated 2 g 0.63.7504.4.2x132

M4.2×19, black 3 g 0.63.7504.4.2x191

M4.2×19, silver electroplated 3 g 0.63.7504.4.2x192

Apllication
• Increased load-bearing capacity against   

 pull-out and sliding forces

• ESD connection

Locking screw
drilling screw  DIN 7504 4.2 × 13/19

Short Description Article No.
description  

 E-1 Half shell E-1 21.121.01A.ä

 E-2 Half shell E-2 21.121.02A.ä

 E-3 Half shell E-3 21.121.03A.ä

 E-4 Half shell E-4 21.121.04A.ä

 E-090 Half shell E-090 21.121.21.090A.ä

 E-7B Half shell E-7B 21.121.23B.ä

surface = ä

black = 1

 nickel plated = 2

 galvanised = 3

pipe 1 pipe 2

locking

screw

joint

pipe 1 pipe 2

locking screw joint

pipe 1, pipe 2  joint 
 black nickel plated galvanised

steel, ABS - - -
steel, ABS, ESD -
stainless steel -
aluminium - - -

ESD connection

ESD connections can be made by using steel, ABS, ESD or stainless steel 

pipes in combination with nickel-plated or galvanised joints.



12.16



12.17

21.12

PS-A PS-B

2

Summary: Connection elements

Cross connector t 12.18

Panel holder t 12.19

21.12 Connection elements

Pipe extensions t 12.18

Slide pipe joints t 12.19

Product group

type A type B

with stop union with offset Slide pipe bridge, 

square

Slide pipe bridge, 

rounded



12.18

Ø5

55

21.121

Ø5

55









Description Weight Article No.
Cross connector PS-A, black 110 g 21.121.33A.1

Cross connector PS-A, galvanised 110 g 21.121.33A.2

Description Weight Article No.
Cross connector PS-B, black 97 g 21.121.34A.1

Cross connector PS-B, galvanised 97 g 21.121.34A.2

Cross connector

Pipe extensions

Connection elements

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

Description Weight Article No.
Pipe extension for ABS coated pipes 46 g 21.121.51.2

Description Weight Article No.
Pipe extension for stainless steel pipes 50 g 21.121.52.2

Application 
for simple connections

for strong connections

t 12.23, MayConnect

Technical data 
material: steel

Technical data 
material: steel   

surface: galvanised



12.19

21.121













2

Connection elements

Description Weight Article No.
Panel holder, type A, black 106 g 21.121.61.1

Panel holder, type A, galvanised 106 g 21.121.61.2

Description Weight Article No.
Panel holder, type B, black 71 g 21.121.62.1

Panel holder, type B, galvanised 71 g 21.121.62.2

Panel holder

type B

type A

Description Weight Article No.
Slide pipe joint 115 g 21.121.91.2

Description Weight Article No.
Slide pipe joint with stop 140 g 21.121.92.2

Slide pipe joint

Slide pipe joint 
with stop

Technical data 
material: steel   

surface: galvanised

Technical data 
material: steel   

surface: galvanised

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



12.20

21.121
64

50

28









Connection elements

Description Weight Article No.
Slide pipe joint union 113 g 21.121.93.2

Slide pipe joint union Technical data 
material: steel   

surface: galvanised

Description Weight Article No.
Slide pipe joint with offset 126 g 21.121.94.2

Description Weight Article No.
Slide pipe bridge, rounded 235 g 21.121.96.2

Description Weight Article No.
Slide pipe bridge, square 235 g 21.121.95.2

Slide pipe joint
with offset

Slide pipe bridge 
rounded

Slide pipe bridge
square

Technical data 
material: steel   

surface: galvanised

Technical data 
material: steel   

surface: galvanised

Technical data 
material: steel   

surface: galvanised

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



12.21

21.M

B

B

B

B

B

D

D

D

D

D

R

R

R N

A

A

A

A

A

+

+

+

+

+

2

MayConnect: Pipe connectors, inside

Product group

21.M MayConnect: Pipe connectors, inside

Ø28 Pipe  Ø28 Pipe

Ø28 Pipe  Profi le (with slot)

Ø28 Pipe  Pipe profi le Ø28 (with slot)

Ø28 Pipe  Panel element

A = Anchor,   B = Cross bushing,   D = Connector sleeve,   R = Intermediary,   N = Rivet nut 

 Connection Connector

rivet nut

Patent pending



12.22

21.M

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. M ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä - ä ä ä P ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. M ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä A ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä - ä ä ä P ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. M ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä R ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä - ä ä P ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. M ä ä ä ä ä ä ä ä ä ä ä

21. ä B ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä P ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. M ä ä ä ä ä ä ä ä ä ä

21. ä D ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä ä ä

21. ä ä ä ä ä ä ä ä ä P ä

MayConnect 
Numerical key for articles

MayTec Pipe connector

Connector sleeve

Intermediary

Anchor

Cross bushing

Key

MayTec - Connector

Pipe 1: outside-Ø 2)

 -"- material 3)

 -"- wall thickness 4)

Pipe 2: outside-Ø 6)

Connection type 7)

Anchor type 9)

Connection variant 10)

Angle

Special quality 11)

Packing unit 12)

Key

MayTec - Connector

Module 1)

Pipe 1: outside-Ø 2)

 -"-  material 3)

 -"- wall thickness 4)

Connection type 7)

Connector sleeve: material 3)

Packing unit 12)

Key

MayTec - Connector

Module 1)

Pipe 1: outside-Ø 2)

 -"- material 3)

 -"- wall thickness 4)

 -"-  colour 5)

Pipe 2: outside-Ø 6) 

Connection type 7)

Angle

Packing unit 12)

Key

MayTec - Connector

Module 1)

Shaft-Ø 8)

Pipe 2: outside-Ø 6) 

Connection type 7)

Anchor type 9)

Connection variant 10)

Angle

Special quality 11)

Packing unit 12)

Key

MayTec - Connector

Module 1)

Shaft-Ø 3)

Pipe 1: outside-Ø 2)

 -"-  material 3)

 -"- wall thickness 4)

Special quality 11

Packing unit 12)

1) Module
 A = Anchor

 B = Cross bushing

 D = Connector sleeve

 R = Intermediary

2) Pipe 1: outside-Ø  

 28 = 28 mm

3) Pipe 1 / Connector sleeve: material 
 A = Aluminium

 P = PA

 S = Steel, ABS coated

 V = Stainless steel

4) Pipe: wall thickness  

 07 = 0.7 mm

 10 = 1.0 mm

 12 = 1.2 mm

 15 = 1.5 mm

 20 = 2.0 mm

5) Pipe 1: colour  
 01 = black

 02 = white

 03 = ivory

 04 = dark grey

 05 = light grey

 06 = dark blue

 07 = light blue

 08 = green

 09 = red

 10 = yellow

6) Pipe 2: outside-Ø / slot  
 20 = 20 mm

 28 = 28 mm

 30 = 30 mm

 40 = 40 mm

 48 = 48 mm

 F = F-slot

 E = E-slot

7) Connection type   
 T = Standard

 K = Oblique-hinge

 B = Oblique-bent anchor

 G = Miter-hinge

 P = Miter-bent anchor

 V = Extension

 S = Screw-type  

 U = Universal

8) Shaft-Ø    
 12 = 12 mm

9) Anchor type   
 1 = Length 1 (34 mm)

 2 = Length 2 (35 mm)

10) Connection variant   
 0 = Universal / neutral

 1 = Standard 0°

 2 = Standard 90°

11) Special quality   
 E = Ground

 V = Stainless (VA)

 C = Ground, stainless (VA)

12) Packing unit   
 1 = PU 1 = 10 pcs  

 2 = PU 2 = 100 pcs  

 3 = PU 3 = 1,000 pcs 

   



12.23

Ø1
5

33

19

45°Ø1
5

33

0-
45°

33

33

Ø15

Ø1
5

90-180°

15

8.2

Ø14

A

12

8.2

A

33

Ø15 Ø28

14(19)

21.M

A
A

2

MayConnect 
Connection possibilities for Ø 28 pipe  Ø 28 pipe

Connection

Standard

0°

0°

0°

90°

90°

90°

Extension

Oblique

Miter

with intermediaryw/o intermediary
Pipe 2

Machining

Machining

Pipe 1

pipe 1

pipe 2

pipe 1 + pipe 2

pipe 1 + pipe 2



12.24

 21.M28V1228T11  V

 21.M28A2028T11  V

  21.M28S1028T21 

  21.M28S2028T21

 21.M28V1228T12  V

 21.M28A2028T12  V

  21.M28S1028T22 

  21.M28S2028T22

 21.M28V1228K11  V

 21.M28A2028K11  V

  21.M28S1028K21

  21.M28S2028K21

 21.M28V1228K12  V

 21.M28A2028K12  V

  21.M28S1028K22

  21.M28S2028K22

 21.M28V1228G11  V

 21.M28A2028G11  V

 21.M28S1028G11  

 21.M28S2028G11  

 21.M28V1228G12  V

 21.M28A2028G12  V

 21.M28S1028G12  

 21.M28S2028G12  

 21.M28V1228V11  V

 21.M28A2028V11  V

 21.M28S1028V11  

 21.M28S2028V11  

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12VA

 21.MD28A20VA

 21.MD28S10VA

 21.MD28S20VA

21.M

 •

 •

 •

 •

 •

 •

 •

 •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

  •

MayConnect: Pipe connector for Ø 28 pipe  Ø 28 pipe

Standard

90°

Oblique
-hinge l + r

E = Ground connector

VA = Stainless steel 1.4305

Oblique 90°
-hinge

Miter
-hinge l + r

Miter 90°
-hinge l + r

Extension

PA = PA

AL = Aluminium

2 pieces 

required!

2 pieces 

required!

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

 Connection w/o intermediary  Connector Connector sleeve

     Article No. Article No.

  Wall thickness steel  VA

  Pipe 1 standard E   PA AL



12.25

 21.MR28V1228T

 21.MR28A2028T

 21.MR28S10ää28T

 21.MR28S20ää28T

 21.MR28V1228T

 21.MR28A2028T

 21.MR28S10ää28T

 21.MR28S20ää28T

 21.MR28V1228K-45

 21.MR28A2028K-45

 21.MR28S10ää28K-45

 21.MR28S20ää28K-45

 21.MR28V1228K-45

 21.MR28A2028K-45

 21.MR28S10ää28K-45

 21.MR28S20ää28K-45

21.M

2

MayConnect: Pipe connector for Ø 28 pipe  Ø 28 pipe

/ää = Angle

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

 Connection with intermediary Intermediary

     Article No.

  Wall thickness  

  Pipe 1

ää = Colour

01 = black

02 = white

03 = ivory

04 = dark grey

05 = light grey

06 = dark blue

07 = light blue

08 = green

09 = red

10 = yellow



12.26

 21.M28V1228T11  V

 21.M28A2028T11  V

  21.M28S1028T11  V

  21.M28S2028T11  V

 21.M28V1228T12  V

 21.M28A2028T12  V

  21.M28S1028T12  V

  21.M28S2028T12  V

 21.M28V1228K11  V

 21.M28A2028K11  V

  21.M28S1028K11  V

  21.M28S2028K11  V

 21.M28V1228K12  V

 21.M28A2028K12  V

  21.M28S1028K12  V

  21.M28S2028K12  V

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

21.M

 •

 •

 •

 •

 •

 •

 •

 •

  •

  •

  •

  •

  •

  •

  •

  •

MayConnect: Pipe connector for Ø 28 pipe  pipe profi le Ø 28

Standard

90°

Oblique
-hinge l + r

E = Ground connector

VA = Stainless steel 1.4305

Oblique 90°
-hinge

PA = PA

AL = Aluminium

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

 Connection w/o intermediary  Connector Connector sleeve

     Article No. Article No.

  Wall thickness steel  VA

  Pipe 1 standard E   PA AL



12.27

 21.MR28V1228T

 21.MR28A2028T

 21.MR28S10ää28T

 21.MR28S20ää28T

 21.MR28V1228T

 21.MR28A2028T

 21.MR28S10ää28T

 21.MR28S20ää28T

 21.MR28V1228K-45

 21.MR28A2028K-45

 21.MR28S10ää28K-45

 21.MR28S20ää28K-45

 21.MR28V1228K-45

 21.MR28A2028K-45

 21.MR28S10ää28K-45

 21.MR28S20ää28K-45

21.M

2

MayConnect: Pipe connector for Ø 28 pipe  pipe profi le Ø 28

/ää = Angle

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

 Connection with intermediary Intermediary

     Article No.

  Wall thickness  

  Pipe 1

ää = Colour

01 = black

02 = white

03 = ivory

04 = dark grey

05 = light grey

06 = dark blue

07 = light blue

08 = green

09 = red

10 = yellow



12.28

 21.M28V12FU11  V

 21.M28A20FU11  V

 21.M28S10FU11 

 21.M28S20FU11

 21.M28V12FT11  V

 21.M28A20FT11  V

 21.M28S10FT11 

 21.M28S20FT11

 21.M28V12FT12  V

 21.M28A20FT12  V

 21.M28S10FT12 

 21.M28S20FT12

 21.M28V12FK11  V

 21.M28A20FK11  V

 21.M28S10FK11 

 21.M28S20FK11

 21.M28V12FK12  V

 21.M28A20FK12  V

 21.M28S10FK12 

 21.M28S20FK12

 21.M28V12EU11  V

 21.M28A20EU11  V

 21.M28S10EU11 

 21.M28S20EU11

 21.M28V12ET11  V

 21.M28A20ET11  V

 21.M28S10ET11 

 21.M28S20ET11

 21.M28V12ET12  V

 21.M28A20ET12  V

 21.M28S10ET12 

 21.M28S20ET12

 21.M28V12EK11  V

 21.M28A20EK11  V

 21.M28S10EK11 

 21.M28S20EK11

 21.M28V12EK12  V

 21.M28A20EK12  V

 21.M28S10EK12 

 21.M28S20EK12

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

  21.MD28V12KA

 21.MD28A20KA

 21.MD28S10KA

 21.MD28S20KA

21.M

 •

 •

 •

 •

 •

 •

 •

 •

 •

 •

 •

 •

  •

  •

  •

  •

  •

  •

  •

  •

Universal

Standard

90°

Oblique
-hinge l + r

E = Ground connector

VA = Stainless steel 1.4305

Oblique 90°
-hinge

MayConnect: Pipe connector for Ø 28 pipe  profi le

PA = PA

AL = Aluminium

 Connection w/o intermediary  Connector Connector sleeve

     Article No. for connector with Article No.

    F-head E-head

  Wall thickness steel  VA steel  VA

  Pipe 1 standard E  standard E   PA AL

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0



12.29

 21.M28V12S11  V

 21.M28A20S11  V

 21.M28S10S11 

 21.M28S20S11

  21.MD28V12TP

 21.MD28A20TP

 21.MD28S10TP

 21.MD28S20TP

21.M

 •

 •

 •

 • 2

Standard

E = Ground connector

VA = Stainless steel 1.4305

MayConnect: Pipe connector for Ø 28 pipe  panel element

PA = PA

AL = Aluminium

 Connection w/o intermediary  Connector Distanz-Buchse

     Article No. Article No.

     

  Wall thickness steel  VA 

  Pipe 1 standard E     PA AL

Stainless steel 1.2

Aluminium 2.0

ABS coated 1.0

   2.0



12.30

21.M28V1228T11  V 21.M28A2028T11  V

    

21.M28V1228T12  V 21.M28A2028T12  V

     

21.M28V1228K11  V 21.M28A2028K11  V

     

21.M28V1228K12  V 21.M28A2028K12  V

     

21.M28V1228G11  V 21.M28A2028G11  V

     

21.M28V1228G12  V 21.M28A2028G12  V

     

21.M28V1228V11  V 21.M28A2028V11  V

  21.MB1228V12 V 21.MB1228A20 V

21.MMayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

 Cross bushing, VA

 Pipe connector for Ø 28 pipe  Ø 28 pipe Connectors, complete

   Stainless steel Aluminium 

   1.2 2.0

    steel  VA steel  VA 

    standard E  standard E

Standard 

 

 90° 

 

Oblique -hinge l+r

 

 90° -hinge

 

Miter -hinge l+r

 90° -hinge l+r

Extension



12.31

 21.MA1228T11  V

 21.MA1228T21  

 21.MA1228T12  V

 21.MA1228T22  

 21.MA1228K11  V

 21.MA1228K21  

 21.MA1228K12  V

 21.MA1228K22  

 1.21.A1G1  V

 

 1.21.A1G2  V

 

 1.21.A1V0  V

     

21.M28S1028T21   21.M28S2028T21  

    

21.M28S1028T22   21.M28S2028T22  

     

21.M28S1028K21   21.M28S2028K21  

     

21.M28S1028K22   21.M28S2028K22  

21.M28S1028G11   21.M28S2028G11  

     

21.M28S1028G12   21.M28S2028G12  

     

21.M28S1028V11   21.M28S2028V11  

  21.MB1228S10 V 21.MB1228S20 V

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 2

 1 2

 1 2

21.M

2

MayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

Single parts

Cross

bushing

Base with spring

Base with 

setscrew

Anchor

  Cross bushing, VA

 

 Steel, ABS coated 

 1.0 2.0

 steel  VA steel  VA 

 standard E  standard E 

 Single parts

 Anchor Piece

 

 steel  VA 

 standard E



12.32

21.M28V1228T11  V 21.M28A2028T11  V

    

21.M28V1228T12  V 21.M28A2028T12  V

     

21.M28V1228K11  V 21.M28A2028K11  V

     

21.M28V1228K12  V 21.M28A2028K12  V

  21.MB1228V12 V 21.MB1228A20 V

21.MMayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

 Cross bushing, VA

 Pipe connector for Ø 28 pipe  pipe profi le Ø 28 Connectors, complete

   Stainless steel Aluminium 

   1.2 2.0

    steel  VA steel  VA 

    standard E  standard E

Standard 

 

 90° 

 

Oblique -hinge l+r

 

 90° -hinge

 



12.33

 21.MA1228T11  V

 21.MA1228T12  V

 21.MA1228K11  V

 21.MA1228K12  V

21.M28S1028T11  V 21.M28S2028T11  V

     

21.M28S1028T12  V 21.M28S2028T12  V

     

21.M28S1028K11  V 21.M28S2028K11  V

     

21.M28S1028K12  V 21.M28S2028K12  V

    

  21.MB1228S10 V 21.MB1228S20 V

 1 1

  

 1 1

 1 1

 1 1

  

21.M

2

MayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

Single parts

Cross

bushing

Base with spring

Base with 

setscrew

Anchor

  Cross bushing, VA

 

 Steel, ABS coated 

 1.0 2.0

 steel  VA steel  VA 

 standard E  standard E 

 Single parts

 Anchor Piece

 

 steel  VA 

 standard E



12.34

  21.MB1228V12 V 21.MB1228A20 V

21.M

21.M28V12FU11  V 21.M28A20FU11  V

21.M28V12EU11  V 21.M28A20EU11  V

21.M28V12FT11  V 21.M28A20FT11  V

21.M28V12ET11  V 21.M28A20ET11  V

21.M28V12FT12  V 21.M28A20FT12  V

21.M28V12ET12  V 21.M28A20ET12  V

21.M28V12FK11  V 21.M28A20FK11  V

21.M28V12EK11  V 21.M28A20EK11  V

21.M28V12FK12  V 21.M28A20FK12  V

21.M28V12EK12  V 21.M28A20EK12  V

21.M28V12S11  V 21.M28A20S11  V

MayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

 Cross bushing, VA

 Pipe connector for Ø 28 pipe  profi le, panel element Connectors, complete

   Stainless steel Aluminium 

   1.2 2.0

    steel  VA steel  VA 

    standard E  standard E

Universal 

 

Standard 

 

 90° 

 

Oblique -hinge l+r

 

 90° -hinge

 

Screw-type -front sided



12.35

 1.21.A1F0  V

 1.21.A1E0  V

 1.21.A1F1  V

 1.21.A1E1  V

 1.21.A1F2  V

 1.21.A1E2  V

 1.21.A1FK1  V

 1.21.A1EK1  V

 1.21.A1FK2  V

 1.21.A1EK2  V

 1.21.A1SM8/11  V

  21.MB1228S10 V 21.MB1228S20 V

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

 1 1

21.M

21.M28S10FU11   21.M28S20FU11  

21.M28S10EU11   21.M28S20EU11  

21.M28S10FT11   21.M28S20FT11  

21.M28S10ET11   21.M28S20ET11  

21.M28S10FT12   21.M28S20FT12  

21.M28S10ET12   21.M28S20ET12  

21.M28S10FK11   21.M28S20FK11  

21.M28S10EK11   21.M28S20EK11  

21.M28S10FK12   21.M28S20FK12  

21.M28S10EK12   21.M28S20EK12  

21.M28S10S11   21.M28S20S11  

2

MayConnect: Pipe connector components

E = Ground connector, VA = Stainless steel 1.4305

Single parts

Cross

bushing

Base with spring

Base with 

setscrew

Anchor

  Cross bushing, VA

 

 Steel, ABS coated 

 1.0 2.0

 steel  VA steel  VA 

 standard E  standard E 

 Single parts

 Anchor Piece

 

 steel  VA 

 standard E



12.36

21.M

1

2 3

4

4

5

3

5

MayConnect: Assembly of pipe connector

Pipe connector, Standard
with intermediary

insert into pipe 1 

cross bushing 1
connector sleeve 2
anchor 3

then slide

intermediary 4 over

connector sleeve 2

adjust

anchor 3
to a distance of 4 mm 

with set screw 5

insert pipe 1 into pipe 2

a) rotate pipe 1 by 90°

 for cross orientation of

 the anchor head

b) fi x set screw 5

1

2

3

4

pipe 1

pipe 1

pipe 2

a)

b)



13.01

21.13

3

fl ush

Pipe clamps PE Pipe quick lockPipe clamps PE, 

type B

Profi le adaptor 90°Profi le adaptor

Pipe clip

single sided double sidedcenter

Pipe clips PEwide

Screw-on pipe clamps t 13.02

21.13 Mounting accessories

Pipe clamps, pipe clips t 13.04

Adaptors t 13.07

Links, joints t 13.09

Pipe clamps t 13.04

Table top joint Shock absorber Shock absorber 

clamp

Shock absorber t 13.10

Roller track link

Summary: Mounting accessories 

Plate support t 13.07

Profi le adaptor

two piece

Pipe holder

one piece

Plate support, corner

center,

sliding

Product group



13.02

21.13

A

B

33

23.
5

8.
5



Mounting accessories

Screw-on pipe clamp
fl ush

Screw-on pipe clamp

Description Weight Article No.
Screw-on pipe clamp, fl ush 117 g 21.13.00.ä

Single parts Pcs.
Screw-on pipe clamp, fl ush, part A 1 53 g  21.13.00A.ä

Screw-on pipe clamp, fl ush, part B 1 64 g  21.13.00B.ä

Description Weight Article No.
Screw-on pipe clamp 92 g 21.13.01.1

Single parts Pcs.
Screw-on pipe clamp, part A 1 43 g 21.13.01A.ä

Screw-on pipe clamp, part B 1 43 g 21.13.01B.ä

Connector screw M 6 × 10 1 4 g 0.63.6912.06010.ä

Connector nut 1 2 g 21.99.61.A06.ä

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

Technical data
material: steel

Technical data
material: steel

Comments
connector screw and nut only 

with black or silver electroplated 

surface

 Surface single parts = ä    = ä

 pipe clamp, complete / single part   screw, nut 

  black = 1  black = 1

  nickel plated = 2  silver electroplated = 2

  galvanised = 3  silver electroplated = 2

 Surface single parts = ä

 pipe clamp, complete / single part   

  black = 1

  nickel plated = 2

  galvanised = 3



13.03

21.13



Ø5

Ø3.5

33

Ø28

33

3

Screw-on pipe clamp
center

Mounting accessories

Description Weight Article No.
Screw-on pipe clamp, center 104 g 21.13.02.ä

Single parts Pcs.
Screw-on pipe clamp, center, part A 2 50 g 21.13.02A.ä

Cylindric head screw DIN EN ISO 4762, M 3 × 10 2 1 g 0.63.4762.03010.ä

Hexagonal nut DIN 934 – M 3 2 1 g 0.61.D00934.03.ä

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

Screw-on pipe clamp
center, sliding

Description Weight Article No.
Screw-on pipe clamp, center, sliding 122 g 21.13.02G.ä

Single parts Pcs.
Screw-on pipe clamp, center, sliding, part A 2 59 g 21.13.02GA.ä

Cylindric head screw DIN EN ISO 4762, M 3 × 10 2 1 g 0.63.4762.03010.ä

Hexagonal nut DIN 934 – M 3 2 1 g 0.61.D00934.03.ä

1 sliding sleeve is required. Please order separately (see below).

Sliding sleeve

Description Weight Article No.
Sliding sleeve, black  6 g 21.121.70A.01

Sliding sleeve, black, ESD  6 g 21.121.70A.01E

Sliding sleeve, grey  6 g 21.121.70A.04

Technical data
material: PA

Technical data
material: steel

Technical data
material: steel

Comments
screw and nut only with black or 

silver electroplated surface

Comments
screw and nut only with black or 

silver electroplated surface

 Surface single parts = ä    = ä

 pipe clamp, complete / single part   screw, nut 

  black = 1  black = 1

  nickel plated = 2  silver electroplated = 2

  galvanised = 3  silver electroplated = 2

 Surface single parts = ä    = ä

 pipe clamp, complete / single part   screw, nut 

  black = 1  black = 1

  nickel plated = 2  silver electroplated = 2

  galvanised = 3  silver electroplated = 2



13.04

21.13



Mounting accessories

Single sided pipe clamp

Double sided pipe clamp

Pipe clamp
wide

Description Weight Article No.
Single sided pipe clamp, nickel plated 22 g 21.13.03.2

Description Weight Article No.
Double sided pipe clamp, nickel plated 23 g 21.13.04.2

Description Weight Article No.
Pipe clamp, wide, nickel plated 77 g 21.13.05.2

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



13.05

21.13

3

Mounting accessories

Pipe clamps PE

Pipe clamps PE
type B

Pipe clips PE

Description Weight Article No.
Pipe clamp PE, black 14 g 21.13.06.01

Pipe clamp PE, black, ESD 14 g 21.13.06.01E

Description Weight Article No.
Pipe clamp PE, type B, black 16 g 21.13.07.01

Pipe clamp PE, type B, black, ESD 16 g 21.13.07.01E

Description Weight Article No.
Pipe clip PE, black 13 g 21.13.08.01

Pipe clip PE, black, ESD 13 g 21.13.08.01E



13.06

21.13

28
27





Mounting accessories

Pipe quick lock

Pipe clip

Description Weight Article No.
Pipe quick lock, galvanised 125 g 21.13.09.2

Description Weight Article No.
Pipe clip, galvanised 13 g 21.13.10.2

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



13.07

21.13

83 83

67

Ø5

6134

31
Ø4.2





3

Mounting accessories

Profi le adaptor

Profi le adaptor 90°

Description Weight Article No.
Profi le adaptor, galvanised 85 g 21.13.13.2

Description Weight Article No.
Profi le adaptor 90°, galvanised 85 g 21.13.14.2

Plate support, corner

Description Weight Article No.
Plate support, corner, galvanised 275 g 21.13.11.2

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



13.08

21.13
41

50
30

Ø7.5

36

58



Mounting accessories

Description Weight Article No.
Profi le adaptor, two piece, black 123 g 21.13.150.1

Profi le adaptor, two piece, nickel plated 123 g 21.13.150.2

   ä

  black 1

  nickel plated / silver  2Single parts 

Description Pcs. Weight Article No.
Roller track link, part A 2 57 g 21.13.15A.ä

Connector screw M 6 × 25 1 7 g 0.63.0912.06025.ä

Connector nut M 6 1 2 g 21.99.61.A06.ä

Pipe holder
one piece

Profi le adaptor
two piece

Description Weight Article No.
Pipe holder, one piece, galvanised 110 g 21.13.142.2

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



13.09

21.13

3

Roller track link

Table top joint

Mounting accessories

Description Weight Article No.
Roller track link, black 131 g 21.13.15.1

Roller track link, nickel plated 131 g 21.13.15.2

   ä

  black 1

  nickel plated / silver  2

Description Weight Article No.
Table top joint, left, black 116 g 21.13.16L.1

Table top joint, left, nickel plated 116 g 21.13.16L.2

   ä

  black 1

  nickel plated / silver  2

Single parts 

Description Pcs. Weight Article No.
Roller track link, part A 1 57 g 21.13.15A.ä

Roller track link, part B 1 65 g 21.13.15B.ä

Connector screw M 6 × 25 3 7 g 0.63.0912.06025.ä

Connector nut M 6 3 2 g 21.99.61.A06.ä

Single parts 

Description Pcs. Weight Article No.
Table top joint, clamp left 1 70 g 21.13.16A.ä

Screw-on pipe clamp, part B 1 40 g 21.13.01B.ä

Connector screw M 6 × 10 1 4 g 0.63.6912.06010.ä

Connector nut 1 2 g 21.99.61.A06.ä

Description Weight Article No.
Table top joint, right, black 116 g 21.13.16R.1

Table top joint, right, nickel plated 116 g 21.13.16R.2

   ä

  black 1

  nickel plated / silver  2Single parts 

Description Pcs. Weight Article No.
Table top joint, clamp right 1 70 g 21.13.16B.ä

Screw-on pipe clamp, part B 1 40 g 21.13.01B.ä

Connector screw M 6 × 10 1 4 g 0.63.6912.06010.ä

Connector nut 1 2 g 21.99.61.A06.ä



13.10

21.13

218
-365

Ø8

Ø8

Ø18

Shock absorber

Mounting accessories

Description Weight Article No.
Shock absorber clamp, nickel plated 116 g 21.13.17.2

Optional
Cylindric head screw, DIN 6912 - M6×12    5 g 0.63.D06912.06012

Connector nut, silver     2 g 21.99.61.A06.2

Description Weight Article No.
Shock absorber 214 g 21.13.18

Shock absorber clamp

Shock absorber



14.01

21.14

4

End caps Cover caps End plugs for ABS coated pipesRubber cap for stainless steel 

pipes

Caps, plugs t 14.02 Threaded inserts t 14.04

Summary: Caps, plugs and threaded inserts

Product group

21.14 Caps, plugs and threaded inserts



14.02

21.14

1916

Ø28

17 20

Ø28

Ø34

Ø28

4234

Ø33

End caps
for all pipes

Cover caps

Rubber cap

Description Weight Article No.
End cap, PE, black 3 g 21.14.01.01

End cap, PE, black, ESD 3 g 21.14.01.01E

End cap, PE, ivory 3 g 21.14.01.03

End cap, PE, grey 3 g 21.14.01.04

Description Weight Article No.
Cover cap, PE, black 7 g 21.14.02.01

Cover cap, PE, black, ESD 7 g 21.14.02.01E

Cover cap, PE, ivory 7 g 21.14.02.03

Cover cap, PE, grey 7 g 21.14.02.04

Description Weight Article No.
Rubber cap, black 25 g 21.14.02.RUB

Caps, plugs and threaded inserts



14.03

21.14
11

Ø28

D

11

Ø28

D

4

End plugs 
for stainless steel pipes

Description D wall thickness Weight Article No.
End plug for stainless steel pipes 0.7 0.7 7 g 21.14.04.07

End plug for stainless steel pipes 0.7 1.2 7 g 21.14.04.12

Caps, plugs and threaded inserts

Technical data 
material: stainless steel

End plugs 
for ABS coated pipes

Description D wall thickness Weight Article No.
End plug for ABS coated pipes 0.7  0.7 7 g 21.14.03.07

End plug for ABS coated pipes 1.0  1.0 7 g 21.14.03.10

Technical data 
material: steel



14.04

21.14
30

Ø28

5

30

Ø28

5

Threaded inserts
for ABS coated pipes

Threaded inserts 
for stainless steel pipes

Description wall thickness Weight Article No.
Threaded insert M12 for ABS coated pipes 0.7 83 g 21.14.05.07.1

Threaded insert 1/2“ for ABS coated pipes 0.7 82 g 21.14.05.07.2

Threaded insert 5/8“ for ABS coated pipes 0.7 68 g 21.14.05.07.3

Threaded insert M12 for ABS coated pipes 1.0 73 g 21.14.05.10.1

Threaded insert 1/2“ for ABS coated pipes 1.0 73 g 21.14.05.10.2

Threaded insert 5/8“ for ABS coated pipes 1.0 57 g 21.14.05.10.3

Threaded insert M12 for ABS coated pipes 2.0 64 g 21.14.05.20.1

Threaded insert 1/2“ for ABS coated pipes 2.0 62 g 21.14.05.20.2 

Threaded insert 5/8“ for ABS coated pipes 2.0 46 g 21.14.05.20.3

Description wall thickness Weight Article No.
Threaded insert M12 for stainless steel pipes 0.7 99 g 21.14.06.07.1

Threaded insert 1/2“ for stainless steel pipes 0.7 98 g 21.14.06.07.2

Threaded insert 5/8“ for stainless steel pipes 0.7 75 g 21.14.06.07.3

Threaded insert M12 for stainless steel pipes 1.2 85 g 21.14.06.12.1

Threaded insert 1/2“ for stainless steel pipes 1.2 80 g 21.14.06.12.2

Threaded insert 5/8“ for stainless steel pipes 1.2 71 g 21.14.06.12.3

Caps, plugs and threaded inserts

Technical data 
material: steel, yellow galvanised

Technical data 
material: stainless steel



15.01

21.15

5

round square with rubber padfl at fl at

Slip on feet t 15.02

21.15 Feet, castors and footplates

Threaded feet t 15.03

Fixed castors Swivel castors Swivel castors

lockable

Castors, Blickle t 15.09

Summary: Feet, castors and footplates

Swivel castors

Swivel castors Swivel castors

Swivel castorsFixed castorsSwivel castors

lockable

Swivel castors

lockable

Swivel castors

lockable

Swivel castors

lockable

Series 2A t 15.15

Series 2C t 15.15

Series 2B t 15.15

Series 2D t 15.15

Castors, Tente t 15.14

Locking foot

for castors

Clamping bushes Castor mounting

sets

Castors t 15.21

corner left

narrow

corner

corner right center with post

Spacer plate

Screw-on element for

castors with bolt hole

Footplates for pipes t 15.27

Footplates for pipes t 15.25

Forklift guides t 15.29

Product group



15.02

21.15







64

90

Ø28
32 66

O90

Ø28

O90 34

O60

Ø9

Ø28

Feet and castors

Slip on feet

square

fl at

Description  Weight Article No.
Slip on foot, round  250 g 21.15.01.2

Description  Weight Article No.
Slip on foot, square  295 g 21.15.02.2

Description  Weight Article No.
Slip on foot, fl at  195 g 21.15.03.2

round

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



15.03

21.15

Ø38

9

Ø28

5

Feet and castors

Threaded feet

Description  G × L Weight Article No.
Threaded foot 32 M 12 × 50 75 g 21.15.04.032050.1

Threaded foot 32 M 12 × 82 95 g 21.15.04.032082.1

Rubber pad for threaded foot 32    8 g 21.15.04.032PAD

Description  G × L Weight Article No.
Threaded foot 49 M 12 × 50 92 g 21.15.04.049050.1

Threaded foot 49 M 12 × 82 115 g 21.15.04.049082.1

Description  G × L Weight Article No.
Threaded foot 48 M 12 × 100 190 g 21.15.04.048100.1

Technical data 
material: steel, galvanised

Technical data 
material: stainless steel

Technical data 
material: steel, galvanised



15.04

21.15Feet and castors

Threaded foot 
fl at

Description  G × L Weight Article No.
Threaded foot, fl at M 12 × 50 200 g 21.15.04.090050.1

Threaded feet 
with rubber pad

Description  G × L Weight Article No.
Threaded foot 50 with rubber pad M 12 × 50 150 g 21.15.04.050050.1

Threaded foot 50 with rubber pad M 12 × 82 172 g 21.15.04.050082.1

Technical data 
material: steel, galvanised

Technical data 
material: steel, galvanised

  Load capacity [KN]

Article No. Description 1 piece 4 pieces

21.15.01.2 Slip on foot, round 15 20

21.15.02.2 Slip on foot, square 15 20

21.15.03.2 Slip on foot, fl at 15 20

21.15.04.032050.1 Threaded foot 32 7 11

21.15.04.032082.1 Threaded foot 32 7 11

21.15.04.048100.1 Threaded foot 48 8 13

21.15.04.049050.1 Threaded foot 49 8 13

21.15.04.049082.1 Threaded foot 49 8 13

21.15.04.050050.1 Threaded foot 50 with rubber pad 8 13

21.15.04.050082.1 Threaded foot 50 with rubber pad 8 13

21.15.04.090050.1 Threaded foot, fl at 8 12



15.05

21.15 (1.45)

5

Fundamental - Requirements
What requirements do you have for your application? It is important aspect to know what you require from your castors and wheels. 

Get to know the most important characteristics, defi ne your requirements and fi nd the right product for your needs.

Wheel diameter

The larger the diameter, the easier

obstacles are overcome.

Temperature resistance

Castors and wheels for applications from 

-40°C to +80°C are available.

Electrically conductive

To avoid electrostatic discharge, we offer

castors and wheels in electrically conductive

design.

Corrosion resistance

For castors and wheels used in humid

environments or in contact with aggressive

substances, TENTE offers versions with

durable materials and surfaces.

Load capacity

The load capacity per roller is determined by 

the sum of the weight of the transport device 

and the maximum payload divided by 3:

Total weight

3

Bearing
Bearings Standard bearings, robust, moisture-resistant

Roller bearing Standard bearings, robust, smooth running

Precision ball bearing High performance bearings, for all areas

Floor contact
Soft fl oors Harder wheels recommended

Hard fl oors Softer wheels recommended

Tread
Soft materials Lower driving noise, stronger damping,   

 higher protection of the cargo

Hard materials Increased driving noise, lower damping,   

 less protection of the cargo

Wear resistance
Flat ground Lower rolling resistance, abrasion and wear

Uneven ground Higher rolling resistance, abrasion and wear

Height

The height of a castor is described as the 

total height when installed.

Mounting
Bolt hole Simple central screw connection

Plate Plate with multiple screw connection

Brake 
Wheel lock Prevents the rotation of the wheel

Directional lock Fixes the running direction of the movement

Total lock Fixes the rotation and pivotal movement of the wheel

Central braking Simultaneously fi xes multiple castors

Castors



15.06

21.15Racks: Application examples

Withdrawal side steerable
Loading side steerable, brakeable

Rack with 2 castor sets

2 × F L 

2 × F R

D P = Spacer plate t 15.24

F L = Foot plate por pipes, corner left t 15.26

F M = Foot plate por pipes, center with post t 15.29

F R =  Foot plate por pipes, corner right t 15.27

R B = Castor mounting set 126 t 15.23

F R

F R

F L

F L

Abbreviations / Descriptions
for components used



15.07

21.15

6
6

6 6

5

Racks: Application examples

Rack with 3 castor sets

Withdrawal side steerable
Middle castors fi xed
Loading side steerable, brakeable

2 × F L

2 × F R

2 × F M

2 × F L

2 × F R

2 × R B

2 × D P - suitable for castors with plate:

 Series 1A: Ø100, 125

 Series 2B: Ø100, 125

 Series 2C: Ø100, 125, 150

 Series 2D: Ø100, 125

F R

F R

F R

F R

F L

F L

F L

F L

R B + D P

F M

R B + D P

F M

F M

F M + D P

2 × F L

2 × F R

2 × F M

2 × D P - suitable for castors with plate:

 Series 1A: Ø100, 125

 Series 2B: Ø100, 125

 Series 2C: Ø100, 125, 150

 Series 2D: Ø100, 125

R B + D P



15.08

21.15 (1.45)Castors



15.09

21.15 (1.45)

5

Series 1A 

Application High-quality steel

 castor for light

 transport equipment

 

Type 

 Fixed castor f

 Swivel castor f

 Swivel castor lockable f

Fastening 

 Bolt hole f 

 Fitting plate f

Housing Sheet steel, bright zinc

 plated, blue passivated

  

 

   

    

Bearing Ball bearing 

Thread guard from wheel Ø75 mm

Wheel  

 Wheel body Polyamide 

 Tread high-quality solid

  rubber, grey,

  non-marking

Wheel (ESD)  

 Wheel body Polypropylene

    

 Tread high-quality solid 

  rubber, black

Advantages  

Roll performance f f f á á

Movement noise f f f f á

Attrition f f f f á

Corrosion resistance f f f á á

Castors - Blickle

1 . ä ä . ä ä ä ä ä ä

1 . ä ä . ä ä ä ä ä ä

1 . 4 5 . ä ä ä ä ä ä

1 . ä ä . ä ä ä ä ä ä

1 . ä ä . 1 ä ä ä ä ä

1 . ä ä . 2 ä ä ä ä ä

1 . ä ä . 3 ä ä ä ä ä

1 . ä ä . ä ä ä ä ä ä

1 . ä ä . ä 1 ä ä ä ä

1 . ä ä . ä 2 ä ä ä ä

1 . ä ä . ä ä ä ä ä ä

1 . ä ä . ä ä 0 5 0 ä
1 . ä ä . ä ä 0 7 5 ä
1 . ä ä . ä ä 1 0 0 ä
1 . ä ä . ä ä 1 2 5 ä

1 . ä ä . ä ä ä ä ä ä

1 . ä ä . ä ä ä ä ä E

Key

The Profi le System

Castors

Type of castor:

 Fixed castor

 Swivel castor   

 Swivel castor, lockable

Fastening: Dimensions t 15.12

 Bolt hole   

 Fitting plate

Wheel diameter [mm]: 

 Ø50

 Ø75    

 Ø100    

 Ø125

Conductivity:   

 ESD



15.10

21.15 (1.45)Castors - Blickle

 Fixed castor with bolt hole 1A 50 69 400 130 1.45.11050

 Fixed castor with bolt hole 1A 75 98 550 240 1.45.11075

 Fixed castor with bolt hole, ESD 1A 75 98 550 240 1.45.11075E

 Fixed castor with bolt hole 1A 100 133 800 500 1.45.11100

 Fixed castor with bolt hole, ESD 1A 100 133 800 500 1.45.11100E

 Fixed castor with bolt hole 1A 125 158 1,000 900 1.45.11125

 Swivel castor with bolt hole 1A 50 69 400 180 1.45.21050

 Swivel castor with bolt hole 1A 75 98 550 310 1.45.21075

 Swivel castor with bolt hole, ESD 1A 75 98 550 310 1.45.21075E

 Swivel castor with bolt hole 1A 100 133 800 680 1.45.21100

 Swivel castor with bolt hole, ESD 1A 100 133 800 680 1.45.21100E

 Swivel castor with bolt hole 1a 125 158 1,000 890 1.45.21125

 Swivel castor, lockable with bolt hole 1A 50 69 400 220 1.45.31050

 Swivel castor, lockable with bolt hole 1A 75 98 550 450 1.45.31075

 Swivel castor, lockable with bolt hole, ESD 1A 75 98 550 450 1.45.31075E

 Swivel castor, lockable with bolt hole 1A 100 133 800 840 1.45.31100

 Swivel castor, lockable with bolt hole, ESD 1A 100 133 800 840 1.45.31100E

 Swivel castor, lockable with bolt hole 1A 125 158 1,000 990 1.45.31125

 Fixed castor with fi tting plate 1A 50 71 400 190 1.45.12050

 Fixed castor with fi tting plate 1A 75 100 550 300 1.45.12075

 Fixed castor with fi tting plate, ESD 1A 75 100 550 300 1.45.12075E

 Fixed castor with fi tting plate 1A 100 136 800 610 1.45.12100

 Fixed castor with fi tting plate, ESD 1A 100 136 800 610 1.45.12100E

 Fixed castor with fi tting plate 1A 125 161 1,000 1,010 1.45.12125

 Swivel castor with fi tting plate 1A 50 71 400 230 1.45.22050

 Swivel castor with fi tting plate 1A 75 100 550 360 1.45.22075

 Swivel castor with fi tting plate, ESD 1A 75 100 550 360 1.45.22075E

 Swivel castor with fi tting plate 1A 100 136 800 780 1.45.22100

 Swivel castor with fi tting plate, ESD 1A 100 136 800 780 1.45.22100E

 Swivel castor with fi tting plate 1A 125 161 1,000 990 1.45.22125

 Swivel castor, lockable with fi tting plate 1A 50 71 400 270 1.45.32050

 Swivel castor, lockable with fi tting plate 1A 75 100 550 500 1.45.32075

 Swivel castor, lockable with fi tting plate, ESD 1A 75 100 550 500 1.45.32075E

 Swivel castor, lockable with fi tting plate 1A 100 136 800 940 1.45.32100

 Swivel castor, lockable with fi tting plate, ESD 1A 100 136 800 940 1.45.32100E

 Swivel castor, lockable with fi tting plate 1A 125 161 1,000 1,090 1.45.32125

Blickle Description Series Wheel- Overall Load Weight Article No.
  Ø height capacity
  D a    
  [mm] [mm] [N] [g]



15.11

21.15 (1.45)

d

e

a
D

B

d

e

a

f c

D

B

d

e

a

f c

D

B

e

a

l b

D

h

B=b

e

a

l b
f

D

h

B=b

e

a

l b
f

D

h

B=b

5

Castors - Blickle

 36  11 18     

 44  11 25     

 44  11 25     

 55  13 32     

 55  13 32     

 55  13 32

     

 43 43 11 18 23 96   

 44 43 11 25 29 133   

 44 43 11 25 29 133   

 57 57 13 32 40 182   

 57 57 13 32 40 182   

 57 57 13 32 40 205

   

 43 43 11 18 24 140   

 44 43 11 25 28 147   

 44 43 11 25 28 147   

 57 57 13 32 40 212   

 57 57 13 32 40 212   

 57 57 13 32 40 211

   

 60   18   60 × 60 × 2 48/38 × 48/38 6.2

 60   25   60 × 60 × 2 48/38 × 48/38 6.2

 60   25   60 × 60 × 2 48/38 × 48/38 6.2

 66   32   90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32   90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32   90 × 66 × 3 75/61/50 × 45/51/42 8.5

 60   18 23 96 60 × 60 × 2 48/38 × 48/38 6.2

 60   25 29 133 60 × 60 × 2 48/38 × 48/38 6.2

 60   25 29 133 60 × 60 × 2 48/38 × 48/38 6.2

 66   32 40 180 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32 40 180 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32 40 205 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 60   18 24 140 60 × 60 × 2 48/38 × 48/38 6.2

 60   25 28 147 60 × 60 × 2 48/38 × 48/38 6.2

 60   25 28 147 60 × 60 × 2 48/38 × 48/38 6.2

 66   32 40 212 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32 40 212 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 66   32 40 211 90 × 66 × 3 75/61/50 × 45/51/42 8.5

 Castor Dome- Bolt Wheel Offset Swivel Size Plate hole Plate
 width Ø hole-Ø width  interfer- of plate spacing hole-Ø
 B c d e f ence-Ø l × b × h
 [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

Castor fastening: Dimensions t 15.12



15.12

21.15 (1.45)Castors - Blickle

Castor fastening
Blickle

Series 1A

Bolt hole type

Fitting plate type

 Castor-Ø [mm] 50 / 75 100 / 125



15.13

21.15 (1.45)

5

Castors



15.14

21.15 (1.45)Castors - Tente

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . 4 5 . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . 2 ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä 1 ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä 2 ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä 3 ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä 1 ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä 2 ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä 0 5 0 . ä ä ä ä

1 . ä ä . ä ä ä ä 0 7 5 . ä ä ä ä

1 . ä ä . ä ä ä ä 1 0 0 . ä ä ä ä

1 . ä ä . ä ä ä ä 1 2 5 . ä ä ä ä

1 . ä ä . ä ä ä ä 1 5 0 . ä ä ä ä

1 . ä ä . ä ä ä ä 1 6 0 . ä ä ä ä

1 . ä ä . ä ä ä ä 2 0 0 . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä ä

1 . ä ä . ä ä ä ä ä ä ä . ä ä ä 1
1 . ä ä . ä ä ä ä ä ä ä . ä ä ä 2
1 . ä ä . ä ä ä ä ä ä ä . ä ä ä 3

Key

The Profi le System

Castors

Manufacturer:   

 Tente

Series / letter

Type of castor:

 Fixed castor

 Swivel castor   

 Swivel castor, lockable

Fastening: Dimensions t 15.20

 Bolt hole   

 Fitting plate

Wheel diameter [mm]: 

 Ø50

 Ø75    

 Ø100    

 Ø125

 Ø150

 Ø160

 Ø200

Load capacity [N]

ESD:    

 w/o

 Electrically conductive

 Antistatic



15.15

21.15 (1.45)

5

Series 2A 2B 2C 2D

Application High-quality steel Solid steel castor Design castor with Design castor with

 castor for light for the transport of  with damping excellent running

 transport equipment shock-sensitive goods properties properties for all  

    indoor fl oors

   

Type     

 Fixed castor  f  

 Swivel castor f f f f

 Swivel castor lockable f f f f

Fastening     

 Bolt hole f  f

 Fitting plate  f f f

Housing Sheet steel, bright zinc Sheet steel, bright zinc High-quality plastic, Load-bearing housing  

 plated, blue passivated, plated, blue passivated, swivel bearing with made of high-quality  

 swivel bearing with swivel bearing with double ball race plastic,  

 double ball race double ball race,  precision ball bearing  

  swivel bearing  as swivel bearing  

  protection,    

  wheel axle bolted    

Bearing Precision ball bearing Roller bearing Precision ball bearing Precision ball bearing

Thread guard f  f f

Wheel     

 Wheel body Polypropylene Polyamide Polypropylene Polyamide

 Tread Thermoplastic rubber, non-marking elastic Thermoplastic rubber, Polyurethan  

  non-marking tyre non-marking   

       

Wheel (ESD)     

 Wheel body Polyamide, electrically Stainless steel Polyamide, electrically Polyamide, electrically  

  conductive  conductive conductive

 Tread Injected polyurethane Solid rubber, black Injected polyurethane Injected polyurethane

     

Advantages     

Roll performance f f f á á f f f á á f f f á á f f f f f

Movement noise f f f á á f f f f f f f f f á f f f á á

Attrition f f f f á f f f á á f f f á á f f f f á

Corrosion resistance f f f á á f f f á á f f f f á f f f f á

Castors - Tente



15.16

21.15 (1.45)

 Swivel castor with bolt hole 2A 50 69 400 142 1.45.2A21050.0401

 Swivel castor with bolt hole 2A 75 100 750 252 1.45.2A21075.0751

 Swivel castor with bolt hole 2A 100 135 1,000 584 1.45.2A21100.1001

 Swivel castor with bolt hole, ESD 2A 100 135 1,000 584 1.45.2A21100.1002

 Swivel castor with bolt hole 2A 125 160 1,000 661 1.45.2A21125.1001

 Swivel castor with bolt hole, ESD 2A 125 160 1,000 661 1.45.2A21125.1002

 Swivel castor with bolt hole 2A 150 185 1,000 833 1.45.2A21150.1001

 Swivel castor with bolt hole, ESD 2A 150 185 1,000 833 1.45.2A21150.1002

 Swivel castor with bolt hole 2C 100 137 1,000 429 1.45.2C21100.1001

 Swivel castor with bolt hole, ESD 2C 100 137 1,000 468 1.45.2C21100.1002

 Swivel castor with bolt hole 2C 125 161 1,000 533 1.45.2C21125.1001

 Swivel castor with bolt hole, ESD 2C 125 161 1,000 602 1.45.2C21125.1002

 Swivel castor with bolt hole 2C 150 190 1,000 626 1.45.2C21150.1001

 Swivel castor, lockable with bolt hole 2A 50 69 400 184 1.45.2A31050.0401

 Swivel castor, lockable with bolt hole 2A 75 100 750 297 1.45.2A31075.0751

 Swivel castor, lockable with bolt hole 2A 100 135 1,000 760 1.45.2A31100.1001

 Swivel castor, lockable with bolt hole, ESD 2A 100 135 1,000 760 1.45.2A31100.1002

 Swivel castor, lockable with bolt hole 2A 125 160 1,000 833 1.45.2A31125.1001

 Swivel castor, lockable with bolt hole, ESD 2A 125 160 1,000 833 1.45.2A31125.1002

 Swivel castor, lockable with bolt hole 2A 150 185 1,000 981 1.45.2A31150.1001

 Swivel castor, lockable with bolt hole, ESD 2A 150 185 1,000 981 1.45.2A31150.1002

 Swivel castor, lockable with bolt hole 2C 100 137 1,000 474 1.45.2C31100.1001

 Swivel castor, lockable with bolt hole, ESD 2C 100 137 1,000 503 1.45.2C31100.1002

 Swivel castor, lockable with bolt hole 2C 125 161 1,000 577 1.45.2C31125.1001

 Swivel castor, lockable with bolt hole, ESD 2C 125 161 1,000 648 1.45.2C31125.1002

 Swivel castor, lockable with bolt hole 2C 150 190 1,000 688 1.45.2C31150.1001

 Fixed castor with fi tting plate 2B 100 128 1,600 494 1.45.2B12100.1601

 Fixed castor with fi tting plate, ESD 2B 100 128 700 511 1.45.2B12100.0702

 Fixed castor with fi tting plate 2B 125 155 2,500 814 1.45.2B12125.2501

 Fixed castor with fi tting plate, ESD 2B 125 155 1,000 918 1.45.2B12125.1002

 Fixed castor with fi tting plate 2B 160 200 3,000 1,741 1.45.2B12160.3001

 Fixed castor with fi tting plate, ESD 2B 160 200 1,350 1,772 1.45.2B12160.1352

 Fixed castor with fi tting plate 2B 200 240 4,000 2,251 1.45.2B12200.4001

 Fixed castor with fi tting plate, ESD 2B 200 240 2,050 2,795 1.45.2B12200.2051

Description Series Wheel- Overall Load Weight Article No.
  Ø height capacity
  D a    
  [mm] [mm] [N] [g]

Tente

Castors - Tente



15.17

21.15 (1.45)

d

e

a

f c

D

B

d

e

a

f c

D

B

e

a

l b

D

h

B=b

d

e

a

f c

B

D

d

e

a

f c

D

B

5

 43 41 11 18 24 98   

 43 43 11 25 24 123   

 60 60 11 32 38 176   

 60 60 11 32 38 176   

 60 60 11 32 41 207   

 60 60 11 32 41 207   

 60 60 11 32 45 240   

 60 60 11 32 45 240   

 59 59 11 32 36 172   

 59 59 11 32 36 172   

 59 59 11 32 38 201   

 59 59 11 32 38 201   

 59 59 11 32 38 226   

 43 41 11 18 24 164   

 43 43 11 25 24 160   

 60 60 11 32 38 262   

 60 60 11 32 38 262   

 60 60 11 32 41 262   

 60 60 11 32 41 262   

 60 60 11 32 45 262   

 60 60 11 32 45 262   

 59 59 11 32 36 196   

 59 59 11 32 32 196   

 59 59 11 32 38 201   

 59 59 11 32 38 201   

 59 59 11 32 38 240   

 85   34   103 × 85 × 2 80/77 × 60 9.0

 85   30   103 × 85 × 2 80/77 × 60 9.0

 85   40   103 × 85 × 2 80/77 × 60 9.0

 85   37   103 × 85 × 2 80/77 × 60 9.0

 115   46   137 × 115 × 3 105 × 80/75 11.0

 115   40   137 × 115 × 3 105 × 80/75 11.0

 115   46   137 × 115 × 3 105 × 80/75 11.0

 115   50   137 × 115 × 3 105 × 80/75 11.0

Castor fastening: Dimensions t 15.20

Castors - Tente

 Castor Dome- Bolt Wheel Offset Swivel Size Plate hole Plate
 width Ø hole-Ø width  interfer- of plate spacing hole-Ø
 B c d e f ence-Ø l × b × h
 [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]



15.18

21.15 (1.45)

 Swivel castor with fi tting plate 2B 100 128 1,600 810 1.45.2B22100.1601

 Swivel castor with fi tting plate, ESD 2B 100 128 700 875 1.45.2B22100.0702

 Swivel castor with fi tting plate 2B 125 155 2,500 1,030 1.45.2B22125.2501

 Swivel castor with fi tting plate, ESD 2B 125 155 1,000 1,150 1.45.2B22125.1002

 Swivel castor with fi tting plate 2B 160 200 3,000 2,187 1.45.2B22160.3001

 Swivel castor with fi tting plate, ESD 2B 160 200 1,350 2,376 1.45.2B22160.1352

 Swivel castor with fi tting plate 2B 200 240 4,000 2,669 1.45.2B22200.4001

 Swivel castor with fi tting plate, ESD 2B 200 240 2,050 2,904 1.45.2B22200.2051

 Swivel castor with fi tting plate 2C 100 137 1,000 471 1.45.2C22100.1001

 Swivel castor with fi tting plate, ESD 2C 100 137 1,000 499 1.45.2C22100.1002

 Swivel castor with fi tting plate 2C 125 161 1,000 562 1.45.2C22125.1001

 Swivel castor with fi tting plate, ESD 2C 125 161 1,000 633 1.45.2C22125.1002

 Swivel castor with fi tting plate 2C 150 190 1,000 669 1.45.2C22150.1001

 Swivel castor with fi tting plate 2D 100 125 1,200 916 1.45.2D22100.1201

 Swivel castor with fi tting plate, ESD 2D 100 125 1,200 917 1.45.2D22100.1202

 Swivel castor with fi tting plate 2D 125 150 1,300 1,141 1.45.2D22125.1301

 Swivel castor with fi tting plate, ESD 2D 125 150 1,300 1,148 1.45.2D22125.1302

 Swivel castor with fi tting plate 2D 150 176 1,500 1,723 1.45.2D22150.1501

 Swivel castor with fi tting plate, ESD 2D 150 176 1,500 1,735 1.45.2D22150.1502

 Swivel castor, lockable with fi tting plate 2B 100 128 1,600 990 1.45.2B32100.1601

 Swivel castor, lockable with fi tting plate, ESD 2B 100 128 700 1,054 1.45.2B32100.0702

 Swivel castor, lockable with fi tting plate 2B 125 155 2,500 1,146 1.45.2B32125.2501

 Swivel castor, lockable with fi tting plate, ESD 2B 125 155 1,000 1,311 1.45.2B32125.1002

 Swivel castor, lockable with fi tting plate 2B 160 200 3,000 2,548 1.45.2B32160.3001

 Swivel castor, lockable with fi tting plate, ESD 2B 160 200 1,350 2,579 1.45.2B32160.1352

 Swivel castor, lockable with fi tting plate 2B 200 240 4,000 2,987 1.45.2B32200.4001

 Swivel castor, lockable with fi tting plate, ESD 2B 200 240 2,050 3,555 1.45.2B32200.2051

 Swivel castor, lockable with fi tting plate 2C 100 137 1,000 516 1.45.2C32100.1001

 Swivel castor, lockable with fi tting plate, ESD 2C 100 137 1,000 537 1.45.2C32100.1002

 Swivel castor, lockable with fi tting plate 2C 125 161 1,000 617 1.45.2C32125.1001

 Swivel castor, lockable with fi tting plate, ESD 2C 125 161 1,000 682 1.45.2C32125.1002

 Swivel castor, lockable with fi tting plate 2C 150 190 1,000 713 1.45.2C32150.1001

 Swivel castor, lockable with fi tting plate 2D 100 125 1,200 985 1.45.2D32100.1201

 Swivel castor, lockable with fi tting plate, ESD 2D 100 125 1,200 986 1.45.2D32100.1202

 Swivel castor, lockable with fi tting plate 2D 125 150 1,300 1,209 1.45.2D32125.1301

 Swivel castor, lockable with fi tting plate, ESD 2D 125 150 1,300 1,216 1.45.2D32125.1302

 Swivel castor, lockable with fi tting plate 2D 150 176 1,500 1,993 1.45.2D32150.1501

 Swivel castor, lockable with fi tting plate, ESD 2D 150 176 1,500 2,008 1.45.2D32150.1502

Tente

Castors - Tente

Description Series Wheel- Overall Load Weight Article No.
  Ø height capacity
  D a    
  [mm] [mm] [N] [g]



15.19

21.15 (1.45)

e

a
l b
f

D

h

B

e

a

l b
f

D

h

B

e

a

l b
f

D

hB

e

a

l b
f

D

B

h

B

a

l b
f

e

h

D

e

a

l b
f

D

hB

5

 75 75  34 40 180 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  30 40 180 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  40 40 205 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  37 40 205 105 × 80 × 2.5 80/77 × 60 9.0

 96 96  46 55 270 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  40 55 270 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  46 55 310 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  50 55 310 137 × 105 × 3.5 105 × 80/75 11.0

 59 59  32 36 172 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 36 172 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 38 201 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 38 201 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 38 226 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 82 52  20 32 180 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 32 180 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 40 218 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 40 218 96 ×78 × 2.5 80/77 × 60 9.0

 89 56  22 52 218 137 × 105 × 3.5 105 × 80/75 11.0

 89 56  22 52 218 137 × 105 × 3.5 105 × 80/75 11.0

 75 75  34 41 246 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  30 41 246 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  40 40 246 105 × 80 × 2.5 80/77 × 60 9.0

 75 75  37 40 246 105 × 80 × 2.5 80/77 × 60 9.0

 96 96  46 60 334 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  40 60 334 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  46 55 334 137 × 105 × 3.5 105 × 80/75 11.0

 96 96  50 55 334 137 × 105 × 3.5 105 × 80/75 11.0

 59 59  32 36 196 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 36 196 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 38 201 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 39 201 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 59 59  32 38 240 77 × 67 × 2.5 61.5/56 × 51.5/46.5 8.5

 82 52  20 32 216 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 32 216 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 40 258 96 ×78 × 2.5 80/77 × 60 9.0

 82 52  20 40 258 96 × 78 × 2.5 80/77 × 60 9.0

 89 56  22 52 312 137 × 105 × 3.5 105 × 80/75 11.0

 89 56  22 52 312 137 × 105 × 3.5 105 × 80/75 11.0

Castor fastening: Dimensions t 15.20

Castors - Tente

 Castor Dome- Bolt Wheel Offset Swivel Size Plate hole Plate
 width Ø hole-Ø width  interfer- of plate spacing hole-Ø
 B c d e f ence-Ø l × b × h
 [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]



15.20

21.15 (1.45)

Ø11

Ø11

77
80
l

60 b

9

77
80
l

60 b

9

105
l

75 80 b

11

105
l

75 80 b

11

56
61.5

77

8.
5

46
.5

51
.5

67

Castors - Tente

Castor fastening
Tente

Series 2B

Series 2D

Series 2A

Bolt hole type

 Castor-Ø [mm] 50 / 75 / 100 / 125 / 150

Series 2C

Bolt hole type

Fitting plate type

Fitting plate type

Fitting plate type

 Castor-Ø [mm] 100 / 125 / 150

 Castor-Ø [mm] 100 / 125 160 / 200

 Castor-Ø [mm] 100 / 125 150



15.21

21.15

M10

Ø19.5

49

3
3

5

Feet and castors

Clamping bush

Description  Weight Article No.
Clamping bush, PA 80 g 21.15.10.1

Description  Weight Article No.
Clamping bush, steel 135 g 21.15.10.2

Application
For mounting of castors

Technical data
material:

clamping bush, base: PA

screw, nut: steel, galvanised

Technical data
material:

clamping bush, base: steel

screw, nut: steel, galvanised

Plastic

Steel



15.22

21.15

H

AB
D

H

AB

D

Locking foot
for castors

Castors

Description Ø A B D H Weight Article No.
Locking foot for castors 100 97 87 4 120 - 147 1,150 g 21.15.18.100

Locking foot for castors 150 120 120 5 153 - 200 2,455 g 21.15.18.150

Description Ø A B D H Weight Article No.
Locking foot for castors 125 120 120 4 125 - 152 1,470 g 21.15.18.125

Technical data 
material: steel, galvanised 

max. static load: 500 N

Technical data 
material: steel, galvanised 

max. static load: 500 N



15.23

21.15

84

35

126
30

5

Castors

Castor mounting sets
for castors with mounting plates

Technical data 
material: steel, galvanised

Description    Weight Article No.
Castor mounting set 84    486 g 21.15.19.01

Single parts

Description  Pcs.  Weight Article No.
Castor mounting 84  4  111 g 21.15.19.01A

Cylindric head screw DIN 6912, M 8 × 40 2  17 g 0.63.D06912.08040

Hexagonal nut DIN 934 – M 8  2  4 g 0.61.D00934.08

Description    Weight Article No.
Castor mounting set 126    548 g 21.15.19.02

Single parts

Description  Pcs.  Weight Article No.
Castor mounting 126  4  116 g 21.15.19.02A

Cylindric head screw DIN 6912, M 8 × 40 4  17 g 0.63.D06912.08040

Hexagonal nut DIN 934 – M 8  4  4 g 0.61.D00934.08

Height compensation  t spacer plate 15.24

Description    Weight Article No.
Castor mounting set 130    726 g 21.15.19.03

Single parts

Description  Pcs.  Weight Article No.
Castor mounting 130  4  150 g 21.15.19.03A

Cylindric head screw DIN 6912, M 8 × 40 6  17 g 0.63.D06912.08040

Hexagonal nut DIN 934 – M 8  6  4 g 0.61.D00934.08



15.24

21.15

10080

Ø8.5
61

80 51
60

6

Castors

Technical data 
material: steel

surface: galvanised

Spacer plate

Description    Weight Article No.
Spacer plate, galvanised 250 g 21.15.19.10.2

Application 
For height compensation when using the 

castor mounting set 126 (t 15.23)



15.25

21.15
10

9

o166

M10

O1
66

60
80

80 10
5

9

9

51

61
5

Description Surface   Weight Article No.
Footplate, corner black   1,610 g 21.15.20.EHV.1

Footplate, corner galvanised   1,610 g 21.15.20.EHV.2

Footplates for pipes
corner

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

4 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Footplates

Technical data 
material: steel

Delivery unit 
incl. 4 × set screw (black or galvanised)



15.26

21.15

o166

10
4

126

M10

O1
66

80 10
5

60
80

9

51

61

9

Feet and castors

Description Surface   Weight Article No.
Footplate, corner left black   1,873 g 21.15.20.L.1

Footplate, corner left galvanised   1,873 g 21.15.20.L.2

Footplates for pipes
corner left

Delivery unit 
incl. 4 × set screw (black or galvanised)

Technical data 
material: steel

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

4 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



15.27

21.15

10
4

o166

126

M10

O1
66

80 10
5

60
80

9

51

61

9

5

Feet and castors

Technical data 
material: steel

Description Surface   Weight Article No.
Footplate, corner right black   1,873 g 21.15.20.R.1

Footplate, corner right galvanised   1,873 g 21.15.20.R.2

Footplates for pipes
corner right

Delivery unit 
incl. 4 × set screw (black or galvanised)

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

4 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



15.28

21.15

126o166

10
4

M10

O1
66

80 10
5

60
80

9
51

61

Feet and castors

Description Surface   Weight Article No.
Footplate, center with post black   1,766 g 21.15.20.MHV.1

Footplate, center with post galvanised   1,766 g 21.15.20.MHV.2

Footplates for pipes
center with post

Technical data 
material: steel

Delivery unit 
incl. 6 × set screw (black or galvanised)

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

6 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



15.29

21.15

11
3

Ø29.7
Ø33.7

4

Ø50

M10

M

Ø4

B

200

10
0

280
240

Ø9

320

Ø10

12
5 261

35

351 5

5

Feet and castors

Forklift guides

Forklift guide
narrow

Screw-on element
for bolt hole castors and
adjustable feet

Technical data 
material: steel

Technical data 
material: steel

Technical data 
material: steel

Description B Surface   Weight Article No.
Forklift guide 120 black   1,900 g 21.15.30.01.1

Forklift guide 120 galvanised   1,900 g 21.15.30.01.2

Forklift guide 160 black   2,500 g 21.15.30.02.1

Forklift guide 160 galvanised   2,500 g 21.15.30.02.2

Description  Surface   Weight Article No.
Forklift guide, narrow 35 black   817 g 21.15.30.03.1

Forklift guide, narrow 35 galvanised   817 g 21.15.30.03.2

Description  M  Surface Weight Article No.
Screw-on element M10  black 283 g 21.15.21.10.1

Screw-on element M10  galvanised 283 g 21.15.21.10.2

Screw-on element M12  black 283 g 21.15.21.12.1

Screw-on element M12  galvanised 283 g 21.15.21.12.2

Delivery unit 
incl. 2 × set screw (black or galvanised)



15.30



16.01

21.16

6

Summary complete: Roller tracks



16.02

21.16

    35 40 60 85

Summary   t 16.05 16.06 16.08 16.09

 Standard  16.13 16.18 16.33 16.37

  low noise (ln)  16.18  

 fl at  16.19 16.33

 Edge roller  16.20  

  low noise (ln)  16.20  

 with offset  16.13   

Side guiding profi le    

 PE   16.14 16.21  

  with offset  16.14 16.22  

Roller track    

 - support  16.15 16.24 16.34 16.38

  with stop   16.25 16.34 16.39

  with offset  16.16 16.26 16.35 16.39

  with return stop   16.27 16.35

 - extension 16.17 16.30 16.36 16.40

 - overlay   16.30 16.36 16.40

 - bridge 16.17 16.31  16.40

 Adapter bridge   16.31  

 Mounting clamp  16.16   

Roller track brake    

 Standard   16.32  

 fl at   16.32  

 Edge roller   16.32

Roller track

Summary complete: Roller tracks

Product group

21.16



16.03

21.16

6

  mounting on:

PE   Roller track support 35 16.41

  Roller track support 40 16.42

Alu 16.42

  Slide pipe supports 12.19

Center guiding profi le - for all roller tracks

Summary complete: Roller tracks



16.04



16.05

21.16

6

Summary: Roller track 35

Roller track

- support

   

 with offset

  

  

Mounting clamp

- extension

- bridge

Adapter
for roller track

support 40

round

type B

round

 Ø28 profi le 40 Roller track 35  t 16.13

Type of roller

 35 t 16.15

 Side guiding profi le  t 16.14
for roller track 35  

Standard

with offset

PE

with offset

Product group



16.06

21.16Summary: Roller track 40

 Roller track 40  t 16.18

      
 Type of roller  low noise (ln)

 Roller track t 16.32
 brake 40

Standard

fl at

Edge roller

PE

  with offset

Standard

fl at

Edge roller

 Extension clip

for side guiding  

 profi le   

 with offset

 Side guiding profi le  t 16.21
 for roller track 40

Product group



16.07

21.16

6

Summary: Roller track 40

- support

 with stop

  

   

 with offset

 with return stop

- extension

- overlay

- bridge

Adapter bridge

rear

front

type B

 Ø28 Ø33 profi le 40

bracket left bracket right

bracket left bracket right

short

round

hinged
Roller track

 40 t 16.24



16.08

21.16Summary: Roller track 60

- support

 with stop

 with offset

 with return stop

- extension

- overlay

type B

 Ø28 Ø33

Standard

fl at

 Roller track 60 t 16.33

Type of roller Roller track

 60 t 16.34

Product group



16.09

21.16

6

Summary: Roller track 85

- support

 with stop

  

 with offset

- extension

- overlay

- bridge

rear

type B

bracket left bracket right

bracket left bracket right

short

Standard

 Ø28 Roller track 85 t 16.37

Type of roller Roller track

 85 t 16.38

Product group



16.10

21.16Summary: Center guiding profi les - for all roller tracks

Mounting:
on roller track support 40

t 16.24

Mounting:
on roller track support 35

t 16.15

Mounting:
on slide pipe support

t 12.19

PE

  

Alu

 Center guiding profi les  t 16.41
 for all roller tracks

Product group



16.11

750   1.000 1.250 1.500 1.750 2.000
0

500

1.000

2.000

2.500

1.520 N

3.000

1

2

3

21.16

 5

 10

 15

 20

6

Load capacity of the roller tracks

Defl ection under line load

Bending lines

Defl ection [mm]
load
[N]

center distance [mm]

Center distance

Load capacity
of the roller tracks

Center distance

 Center distance  Roller track 

 [mm] 40 60 85

Roller track with

2 roller track supports

Load data in N at a defl ection of approx. 5 mm

Determination of the load capacity 
1. Center distance l in mm

2. Permitted defl ection f in mm

3. Permitted line load F in N

Example   
1 l = 1,000 mm

2 f = 5 mm

3 F = 1,520 N

Example: Roller track 40

 1,000 1,520 740 2,060

 1,250 740 390 1,080

 1,500 440 200 610

 2,000 200 100 270



16.12



16.13

22.16

35.5

26

21
.5

35
.5

35.5

26

21
.5

35
.5

6

Roller track 35

Roller track 35

Roller track 35 with offset 

Description Colour of roller  Weight Article No.
Roller track 35, ESD black length 4 m 3.2 kg 22.16.1.035.11.1E.40

Roller track 35, ESD black cut to length  0.8 kg / m 22.16.1.035.11.1E/...

Roller track 35 white length 4 m 3.2 kg 22.16.1.035.11.2.40

Roller track 35 white cut to length  0.8 kg / m 22.16.1.035.11.2/...

Roller track 35 grey length 4 m 3.2 kg 22.16.1.035.11.5.40

Roller track 35 grey cut to length  0.8 kg / m 22.16.1.035.11.5/...

 /... = length in mm

Description Colour of roller  Weight  Article No.
Roller track 35 with offset, ESD black length 4 m  3,2 kg 22.16.1.035.41.1E.40

Roller track 35 with offset, ESD black cut to length  0,8 kg / m 22.16.1.035.41.1E/...

Roller track 35 with offset grey length 4 m  3,2 kg 22.16.1.035.41.5.40

Roller track 35 with offset grey cut to length  0,8 kg / m 22.16.1.035.41.5/...

     /... = length in mm

Technical data

roller-Ø: 28 mm

shaft-Ø: 4 mm

roller distance: 33 mm

height: 35.5 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen

Technical data

roller-Ø: 27 mm

shaft-Ø: 4 mm

roller distance: 33 mm

height: 35 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen



16.14

22.16

40

66

9

86

45

66

4035 60 85

4035 60 85

Roller track 35

Side guiding profi le 35
PE

with offset, PE

Technical data 
material: PE

bar length: 4 m

Technical data 
material: PE

bar length: 4 m

Description Colour   Weight  Article No.
Side guiding profi le 35, ESD black length 4 m 2.4 kg 22.16.2.100.01E.40

Side guiding profi le 35, ESD black cut to length 0.6 kg / m 22.16.2.100.01E/...

Side guiding profi le 35 white length 4 m 2.4 kg 22.16.2.100.02.40

Side guiding profi le 35 white cut to length 0.6 kg / m 22.16.2.100.02/...

Side guiding profi le 35 grey length 4 m 2.4 kg 22.16.2.100.05.40

Side guiding profi le 35 grey Zuschnitt 0.6 kg / m 22.16.2.100.05/...

     /... = length in mm

Description Colour   Weight  Article No.
Side guiding profi le 35, with offset, ESD black length 4 m 2.4 kg 22.16.2.111.01E.40

Side guiding profi le 35, with offset, ESD black cut to length 0.6 kg / m 22.16.2.111.01E/...

Side guiding profi le 35, with offset white length 4 m 2.4 kg 22.16.2.111.02.40

Side guiding profi le 35, with offset white cut to length 0.6 kg / m 22.16.2.111.02/...

Side guiding profi le 35, with offset grey length 4 m 2.4 kg 22.16.2.111.05.40

Side guiding profi le 35, with offset grey cut to length 0.6 kg / m 22.16.2.111.05/...

     /... = length in mm



16.15

22.16

4035 60 85

4035 60 85

4035 60 85

41.5 28
5433

41.5 28
5433

41.5 28
5432

6

Roller track support 35

type B

round

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 35  164 g 22.16.3.10F.035

Description  Weight Article No.
Roller track support 35, type B  120 g 22.16.3.10F.035B

Description  Weight Article No.
Roller track support 35, round  127 g 22.16.3.10R.035

Roller track 35



16.16

4035 60 85

4035 60 85

4035 60 85

4035 60 85

22.16

41.5 28
54

57

41.5 28
54

57

36.4 30

30

20 1.
5-

3

round

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 35, with offset  185 g 22.16.3.30F.035

Roller track 35

Technical data 
material: steel galvanised

Technical data 
material: Steel hardened, not oiled

Description  Weight Article No.
Roller track support 35, with offset, round  146 g 22.16.3.30R.035

Description  Weight Article No.
Mounting clamp  14 g 22.16.3.35X.CLIP

Roller track support 35
with offset

Mounting clamp



16.17

22.16

39.5

150

41.5

28
54

33

54

41.5 28.
5

54

57

39.5 50

4035 60 85

4035 60 85

4035 60 85

4035 60 85

6

Roller track extension 35

Roller track support 35
for profi les

Adapter for
Roller track support 40

Roller track bridge 35

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Application 
Adapter for roller tracks 35 for mounting in 

roller track supports 40 

Description  Weight Article No.
Roller track extension 35  121 g 22.16.3.4.035

Description  Weight Article No.
Roller track bridge 35  210 g 22.16.3.70F.035

Description  Weight Article No.
Roller track support 35 for profi les  141 g 22.16.3.P10.035

Description  Weight Article No.
Adapter for roller track support 40  40 g 22.16.3.X50.035

Roller track 35



16.18

21.16

40

35

27
.5

43

Roller track 40

Roller tracks 40

Roller tracks 40 
low noise (ln)

Description Colour of roller  Weight Article No.
Roller track 40, ESD black length 4 m 5.0 kg 21.16.1.040.11.1E.40

Roller track 40, ESD black cut to length  1.25 kg / m 21.16.1.040.11.1E/...

Roller track 40 white length 4 m 4.8 kg 21.16.1.040.11.2.40

Roller track 40 white cut to length  1.2 kg / m 21.16.1.040.11.2/...

Roller track 40 grey length 4 m 4.8 kg 21.16.1.040.11.5.40

Roller track 40 grey cut to length  1.2 kg / m 21.16.1.040.11.5/...

 /... = length in mm

Description Colour of roller  Weight Article No.
Roller track 40 ln, ESD black length 4 m 5.0 kg 21.16.1.040.12.1E.40

Roller track 40 ln, ESD black cut to length 1.25 kg / m 21.16.1.040.12.1E/...

Roller track 40 ln white length 4 m  4.8 kg 21.16.1.040.12.2.40

Roller track 40 ln white cut to length  1.2 kg / m 21.16.1.040.12.2/...

Roller track 40 ln grey length 4 m  4.8 kg 21.16.1.040.12.5.40

Roller track 40 ln grey cut to length  1.2 kg / m 21.16.1.040.12.5/...

    /... = length in mm

Technical data

roller-Ø: 31 mm

shaft-Ø: 4 mm

roller distance: 36 mm

height: 43 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen

Technical data

roller-Ø: 31 mm

shaft-Ø: 4 mm

roller distance: 36 mm

height: 43 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen



16.19

21.16

6

Roller track 40

Roller tracks 40
fl at

Description Colour of roller  Weight Article No.
Roller track 40 fl at, ESD black length 4 m 5.4 kg 21.16.1.040.21.1E.40

Roller track 40 fl at, ESD black cut to length  1.35 kg / m 21.16.1.040.21.1E/...

Roller track 40 fl at white length 4 m 5.4 kg 21.16.1.040.21.2.40

Roller track 40 fl at white cut to length  1.35 kg / m 21.16.1.040.21.2/...

 /... = length in mm

Technical data

roller-Ø: 18 mm

shaft-Ø: 4 mm

roller distance: 22 mm

height: 38 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen



16.20

21.16

40

35

27 43

Roller track 40

Roller tracks 40
with edge rollers

Roller tracks 40
with edge rollers
low noise (ln)

Description Colour  Weight Article No.
Roller track 40 with edge rollers, ESD black length 4 m 4.6 kg 21.16.1.040.31.1E.40

Roller track 40 with edge rollers, ESD black cut to length  1.15 kg / m 21.16.1.040.31.1E/...

Roller track 40 with edge rollers white length 4 m 4.5 kg 21.16.1.040.31.2.40

Roller track 40 with edge rollers white cut to length  1.125 kg / m 21.16.1.040.31.2/...

     /... = length in mm

Description Colour  Weight Article No.
Roller track 40 with edge rollers ln, ESD black length 4 m 4.6 kg 21.16.1.040.32.1E.40

Roller track 40 with edge rollers ln, ESD black cut to length  1.15 kg / m 21.16.1.040.32.1E/...

Roller track 40 with edge rollers ln white length 4 m 4.5 kg 21.16.1.040.32.2.40

Roller track 40 with edge rollers ln white cut to length  1.125 kg / m 21.16.1.040.32.2/...

    /... = length in mm

Technical data

roller-Ø: 32 mm

shaft-Ø: 4 mm

roller distance: 48.5 mm

height: 43 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen

Technical data

roller-Ø: 32 mm

shaft-Ø: 4 mm

roller distance: 48.5 mm

height: 43 mm

length: 4 m

load capacity: 150 kg

material: steel galvanised / 

 Polyethylen



16.21

21.16

47

70

4035 60 85

6

Roller track 40

Side guiding profi le

Technical data 
material: PE, ivory

bar length: 3 m

Description  Weight Article No.
Side guiding profi le, ivory length 3 m 2.0 kg 21.16.2.100.03.30

Side guiding profi le, ivory cut to length 0.67 kg / m 21.16.2.100.03/...

 /... = length in mm



16.22

21.16

21.
1

25

2.1
4.51.5

85

45

4035 60 85

Roller track 40

Side guiding profi le with offset

Technical data 
material: PE

colours: white, grey

bar length: 2 m / 4 m

Description  Weight Article No.
Side guiding profi le with offset, white length 2 m 1.68 kg 21.16.2.111.02.20

Side guiding profi le with offset, white length 4 m 3.36 kg 21.16.2.111.02.40

Side guiding profi le with offset, white cut to length 0.84 kg / m 21.16.2.111.02/...

Side guiding profi le with offset, grey length 2 m 1.68 kg 21.16.2.111.05.20

Side guiding profi le with offset, grey length 4 m 3.36 kg 21.16.2.111.05.40

Side guiding profi le with offset, grey cut to length 0.84 kg / m 21.16.2.111.05/...

 /... = length in mm

Extension clip
for side guiding profi le with offset

Technical data 
material: PVC, impact resistant

colour: white

Description  Weight Article No.
Extension clip for side guiding profi le with offset  30 g 21.16.2.111.C02



16.23

21.16

6



16.24

21.16

38 28
53

26

38
28

53

26









4035 60 85

4035 60 85

4035 60 85

4035 60 85

Roller track support 40 Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40  129 g 21.16.3.10F.040

Description  Weight Article No.
Roller track support 40, bracket left  179 g 21.16.3.10F.040L

Roller track 40

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40, Ø33  150 g 21.16.3.11F.040

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

bracket left

bracket right

Description  Weight Article No.
Roller track support 40, bracket right  179 g 21.16.3.10F.040R

for mountig over joint



16.25

21.16

3953

47.5
53

28

38 28
53

26
25

38

28
53

26
25









4035 60 85

4035 60 85

4035 60 85

4035 60 85

6

Roller track support 40
with stop

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 with stop  160 g 21.16.3.20F.040

Description  Weight Article No.
Roller track support 40 with stop, type B  193 g 21.16.3.20F.040B

Description  Weight Article No.
Roller track support 40 with stop, bracket left  211 g 21.16.3.20F.040L

Description  Weight Article No.
Roller track support 40 with stop, bracket right  211 g 21.16.3.20F.040R

Roller track 40

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

type B

bracket left

bracket right



16.26



21.16

28
53

77





4035 60 85

4035 60 85

4035 60 85

Roller track support 40
with stop
for mountig over joint

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 with stop, Ø33  180 g 21.16.3.21F.040

Roller track 40

Roller track support 40
with offset

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 round, with offset  148 g 21.16.3.30F.040

for mountig over joint Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 round, with offset, Ø33  170 g 21.16.3.31R.040

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.27

21.16

28
53

39

50

63


4035 60 85

6

Roller track 40

Roller track support 40
with return stop

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 with return stop  193 g 21.16.3.32F.040

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.28

40

50
44

30

40

50
44

30

21.16

40

50

44

30
25

40

50

44

30

76
.5

4035 60 85

4035 60 85

4035 60 85

4035 60 85

Roller track support 40
for profi les 40

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 for profi les  110 g 21.16.3.P10.040

Description  Weight Article No.
Roller track support 40 for profi les, with front stop 150 g 21.16.3.P20.040

Description  Weight Article No.
Roller track support 40 for profi les, with rear stop  245 g 21.16.3.P25.040

Description  Weight Article No.
Roller track support 40 for profi les, with offset  185 g 21.16.3.P28.040

Roller track 40

with front stop

with rear stop

with offset



16.29

21.16

40

50

44

30
89

40

50

44

30

40

50

44

30

4035 60 85

4035 60 85

4035 60 85

6

Roller track support 40
for profi les 40, hinged

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 for profi les, hinged, with offset 234 g 21.16.3.P50.040

Roller track 40

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 40 for profi les, hinged  215 g 21.16.3.P30.040

Description  Weight Article No.
Roller track support 40 for profi les, hinged, with rear stop 247 g 21.16.3.P40.040

with offset

with rear stop



16.30

21.16









4035 60 85

4035 60 85

4035 60 85

4035 60 85

Roller track extension 40 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track extension 40  129 g 21.16.3.4.040

Roller track 40

Roller track overlay 40 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 40  179 g 21.16.3.50F.040

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 40, type B  182 g 21.16.3.51F.040

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 40, short  73 g 21.16.3.60F.040

with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

type B

short



16.31

21.16

28

52.
5

52.
5

44

46





4035 60 85

4035 60 85

4035 60 85

6

Roller track bridge 40
angular

Adapter bridge 40, round
for connection of roller track
to slide pipe

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track bridge 40, angular  248 g 21.16.3.70F.040

Description  Weight Article No.
Roller track bridge 40, round  249 g 21.16.3.70R.040

Description  Weight Article No.
Adapter bridge 40, round  240 g 21.16.3.80F.040

Roller track 40

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)

round



16.32

21.16

4035 60 85

4035 60 85

4035 60 85

Roller track brake 40

Roller track brake
for roller track 40 with edge rollers

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track brake 40  40 g 21.16.4.01

Description  Weight Article No.
Roller track brake for roller track 40 with edge rollers 35 g 21.16.4.03

Description  Weight Article No.
Roller track brake 40, fl at  26 g 21.16.4.02

Roller track 40

fl at



16.33

21.16

6

Roller track 60

Roller track 60

Description Colour of roller  Weight Article No.
Roller track 60, ESD black length 4 m  5.5 kg 21.16.1.060.11.1E.40

Roller track 60, ESD black cut to length 1.375 kg / m 21.16.1.060.11.1E/...

Roller track 60 white length 4 m  5.5 kg 21.16.1.060.11.2.40

Roller track 60 white cut to length 1.375 kg / m 21.16.1.060.11.2/...

 /... = length in mm

Technical data

roller-Ø: 30 mm

shaft-Ø: 4 mm

roller distance: 37 mm

height: 34 mm

length: 4 m

load capacity: kg

material: steel galvanised / 

 Polyethylen

fl at

Description Colour of roller  Weight Article No.
Roller track 60 fl at, ESD black length 4 m 5.3 kg 21.16.1.060.21.1E.40

Roller track 60 fl at, ESD black cut to length 1.325 kg / m 21.16.1.060.21.1E/...

Roller track 60 fl at white length 4 m 5.3 kg 21.16.1.060.21.2.40

Roller track 60 fl at white cut to length 1.325 kg / m 21.16.1.060.21.2/...

 /... = length in mm

Technical data

roller-Ø: 16 mm

shaft-Ø: 4 mm

roller distance: 18.5 mm

height: 27 mm

length: 4 m

load capacity: kg

material: steel galvanised / 

 Polyethylen



16.34

21.16









35 40 60 85

35 40 60 85

35 40 60 85

35 40 60 85

Roller track support 60 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60  193 g 21.16.3.10F.060

Roller track 60

for mountig over joint Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60, Ø33  178 g 21.16.3.11F.060

with stop, type B Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60 with stop, type B  205 g 21.16.3.20F.060

with stop, type B,
for mountig over joint

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60 with stop, type B, Ø33  232 g 21.16.3.21F.060

with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.35

21.16





70
28

53

63



35 40 60 85

35 40 60 85

35 40 60 85

6

Roller track support 60
with offset

for mountig over joint

Roller track support 60
with return stop

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60 with offset  209 g 21.16.3.30F.060

Roller track 60

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 60 with offset, Ø33  218 g 21.16.3.31F.060

Description  Weight Article No.
Roller track support 60 with return stop  230 g 21.16.3.32F.060

with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.36

21.16





35 40 60 85

35 40 60 85

Roller track 60

Roller track extension 60 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track extension 60  93 g 21.16.3.4.060

Roller track overlay 60 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 60  147 g 21.16.3.50F.060

with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.37

21.16

6

Roller track 85

Roller track 85

Description Colour of roller  Weight Article No.
Roller track 85 white length 4 m 9.6 kg 21.16.1.085.11.2.40

Roller track 85 white cut to length 2.4 kg / m 21.16.1.085.11.2/...

 /... = length in mm

Technical data

roller-Ø: 36 mm

shaft-Ø: 5 mm

roller distance: 40 mm

height: 40 mm

length: 4 m

load capacity: 300 kg

material: steel galvanised / 

 Polyethylen



16.38

21.16

40

90

28
53

40

90

28

53







35 40 60 85

35 40 60 85

35 40 60 85

Roller track support 85 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 85  250 g 21.16.3.10F.085

Roller track 85

bracket left

bracket right

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 85, bracket left  212 g 21.16.3.11F.085L

Description  Weight Article No.
Roller track support 85, bracket right  212 g 21.16.3.11F.085R

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.39

21.16

53
40

90

28

53

28

40

90









35 40 60 85

35 40 60 85

35 40 60 85

35 40 60 85

6

type B, bracket left

type B, bracket right

Technical data 
material: steel galvanised

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 85 with stop, type B, bracket left 265 g 21.16.3.21F.085L

Description  Weight Article No.
Roller track support 85 with stop, type B, bracket right 265 g 21.16.3.21F.085R

Roller track support 85
with stop

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 85 with stop  249 g 21.16.3.20F.085

Roller track 85

Roller track support 85
with offset

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track support 85 with offset  291 g 21.16.3.30F.085

 with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.40

21.16









35 40 60 85

35 40 60 85

35 40 60 85

35 40 60 85

Roller track extension 85 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track extension 85  206 g 21.16.3.4.085

Roller track 85

Roller track overlay 85 Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 85  205 g 21.16.3.50F.085

short Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track overlay 85, short  96 g 21.16.3.60F.085

Roller track bridge 85
angular

Technical data 
material: steel galvanised

Description  Weight Article No.
Roller track bridge 85, angular  297 g 21.16.3.70F.085

with bore Ø4.2 for locking screw (drilling screw DIN 7504 4.2 × 13 t 12.15)



16.41

22.16

35

61

6

Roller track center guiding profi les

Center guiding profi les

Technical data 
material: PE

bar length: 4 m

Description  Weight Article No.
Center guiding profi le, ESD black length 4 m 1.80 kg 22.16.2.02.01E.40

Center guiding profi le, ESD black cut to length  0.45 kg / m 22.16.2.02.01E/...

Center guiding profi le white length 4 m 2.0 kg 22.16.2.02.02.40

Center guiding profi le white cut to length  0.5 kg / m 22.16.2.02.02/...

Center guiding profi le grey length 4 m 2.0 kg 22.16.2.02.05.40

Center guiding profi le grey cut to length  0.5 kg / m 22.16.2.02.05/...

 /... = length in mm



16.42

21.16

40

60

40

70

Roller track center guiding profi les

Center guiding profi le
Alu, for roller track support

Technical data 
material: Aluminium

bar length: 2 m / 4 m

Description  Weight Article No.
Center guiding profi le, for roller track support length 2 m 1.8 kg 21.16.2.201.AL.20

Center guiding profi le, for roller track support length 4 m 3.6 kg 21.16.2.201.AL.40

Center guiding profi le, for roller track support cut to length 0.9 kg / m 21.16.2.201.AL/...

 /... = length in mm

Center guiding profi le 
PE, for roller track support

Technical data 
material: PE

bar length: 3 m

Description Colour   Weight   Article No.
Center guiding profi le 40, PE ivory length 3 m  2.1 kg 21.16.2.200.03.30

Center guiding profi le 40, PE ivory cut to length 0.7 kg / m 21.16.2.200.03/...

Center guiding profi le 40, PE grey length 3 m  2.1 kg 21.16.2.200.04.30

Center guiding profi le 40, PE grey cut to length 0.7 kg / m 21.16.2.200.04/...

 /... = length in mm



16.43

21.16
70

6

Roller track center guiding profi les

Center guiding profi le
Alu, for slide pipe support

Technical data 
material: Aluminium

bar length: 2 m / 4 m

Description  Weight Article No.
Center guiding profi le, for slide pipe support length 2 m 1.7 kg 21.16.2.202.AL.20

Center guiding profi le, for slide pipe support length 4 m 3.4 kg 21.16.2.202.AL.40

Center guiding profi le, for slide pipe support cut to length 0.8 kg / m 21.16.2.202.AL/...

 /... = length in mm



16.44



17.01

21.17

7

Plastic pipe collars Sleeves Bolted pipe collar Pipe hanger Label holder Label holder

Label strip 32Label clipLabel bar Sticker bar

Pipe collars, sleeves t 17.02

Labeling t 17.03

21.17 Accessories

Labeling t 17.02

clip, double-sided double-sidedsingle-sided

Position retainer t 17.06 Roller fi xture t 17.07

Ball castorsRoller bushings

Tilt rails t 17.15

Bushings t 17.08

Drink holder with 

mounting plate

Multiple tool holder

Hang up hook

Tool holder for cord-

less pistol nutrunner

Tool holder

Ring hook

42

Cable duct

10024

Pipe cover

Bottle holder

Device holder

Sliding hook Sliding hook, PA

Tool, device and bottle holder t 17.11

Tool and device holder t 17.10

Profi les t 17.16

Hooks t 17.14

Hooks t 17.13

Protective hose t 17.17

Label bag

63 98 stop

Stopper t 17.07

 with protective skin

Tool holder for

cordless screwdriver

Summary: Accessories

Product group



17.02

21.17Accessories

Plastic pipe collars

Sleeves

Bolted pipe collars

Pipe hanger

Technical data
material: PE

Technical data
material: PE

Technical data
material: PE

Application
for label holder

Technical data
material: PE

Description Weight Article No.
Plastic pipe collar, black 5 g 21.17.01.01.01

Plastic pipe collar, black, ESD 5 g 21.17.01.01.01E

Description Weight Article No.
Sleeve, black 4 g 21.17.01.02.01

Sleeve, black, ESD 4 g 21.17.01.02.01E

Description Weight Article No.
Bolted pipe collar, black 4 g 21.17.01.03.01

Description Weight Article No.
Pipe hanger, black 6 g 21.17.01.04.01



17.03

21.17

B

Ø2
8

50

7

Accessories

Label holder

Label bar

Technical data
material: plastic, transparent

Technical data
material: plastic, transparent

Description A × B Weight Article No.
Label holder  80 × 120 13 g 21.17.02.080120

Label holder  150 × 60 13 g 21.17.02.150060

Description B   Weight Article No.
Label bar 100   17 g 21.17.03.0100

Label bar 150   26 g 21.17.03.0150

Label bar  250   43 g 21.17.03.0250

Label bar  1,000   172 g 21.17.03.1000

Description A × B Weight Article No.
Label holder 215 × 160 45 g 21.17.02.215160

Label holder 300 × 120 47 g 21.17.02.300120

Label holder 300 × 220 90 g 21.17.02.300220

Label holder 430 × 310 174 g 21.17.02.430310



17.04

21.17

Ø27

30

32
30

.5

5.3

Accessories

Label clip

Label strip 32

Technical data
material: POM, white

Technical data
material: PVC, transparent

length: 2 m

Description    Weight Article No.
Label clip for pipe-Ø 28-30 7 g 21.17.03.2.00

Description    Weight Article No.
Label strip 32     length 2 m 126 g 21.17.03.2.32.20

Label strip 32     cut to length 63 g/m 21.17.03.2.32/...

 /... = length in mm



17.05

21.17
18

.5
37

.9

41

0.
4

30
.5

2.1

2.9 7

Accessories

Sticker bar Technical data
material: PVC, grey

length: 4 m

Description    Weight Article No.
Sticker bar   length 4 m 1,240 g 21.17.03.3.05.40

Sticker bar   cut to length 310 g/m 21.17.03.3.05/...

 /... = length in mm

Label bag Technical data
material: PVC, transparent

length: 2 m

Description    Weight Article No.
Label bag, self-adhesive length 2 m 620 g 21.17.03.4.00.20

Label bag, self-adhesive cut to length 310 g/m 21.17.03.4.00/...

 /... = length in mm



17.06

21.17

12

Ø28

63

12

Ø28
98

Accessories

Position retainer

Double-sided position retainer

Technical data
material: PE

Technical data
material: PE

Description Weight Article No.
Position retainer 63, black, with screw M4×20 12 g 21.17.04.063.01

Position retainer 63, black, ESD, with screw M4×20 12 g 21.17.04.063.01E

Description Weight Article No.
Double-sided position retainer, black 15 g 21.17.04.122.01

Double-sided position retainer, black, ESD 15 g 21.17.04.122.01E

Description Weight Article No.
Position retainer 98, black, with screw M4×20 17 g 21.17.04.098.01

Position retainer 98, black, ESD, with screw M4×20 17 g 21.17.04.098.01E



17.07

21.17

Ø5

28
5690

°

7

Accessories

Roller fi xture
single-sided

double-sided

Technical data
material: steel, galvanised

Description Weight Article No.
Roller fi xture, single-sided 48 g 21.17.05.01

Description Weight Article No.
Roller fi xture, double-sided 59 g 21.17.05.02

Stopper stop Technical data
material: steel, galvanised

Description Weight Article No.
Stopper stop for pipes Ø 28 234 g 21.17.04.228.2



17.08

21.17

Roller bushings
for ABS coated pipes
with a wall thickness of 1.0 mm

for stainless steel pipe
with a wall thickness of 1.2 mm

Accessories

Technical data
material: PE

Description Weight Article No.
Roller bushing for ABS coated pipes, 1.0 mm, black 9 g 21.17.05.03.01

Roller bushing for ABS coated pipes, 1.0 mm, black, ESD 9 g 21.17.05.03.01E

Description Weight Article No.
Roller bushing for stainless steel pipe, 1.2 mm, black 9 g 21.17.05.04.01

Roller bushing for stainless steel pipe, 1.2 mm, black, ESD 9 g 21.17.05.04.01E



17.09

21.17

4048.5
Ø4.

5

21

7

Accessories

Ball castors
21

31

Technical data
material: steel

Description Weight Article No.
Ball castor 21 45 g 21.17.06.021

Description Weight Article No.
Ball castor 31 141 g 21.17.06.031



17.10

21.17

73

35

62

40

Ø5

Accessories

Tool holder

Multiple tool holder
for up to 8 tools

Technical data
material: steel, black

Description Weight Article No.
Tool holder 221 g 21.17.08.01

Description Weight Article No.
Multiple tool holder 115 g 21.17.08.02

Device holder

Technical data
material:

case: PE

rubber band: EPDM

Description Weight Article No.
Device holder  37 g 21.17.08.03

Application
Device and tool holder for 

stick Ø20-30 mm



17.11

21.17

25

101

10
1

66
10

M6
51

48

45

Ø50

24

M8

35

70

85

Ø9

Ø45

Ø28

36

7

Accessories

Description Weight Article No.
Tool holder for cordless screwdriver 160 g 21.17.08.10

Tool holder
for cordless screwdriver

Technical data 
material: PA   

colour: green

Description Weight Article No.
Tool holder for cordless pistol nutrunner 184 g 21.17.08.11

Tool holder
for cordless pistol nutrunner

Technical data 
material: POM

colour: white



17.12

21.17

11
2

23

70

Ø5.5

Øi9
6

11
8

18
.55060

32

100120

15
9

18
0

Øi9
5

14
0

Ø6

71

Accessories

Bottle holder Technical data
Material: steel wire

colour: light gray

Description Weight Article No.
Bottle holder 400 g 21.17.08.13

Mounting
2 × M6 with hole distance 180 mm

Description Weight Article No.
Drink holder with mounting plate, bore hole 2 × M5 146 g 21.17.08.12

Drink holder
with mounting plate

Technical data 
material: PA, fi berglass reinforced  

colour: black



17.13

21.17

7

Accessories

Hook
24

42

100

Technical data
material: steel, powder coated

Technical data
material: steel, powder coated

Technical data
material: steel, nickel plated

Description Weight Article No.
Hook 24 1 g 21.17.09.01

Description Weight Article No.
Hook 42 2 g 21.17.09.02

Description Weight Article No.
Hook 100 47 g 21.17.09.03



17.14

21.17

17
5

47

70

42
29

Accessories

Ring hook

Hang up hook

Sliding hooks

Technical data
material: steel, nickel plated

Technical data
material: steel, nickel plated

Technical data
material: steel, nickel plated

Description Weight Article No.
Ring hook 6 g 21.17.09.04

Description Weight Article No.
Hang up hook 5 g 21.17.09.05

Description Weight Article No.
Sliding hook 210 g 21.17.09.06

Description Weight Article No.
Sliding hook, PA 130 g 21.17.09.07

Technical data
material:

roller: PA

hook: steel, nickel plated



17.15

21.17

D

BØ32

7

Accessories

Tilt rails Technical data
material: steel, nickel plated

Description B D Weight Article No.
Tilt rail 200 32 186 g 21.17.10.200

Tilt rail 250 32 209 g 21.17.10.250

Tilt rail 300 32 231 g 21.17.10.300

Tilt rail 400 30 278 g 21.17.10.400



17.16

21.17

Ø28

27

19

Accessories

Pipe cover Technical data
material: PE

Description  Colour Weight  Article No.
Pipe cover ivory length 3 m 2.0 kg 21.17.15.036036.30

Pipe cover ivory cut to length 0.67 kg / m 21.17.15.036036/...

 /... = length in mm

Inside

Cable duct Technical data
material: PE

Description    Weight  Article No.
Cable duct base   length 3 m 0.9 kg 21.17.16.01.30

Cable duct base   cut to length 0.3 kg / m 21.17.16.01/...

 /... = length in mm

Description   Weight Article No.
Cable duct cover  length 3 m 0.6 kg 21.17.16.02.30

Cable duct cover  cut to length 0.2 kg / m 21.17.16.02/...

 /... = length in mm



17.17

21.17

Ø28

9

Ø28
4

7

Accessories

Protective hose

Protective hose
with protective skin

Technical data
material: PE

colour: grey

Technical data
material: PE

colour: blue

roll: 10 m

Description   Weight Article No.
Protective hose  length 2 m 0.76 kg 21.17.17.05.20

Protective hose  cut to length 0.38 kg / m 21.17.17.05/...

 /... = length in mm

Description   Weight Article No.
Protective hose with protective skin roll 10 m 280 g 21.17.17.06.10



17.18

21.17Accessories



18.01

21.18

8

Panel elements t 18.02

21.18 Panel elements

Summary: Panel elements

Chipboards Alu-plastic

composite panels

Edge protectionSolid plastic panels Structured-core

panels

Polycarbonat

(Makrolon)

Product group



18.02

21.18

Chipboards
both sides coated with melamine

Technical data  

surface: both sides coated with melamine  

structure: mini pearl  

RAL 7035: light grey  

formaldehydemission: complies to safety standards §9 paragraph 3 

light-fastness: point 6 as per DIN 53799  

temperature resistance: - 25°C to 130°C  

chemical resistance: resistant against organic food, light acid contents and alkaline 

 solution, gasoline, oil, tested as per DIN 53799 

chipboard:  high frequency glued laminated chipboard  

Technical values on DIN 68765 and 53799 

bulk density: approx. 700 kg/m³  

thickness tolerance: +0.5 -0.3 mm  

weight: S = 8 mm 5.6 kg/m²

 S = 19 mm 13.3 kg/m²

cut to length: 1.82.äää-99/ääää×ääää

1.82.äää-99/ääää×ääää type

1.82.äää-99/ääää×ääää length×width in mm

Description S RAL Weight Article No.
Chipboard 8 7035 32 kg 1.82.083.00

Chipboard 19 7035 75 kg 1.82.193.00

Panel elements



18.03

21.18

8

Solid plastic panels
coated with melamine

Description S RAL Weight Article No.
Solid plastic panel  4 7035 33 kg 1.83.043.00

Solid plastic panel 8 7035 66 kg 1.83.083.00

 Technical data 

surface: both sides coated with melamine 

structure: mini pearl 

RAL 7035: light grey 

solid plastic panel:  made of Phenolplastic high pressure plate (HPL) of laminated

 material with all generally known merits of this substance.

 Technical values on DIN 19926 and 53799 

bulk density: approx. 1,500 kg/m³ 

thickness tolerance: -0.6 mm 

weight: S = 4 mm 6 kg/m²

 S = 8 mm 12 kg/m²

cut to length: 1.83.äää-99/ääää×ääää

1.83.äää-99/ääää×ääää type

1.83.äää-99/ääää×ääää length×width in mm

Panel elements



18.04

21.18
12

20

3050 S

Panel elements

Description S Weight Article No.
Alu-plastic composite panel 4 20.5 kg 1.85.040.00

Alu-plastic composite panel 6 27.2 kg 1.85.060.00

Alu-plastic composite panels

 Technical data 

alu-plastic composite panel: PE with alu coating on both sides 

surface: natural anodised, E6/EV1 

temperature resistance: - 50°C to 80°C 

chemical resistance: resistant against organic food, light acid contents and   

 alkaline solutions, gasoline, oil

thickness tolerance: -0.6 mm 

weight: S = 4 mm 5.5 kg/m²

 S = 6 mm 7.3 kg/m²

cut to length: 1.85.äää-99/ääää×ääää

1.85.äää-99/ääää×ääää type

1.85.äää-99/ääää×ääää length×width in mm



18.05

21.18

B
A

21

24

21
00

2400 S

12
50

2000 S

8

Panel elements

Structured-core panels

Edge protection

Technical data
material: PP

colour: black, grey, blue

Technical data
material: PP

colour: black

length: 2 m

Description S Colour similar to RAL Weight Article No.
Structured-core panel, ESD 5  black  5.1 kg 1.85.1.050.01E.00   

Structured-core panel 5  grey 7001 5.1 kg 1.85.1.050.05.00   

Structured-core panel 10 grey 7001 12.6 kg 1.85.1.100.05.00   

Description S Colour similar to RAL Weight Article No.
Structured-core panel 5  blue 5017 2.8 kg 1.85.1.050.07.00   

Description A B  Weight Article No.
Edge protection 5  9.8  226 g 1.85.1.K05.01.20   

Edge protection, ESD 5  9.8  226 g 1.85.1.K05.01E.20   

Edge protection 10  14.8  263 g 1.85.1.K10.01.20   

Edge protection, ESD 10 14.8  263 g 1.85.1.K10.01E.20   

The ESD version is marked with a yellow stripe



18.06

21.18Panel elements

Description S Colour Weight Article No.
Polycarbonate 4 transparent 28.8 kg 1.87.041.00

Polycarbonate 4 UV bronze 2850 28.8 kg 1.87.042.00

Polycarbonate 5 transparent 36.0 kg 1.87.051.00

Polycarbonate 5 UV bronze 2850 36.0 kg 1.87.052.00

Polycarbonate 6 transparent 43.2 kg 1.87.061.00

Polycarbonate 6 UV bronze 2850 43.2 kg 1.87.062.00

Polycarbonate 8 transparent 57.6 kg 1.87.081.00

Polycarbonate 8 UV bronze 2850 57.6 kg 1.87.082.00

Polycarbonate (Makrolon)

 Technical data 

thickness tolerance: +0.8 mm 

weight: S = 4 mm 4.8 kg/m²

 S = 5 mm 6.0 kg/m²

 S = 6 mm 7.2 kg/m²

 S = 8 mm 9.6 kg/m²

cut to length: 1.87.äää-99/ääää×ääää

1.87.äää-99/ääää×ääää type

1.87.äää-99/ääää×ääää length×width in mm

Application
Doors, panels and guards with stringent 

security requirements as polycarbonate offers 

high impact resistance and strength against 

breakage

Mechanical properties at 20 °C  

maximum extent of fl ex   68.7 MN/m²

break / shear point   > 110.0 %

compression   78.5 MN/m²

elasticity   2,256.0 MN/m²

marring resistance   392.4 J/m²

impact resistance (kJ/m²)   no break

tensile strength   68.7 MN/m²

Thermal properties   

temperature distortion according to ‘Vicat’   170 °C

melting point   170 °C

temperature range under static load  -100 °C to 130 °C



99.01

21.99

9

Screws and nuts t 99.02 Tools t 99.04

21.99 Screws and nuts, tools

Summary: Screws and nuts, tools

Pipe cutter for ABS 

coated pipes

Pipe cutter for stain-

less steel pipes

Pipe deburrer Step drills

for cross bushing

Product group



99.02

21.99

Srews and nuts

Srews and nuts

Description Weight Article No.
Connector screw M6×10, black 4 g 0.63.0912.06010.1

Connector screw M6×10, silver electroplated 4 g 0.63.0912.06010.2

Connector screw M6×25, black 7 g 0.63.0912.06025.1

Connector screw M6×25, silver electroplated 7 g 0.63.0912.06025.2

Connector nut M6, black 2 g 21.99.61.A06.1

Connector nut M6, silver electroplated 2 g 21.99.61.A06.2

Connector nut M6, black, self-locking 2 g 21.99.61.A06S.1

Connector nut M6, silver electroplated, self-locking 2 g 21.99.61.A06S.2

Description Weight Article No.
Socket head cap screw DIN EN ISO 4762, M3×10, black 1 g 0.63.4762.03010.1

Socket head cap screw DIN EN ISO 4762, M3×10, silver electropl. 1 g 0.63.4762.03010.2

Hexagonal nut DIN 934 - M3, black 1 g 0.61.D00934.03.1

Hexagonal nut DIN 934 - M3, silver electroplated 1 g 0.61.D00934.03.2

Description Weight Article No.
Socket head cap screw DIN 6912, M8×40, silver electroplated 17 g 0.63.D06912.08040 

Hexagonal nut DIN 934 - M8 4 g 0.61.D00934.08

for joints

for pipe clamps

Locking screws

for castor mounting sets

Description Weight Article No.
Drilling screw DIN 7504 M-H lens head PH with pressed-on washer

M4.2×13, black 2 g 0.63.7504.4.2x131

M4.2×13, silver electroplated 2 g 0.63.7504.4.2x132

M4.2×19, black 3 g 0.63.7504.4.2x191

M4.2×19, silver electroplated 3 g 0.63.7504.4.2x192



99.03

21.99

9

for foot plates

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, silver electropl. 4.0 g 0.63.0916.10012.2 

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08.4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Description Weight Article No.
Mounting set for footplate with 45 mm square 39.0 g 30.15.S2

Single parts of the mounting set

Description Pcs. Weight Article No.
Hexagonal screw DIN 931, M8×70 1 31.0 g 0.63.D00931.08070 

Washer DIN 125 - 8.4 2 1.6 g 0.62.D00125.A08.4

Hexagonal nut DIN 985 - M8, self-locking 1 4.8 g 0.61.D00985.08

Screws and nuts

Screws and nuts



99.04

21.99Tools

Pipe cutter

Description Weight Article No.
Pipe cutter for ABS coated pipes with Ø28-32 mm 335 g 21.99.01

Description Weight Article No.
Pipe cutter for stainless steel pipes with Ø28-32 mm 1.100 g 21.99.02

Pipe deburrer

Description Weight Article No.
Pipe deburrer for inner and outer diameter up to Ø32 mm 190 g 21.99.10



99.05

12 98

Ø1
5

Ø1
2

21.99

9

Step drills
for cross bushing

Tools

Technical data
material: HSS or VHM

2 cutting edges 

off-centre cutting edges 

Description     Weight Article No.
Step drill, HSS      109 g 21.99.0321512HSS  

Step drill, VHM      109 g 21.99.0321512VHM   



99.06



A.01

A

Subject index

A  
Accessories 17.01

 Bottle holder 17.01

 Bushings 17.01

 Hooks 17.01

 Labeling 17.01

 Pipe collars, sleeves 17.01, 17.02

 Position retainer 17.01

 Protective hose 17.01

 Roller fi xture 17.01

 Stopper 17.01

 Tilt rails 17.01

 Tool and device holder 17.01

 Tool holder 17.01

Adapter bridge 40, round 16.31

Adapter for Roller track support 40 16.17

Adaptors 13.01

Aluminium pipe 11.06

Aluminium pipe profi le 11.06

Aluminium pipes Ø 28 11.06

Alu-plastic composite panels 18.04

Anchor 12.22

Angle joints 12.03, 12.04, 12.10

Approximate determination of 
 defl ection 11.11

Article number index B.1

  

B  
Ball castors 17.09

 21 17.09

 31 17.09

Bolted pipe collars 17.02

Bottle holder 17.12

  

C  
Cable duct 17.16

 cover 17.16

Calculation of the tube cutting  
 lengths 11.09

Caps 14.01

Castor fastening 15.12, 15.20

 Blickle 15.12

 Tente 15.20

Castor mounting sets 15.23

 for castors with mounting plates 15.23

Castors 15.01, 15.05

 Blickle 15.01, 15.09, 15.10

 Castor mounting sets 15.23

 Clamping bush 15.21

 Fundamental 15.05

 Locking foot 15.22

 Screw-on element 15.29

 Spacer plate 15.24

 Tente 15.01, 15.15, 15.16

Center guiding profi les 16.41, 16.42

 Alu 16.42

 Alu, for roller track support 16.43

 PE 16.42

Chipboards 18.02

Clamping bush 15.21

 Plastic 15.21

 Steel 15.21

Connection elements 12.17

 Cross connector 12.17

 Panel holder 12.17

 Pipe extensions 12.17

 Slide pipe joints 12.17

Connection possibilities for Ø 28 pipe  
 to Ø 28 pipe 12.23

Connection system 12.01

 System 1: Joints 12.01, 12.03

 System 2: MayConnect pipe connector,  

 inside 12.01, 12.23

Connector sleeve 12.22

Cover caps 14.02

Cross bushing 12.22

Cross connector 12.17, 12.18

Crossover joints 12.03, 12.06, 12.11

Curved pipes 11.08

D  
Defl ection 11.10

 Example 11.14

Defl ection of aluminium pipes 11.12

Defl ection of steel and stainless  
 steel pipes 11.11

Defl ection under line load 16.11

Device holder 17.10

Double-sided position retainer 17.06

Drink holder 17.12

  

E  
Edge protection 18.05

End caps 14.02

End plugs 14.03

 stainless steel 4.03

Extension clip for side guiding profi le  
 with offset 16.22

  

F  
Flat pipe 11.04

Flat pipe joint 12.03, 12.04, 12.12

Footplates for pipes 15.01, 15.25

 center with post 15.28

 corner 15.25

 corner left 15.26

 corner right 15.27

Forklift guides 15.01, 15.29

 narrow 15.29

  

H  
Hang up hook 17.14

Hinge joints 12.03, 12.06, 12.11

Hook 17.13

 24 17.13

 42 17.13

 100 17.13

 Hang up 17.14

 Ring 17.14

 Sliding 17.14

I  
Intermediary 12.22

  

J  
Joints 12.03

 Load values 12.14

 Locking screw 12.15

  

L  
Label bag 17.05

Label bar 17.03

Label clip 17.04

Label holder 17.03

Label strip 17.04

 32 17.04

 55 17.04

Load capacity 11.13

 of the roller tracks 16.11

Load capacity of the roller tracks 16.11

 Defl ection under line load 16.11

Load values 12.14

Locking foot 15.22

Locking screw 12.15, 99.02

  

M  
Makrolon 18.06

MayConnect 12.21

 Assembly of pipe connector 12.36

 Connection possibilities for Ø 28 pipe  

 to Ø 28 pipe 12.23

 Numerical key for articles 12.22

 Pipe connector components 12.30

 Pipe connector for Ø 28 pipe  

 to Ø 28 pipe 12.24

 Pipe connector for Ø 28 pipe  

 to panel element 12.29

 Pipe connector for Ø 28 pipe  

 to pipe profi le Ø 28 12.26

 Pipe connector for Ø 28 pipe  

 to profi le 12.28

 Pipe connectors, inside 12.21

Mounting accessories 13.01

 Adaptors 13.01

 Pipe clamps, pipe clips 13.01

 Plate support 13.01

 Screw-on pipe clamps 13.01

 Shock absorber 13.01

Mounting clamp 16.16

Multiple tool holder 17.10

  

N  
Numerical key for articles 12.22

 Anchor 12.22

 Castors 15.05, 15.14

 Connector sleeve 12.22

 Cross bushing 12.22

 Intermediary 12.22

 Pipes 11.02

  



A.02

Subject index

P  
Panel elements 18.01

 Alu-plastic composite panels 18.04

 Chipboards 18.02

 Polycarbonat (Makrolon) 18.06

 Solid plastic panels 18.03

 Structured-core panels 18.05

Panel holder 12.17, 12.19

 type A 12.19

 type B 12.19

Parallel joints 12.03, 12.06, 12.12

Pipe clamp 13.04

 Double sided 13.04

 PE 13.05

 quick lock 13.06

 Single sided 13.04

 wide 13.04

Pipe clamps PE 13.05

 type B 13.05

Pipe clips 13.05, 13.06

 PE 13.05

Pipe connector for Ø 28 pipe to 

 Ø 28 pipe 12.24

 panel element 12.29

 pipe profi le Ø 28 12.26

 to profi le 12.28

Pipe cover 17.16

Pipe cutter 99.04

 for ABS coated pipes 99.04

 for stainless steel pipes 99.04

Pipe deburrer 99.04

Pipe extension 12.03, 12.06, 12.12

Pipe extensions 12.17, 12.18

Pipe hanger 17.02

Pipe holder one piece 13.08

Pipes 11.01

 Approximate determination of  

 defl ection 11.11

 Defl ection 11.10

 Defl ection of aluminium pipes 11.12

 Defl ection of steel and stainless  

 steel pipes 11.11

 Load capacity 11.13

 Numerical key for articles 11.02

 Steel pipe, ABS coated 11.03

Plastic pipe collars 17.02

Plate support 13.01

 corner 13.07

Polycarbonat (Makrolon) 18.06

Position retainer 17.06

Profi le adaptor 13.07

 90° 13.07

 two piece 13.08

Protective hose 17.17

 with protective skin 17.17

  

R  
Register 0.01

Ring hook 17.14

Roller bushings 17.08

 for ABS coated pipes 17.08

 for stainless steel pipe 17.08

Roller fi xture 17.07

 double-sided 17.07

 single-sided 17.07

Roller track 35 16.02, 16.05, 16.13

 Adapter for Roller track support 40 16.17

 Mounting clamp 16.16

 Roller track 35 with offset 16.13

 Roller track bridge 35 16.17

 Roller track extension 35 16.17

 Roller track support 35 16.15

 Roller track support 35 with offset 16.16

 Side guiding profi le 35 16.14

Roller track 35 with offset 16.13

Roller track 40 16.02, 16.06, 16.18

 Adapter bridge 40, round 16.31

 fl at 16.19

 low noise (ln) 16.18

 Roller track brake 40 16.32

 Roller track bridge 40 16.31

 Roller track extension 40 16.30

 Roller track overlay 40 16.30

 Roller track support 40 16.24

 Side guiding profi le 16.21

Roller track 60 16.02, 16.08, 16.33

 fl at 16.33

 Roller track extension 60 16.36

 Roller track overlay 60 16.36

 Roller track support 60 16.34

Roller track 85 16.02, 16.09, 16.37

 Roller track bridge 85 16.40

 Roller track extension 85 16.40

 Roller track overlay 85 16.40

 Roller track support 85 16.38

Roller track brake 40 16.32

 fl at 16.32

 for roller track 40 with edge rollers 16.32

Roller track bridge 35 16.17

Roller track bridge 40 16.31

 angular 16.31

 round 16.31

Roller track bridge 85 16.40

Roller track center guiding profi les 16.41

 Center guiding profi le 16.42

Roller track extension 16.17, 16.30

 35 16.17

 40 16.30

 60 16.36

 85 16.40

Roller track link 13.09

Roller track overlay 40 16.30

 short 16.30

 type B 16.30

Roller track overlay 60 16.36

Roller track overlay 85 16.40

 short 16.40

Roller track support 35 16.15

 for profi les 16.17

 round 16.15

 type B 16.15

Roller track support 35 with offset 16.16

 round 16.16

 Typ B 16.16

Roller track support 40 16.24

 bracket left 16.24

 bracket right 16.24

 for mountig over joint 16.24

 for mountig over joint 16.26

 for profi les 40 16.28

 for profi les 40, hinged 16.29

 with offset 16.26

 with return stop 16.27

 with stop 16.25

Roller track support 40 for  
 profi les 40 16.28

 hinged 16.29

 hinged, with offset 16.29

 hinged, with rear stop 16.29

 with front stop 16.28

 with offset 16.28

 with rear stop 16.28

Roller track support 40 with stop 16.25

 bracket left 16.25

 bracket right 16.25

 for mountig over joint 16.26

 type B 16.25

Roller track support 60 16.34

 for mountig over joint 16.34

 with offset 16.35

 with return stop 16.35

Roller track support 60 with offset 16.35

 for mountig over joint 16.35

Roller track support 60 with stop 16.34

 type B 16.34

 type B, for mountig over joint 16.34

Roller track support 85 16.38

 bracket left 16.38

 bracket right 16.38

 with offset 16.39

Roller track support 85 with stop 16.39

 type B, bracket left 16.39

 type B, bracket right 16.39

Roller tracks 40 with edge rollers 16.20

 low noise (ln) 16.20

Rubber cap 14.02

  

S  
Screw-on element 15.29

 for bolt hole castors and adjustable  

 feet 15.29

Screw-on pipe clamp 13.01, 13.02

 center 13.03

 center, sliding 13.03

 fl ush 13.02

 Sliding sleeve 13.03

Screws and nuts 99.01, 99.02

Shock absorber 13.01, 13.10

 clamp 13.10

Side guiding profi le 16.03, 16.10

Side guiding profi le 35 16.14

 PE 16.14

 with offset, PE 16.14

Side guiding profi le 40 16.21

 Extension clip 16.22

 with offset 16.22

Sleeves 17.02

Slide pipe 11.04

Slide pipe bridge 12.20

 rounded 12.20

 square 12.20



A.03

A

Subject index

Slide pipe joints 12.17, 12.19, 12.20

 Slide pipe joint union 12.20

 Slide pipe joint with offset 12.20

 with stop 12.19

Sliding hooks 17.14

Sliding joints 12.03, 12.06, 12.13

Sliding sleeve 13.03

Slip on feet 15.01, 15.02

 fl at 15.02

 round 15.02

 square 15.02

Solid plastic panels 18.03

Spacer plate 15.07, 15.24

Special characters 11.03

Srews and nuts 99.02

 for castor mounting sets 99.02

 for foot plates 99.03

 for joints 99.02

 for pipe clamps 99.02

 Locking screws 99.02

Stainless steel pipes Ø 28 11.04

Standard joints 12.03, 12.04, 12.08

Standard joints overlapping joint  

 12.03, 12.04, 12.09

Standard pipe 11.04

Steel pipe, ABS coated 11.03

Steel pipes Ø 28 11.04

 Flat pipe 11.04

 Slide pipe 11.04

 Standard pipe 11.04

Step drills for cross bushing 99.05

Sticker bar 17.05

Stopper stop 17.07

Structured-core panels 18.05

 Edge protection 18.05

Subject index A.1

Summary  

 Accessories 17.01

 Caps, plugs and threaded inserts 14.01

 Connection elements 12.17

 Connection system 12.01

 Feet, castors and footplates 15.01

 Mounting accessories 13.01

 Panel elements 18.01

 Pipes 11.01

 Roller track 35 16.02, 16.05

 Roller track 40 16.02, 16.06

 Roller track 60 16.02, 16.08

 Roller track 85 16.02, 16.09

 Roller tracks, complete 16.02

 Screws and nuts, tools 99.01

 Side guiding profi le 16.03, 16.10

Summary: Joints 12.03

 Angle joints 12.03

 Crossover joints 12.03

 Flat pipe joint 12.03

 Hinge joints 12.03

 Parallel joints 12.03

 Pipe extension 12.03

 Sliding joints 12.03

 Standard joints 12.03

 Standard joints overlapping joint 12.03

Summary: Total 10.01

 Accessories 10.17

 Caps, plugs and threaded inserts 10.06

 Center guiding profi les for all  

 roller tracks 10.16

 Connection elements 10.03

 Feet, castors and footplates 10.07

 Joints 10.02

 MayConnect: Pipe connectors, inside 10.04

 Mounting accessories 10.05

 Panel elements 10.18

 Pipes 10.01

 Roller track 10.08

 Roller track 35 10.11

 Roller track 40 10.12

 Roller track 60 10.14

 Roller track 85 10.15

 Screws and nuts, tools 10.19

Symbols 11.03

  

T  
Table of contents 0.03

Table top joint 13.09

Threaded feet 15.01, 15.03

 fl at 15.04

 with rubber pad 15.04

Threaded inserts 14.01, 14.04

 for ABS coated pipes 14.04

 for stainless steel pipes 14.04

Tilt rails 17.15

Tool holder 17.10

 for cordless pistol nutrunner 17.11

 for cordless screwdriver 17.11

Tools 99.01, 99.04

 Pipe cutter 99.04

 Pipe deburrer 99.04

 Step drills for cross bushing 99.05



A.04

Subject index



B.01

0.6
0.61.D00934.03.1 .................... 99.02

0.61.D00934.03.2 .................... 99.02

0.61.D00934.08 ....................... 99.02

0.61.D00985.08 ....................... 99.03

0.62.D00125.A08,4 .................. 99.03

0.62.D00433.08,4 .................... 99.03

0.62.D2520108 ........................ 99.03

0.63.0912.06010.1................... 99.02

0.63.0912.06010.2................... 99.02

0.63.0912.06025.1................... 99.02

0.63.0912.06025.2................... 99.02

0.63.0916.10012.1................... 99.03

0.63.0916.10012.2................... 99.03

0.63.4762.03010.1................... 99.02

0.63.4762.03010.2................... 99.02

0.63.7504.4,2x131 ................... 99.02

0.63.7504.4,2x132 ................... 99.02

0.63.7504.4,2x191 ................... 99.02

0.63.7504.4,2x192 ................... 99.02

0.63.D00931.08070 ................. 99.03

0.63.D06912.08020 ................. 99.03

0.63.D06912.08040 ................. 99.02

 

1.21.
1.21.A1E0 ................................. 12.35

1.21.A1E0V ............................... 12.35

1.21.A1E1 ................................. 12.35

1.21.A1E1V ............................... 12.35

1.21.A1E2 ................................. 12.35

1.21.A1E2V ............................... 12.35

1.21.A1EK1 ............................... 12.35

1.21.A1EK1V ............................. 12.35

1.21.A1EK2 ............................... 12.35

1.21.A1EK2V ............................. 12.35

1.21.A1F0 ................................. 12.35

1.21.A1F0V ............................... 12.35

1.21.A1F1 ................................. 12.35

1.21.A1F1V ............................... 12.35

1.21.A1F2 ................................. 12.35

1.21.A1F2V ............................... 12.35

1.21.A1FK1 ............................... 12.35

1.21.A1FK1V ............................. 12.35

1.21.A1FK2 ............................... 12.35

1.21.A1FK2V ............................. 12.35

1.21.A1G1 ................................ 12.31

1.21.A1G1V .............................. 12.31

1.21.A1G2 ................................ 12.31

1.21.A1G2V .............................. 12.31

1.21.A1SM8/11 ........................ 12.35

1.21.A1SM8/11V....................... 12.35

1.21.A1V0................................. 12.31

1.21.A1V0V ............................... 12.31

 

1.45.
1.45.11050............................... 15.10

1.45.11075............................... 15.10

1.45.11075E ............................. 15.10

1.45.11100............................... 15.10

1.45.11100E ............................. 15.10

1.45.11125............................... 15.10

1.45.12050............................... 15.10

1.45.12075............................... 15.10

1.45.12075E ............................. 15.10

1.45.12100............................... 15.10

1.45.12100E ............................. 15.10

1.45.12125............................... 15.10

1.45.21050............................... 15.10

1.45.21075............................... 15.10

1.45.21075E ............................. 15.10

1.45.21100............................... 15.10

1.45.21100E ............................. 15.10

1.45.21125............................... 15.10

1.45.22050............................... 15.10

1.45.22075............................... 15.10

1.45.22075E ............................. 15.10

1.45.22100............................... 15.10

1.45.22100E ............................. 15.10

1.45.22125............................... 15.10

1.45.2A21050.0401 ................. 15.16

1.45.2A21075.0751 ................. 15.16

1.45.2A21100.1001 ................. 15.16

1.45.2A21100.1002 ................. 15.16

1.45.2A21125.1001 ................. 15.16

1.45.2A21125.1002 ................. 15.16

1.45.2A21150.1001 ................. 15.16

1.45.2A21150.1002 ................. 15.16

1.45.2A31050.0401 ................. 15.16

1.45.2A31075.0751 ................. 15.16

1.45.2A31100.1001 ................. 15.16

1.45.2A31100.1002 ................. 15.16

1.45.2A31125.1001 ................. 15.16

1.45.2A31125.1002 ................. 15.16

1.45.2A31150.1001 ................. 15.16

1.45.2A31150.1002 ................. 15.16

1.45.2B12100.0702 ................. 15.16

1.45.2B12100.1601 ................. 15.16

1.45.2B12125.1002 ................. 15.16

1.45.2B12125.2501 ................. 15.16

1.45.2B12160.1352 ................. 15.16

1.45.2B12160.3001 ................. 15.16

1.45.2B12200.2051 ................. 15.16

1.45.2B12200.4001 ................. 15.16

1.45.2B22100.0702 ................. 15.18

1.45.2B22100.1601 ................. 15.18

1.45.2B22125.1002 ................. 15.18

1.45.2B22125.2501 ................. 15.18

1.45.2B22160.1352 ................. 15.18

1.45.2B22160.3001 ................. 15.18

1.45.2B22200.2051 ................. 15.18

1.45.2B22200.4001 ................. 15.18

1.45.2B32100.0702 ................. 15.18

1.45.2B32100.1601 ................. 15.18

1.45.2B32125.1002 ................. 15.18

1.45.2B32125.2501 ................. 15.18

1.45.2B32160.1352 ................. 15.18

1.45.2B32160.3001 ................. 15.18

1.45.2B32200.2051 ................. 15.18

1.45.2B32200.4001 ................. 15.18

1.45.2C21100.1001 ................. 15.16

1.45.2C21100.1002 ................. 15.16

1.45.2C21125.1001 ................. 15.16

1.45.2C21125.1002 ................. 15.16

1.45.2C21150.1001 ................. 15.16

1.45.2C22100.1001 ................. 15.18

1.45.2C22100.1002 ................. 15.18

1.45.2C22125.1001 ................. 15.18

1.45.2C22125.1002 ................. 15.18

1.45.2C22150.1001 ................. 15.18

1.45.2C31100.1001 ................. 15.16

1.45.2C31100.1002 ................. 15.16

1.45.2C31125.1001 ................. 15.16

1.45.2C31125.1002 ................. 15.16

1.45.2C31150.1001 ................. 15.16

1.45.2C32100.1001 ................. 15.18

1.45.2C32100.1002 ................. 15.18

1.45.2C32125.1001 ................. 15.18

1.45.2C32125.1002 ................. 15.18

1.45.2C32150.1001 ................. 15.18

1.45.2D22100.1201 ................. 15.18

1.45.2D22100.1202 ................. 15.18

1.45.2D22125.1301 ................. 15.18

1.45.2D22125.1302 ................. 15.18

1.45.2D22150.1501 ................. 15.18

1.45.2D22150.1502 ................. 15.18

1.45.2D32100.1201 ................. 15.18

1.45.2D32100.1202 ................. 15.18

1.45.2D32125.1301 ................. 15.18

1.45.2D32125.1302 ................. 15.18

1.45.2D32150.1501 ................. 15.18

1.45.2D32150.1502 ................. 15.18

1.45.31050............................... 15.10

1.45.31075............................... 15.10

1.45.31075E ............................. 15.10

1.45.31100............................... 15.10

1.45.31100E ............................. 15.10

1.45.31125............................... 15.10

1.45.32050............................... 15.10

1.45.32075............................... 15.10

1.45.32075E ............................. 15.10

1.45.32100............................... 15.10

1.45.32100E ............................. 15.10

1.45.32125............................... 15.10

 

1.8
1.82.083.00.............................. 18.02

1.82.193.00.............................. 18.02

1.83.043.00.............................. 18.03

1.83.083.00.............................. 18.03

1.85.040.00.............................. 18.04

1.85.060.00.............................. 18.04

1.85.1.050.01E.00 .................... 18.05

1.85.1.050.05.00...................... 18.05

1.85.1.050.07.00...................... 18.05

B

Article number index

Article No. Page Article No. Page Article No. Page



B.02

21.11.4810.20.00.40................ 11.07

21.11.484.10.40....................... 11.07

21.11.484.20.40....................... 11.07

21.11.484.22.40....................... 11.07

21.11.484.30.40....................... 11.07

21.11.484.40.40....................... 11.07

 

21.121.
21.121.01.1.............................. 12.08

21.121.01.2.............................. 12.08

21.121.01.3.............................. 12.08

21.121.01A.1 ........................... 12.08

21.121.01A.2 ........................... 12.08

21.121.01A.3 ........................... 12.08

21.121.02.1.............................. 12.08

21.121.02.2.............................. 12.08

21.121.02.3.............................. 12.08

21.121.02A.1 ........................... 12.08

21.121.02A.2 ........................... 12.08

21.121.02A.3 ........................... 12.08

21.121.03.1.............................. 12.08

21.121.03.2.............................. 12.08

21.121.03.3.............................. 12.08

21.121.03A.1 ........................... 12.08

21.121.03A.2 ........................... 12.08

21.121.03A.3 ........................... 12.08

21.121.03B.1 ........................... 12.08

21.121.03B.2 ........................... 12.08

21.121.03B.3 ........................... 12.08

21.121.04.1.............................. 12.08

21.121.04.2.............................. 12.08

21.121.04.3.............................. 12.08

21.121.04A.1 ........................... 12.08

21.121.04A.2 ........................... 12.08

21.121.04A.3 ........................... 12.08

21.121.05.1.............................. 12.08

21.121.05.2.............................. 12.08

21.121.05.3.............................. 12.08

21.121.06.1.............................. 12.09

21.121.06.2.............................. 12.09

21.121.06.3.............................. 12.09

21.121.11.1.............................. 12.09

21.121.11.2.............................. 12.09

21.121.11.3.............................. 12.09

21.121.11A.1 ........................... 12.09

21.121.11A.2 ........................... 12.09

21.121.11A.3 ........................... 12.09

21.121.14.1.............................. 12.09

21.121.14.2.............................. 12.09

21.121.14.3.............................. 12.09

21.121.14A.1 ........................... 12.09

21.121.14A.2 ........................... 12.09

21.121.14A.3 ........................... 12.09

21.121.21.090.1....................... 12.10

21.121.21.090.2....................... 12.10

21.121.21.090.3....................... 12.10

21.121.21.090A.1 .................... 12.10

21.121.21.090A.2 .................... 12.10

21.121.21.090A.3 .................... 12.10

21.121.21.110.1....................... 12.10

21.121.21.110.2....................... 12.10

21.121.21.110.3....................... 12.10

21.121.21.110A.1 .................... 12.10

21.121.21.110A.2 .................... 12.10

21.121.21.110A.3 .................... 12.10

21.121.21.160.1....................... 12.10

21.121.21.160.2....................... 12.10

21.121.21.160.3....................... 12.10

21.121.21.160A.1 .................... 12.10

21.121.21.160A.2 .................... 12.10

21.121.21.160A.3 .................... 12.10

21.121.22.045.1....................... 12.10

21.121.22.045.2....................... 12.10

21.121.22.045.3....................... 12.10

21.121.22.045A.1 .................... 12.10

21.121.22.045A.2 .................... 12.10

21.121.22.045A.3 .................... 12.10

21.121.22.1.............................. 12.10

21.121.22.2.............................. 12.10

21.121.22.3.............................. 12.10

21.121.22A.1 ........................... 12.10

21.121.22A.2 ........................... 12.10

21.121.22A.3 ........................... 12.10

21.121.22B.1 ........................... 12.10

21.121.22B.2 ........................... 12.10

21.121.22B.3 ........................... 12.10

21.121.23.1.............................. 12.11

21.121.23.2.............................. 12.11

21.121.23.3.............................. 12.11

21.121.23A.1 ........................... 12.11

21.121.23A.2 ........................... 12.11

21.121.23A.3 ........................... 12.11

21.121.23B.1 ........................... 12.11

21.121.23B.2 ........................... 12.11

21.121.23B.3 ........................... 12.11

21.121.24.1.............................. 12.11

21.121.24.2.............................. 12.11

21.121.24.3.............................. 12.11

21.121.24A.1 ........................... 12.11

21.121.24A.2 ........................... 12.11

21.121.24A.3 ........................... 12.11

21.121.25.1.............................. 12.11

21.121.25.2.............................. 12.11

21.121.25.3.............................. 12.11

21.121.25A.1 ........................... 12.11

21.121.25A.2 ........................... 12.11

21.121.25A.3 ........................... 12.11

21.121.31.1.............................. 12.11

21.121.31.2.............................. 12.11

21.121.31.3.............................. 12.11

21.121.31A.1 ........................... 12.11

21.121.31A.2 ........................... 12.11

21.121.31A.3 ........................... 12.11

21.121.32.1.............................. 12.11

21.121.32.2.............................. 12.11

21.121.32.3.............................. 12.11

21.121.32A.1 ........................... 12.11

21.121.32A.2 ........................... 12.11

21.121.32A.3 ........................... 12.11

1.85.1.100.05.00...................... 18.05

1.85.1.K05.01.20...................... 18.05

1.85.1.K05.01E.20 .................... 18.05

1.85.1.K10.01.20...................... 18.05

1.85.1.K10.01E.20 .................... 18.05

1.87.041.00.............................. 18.06

1.87.042.00.............................. 18.06

1.87.051.00.............................. 18.06

1.87.052.00.............................. 18.06

1.87.061.00.............................. 18.06

1.87.062.00.............................. 18.06

1.87.081.00.............................. 18.06

1.87.082.00.............................. 18.06

 

21.11.
21.11.1110.07.01.40................ 11.05

21.11.1110.07.02.40................ 11.05

21.11.1110.07.03.40................ 11.05

21.11.1110.07.04.40................ 11.05

21.11.1110.07.05.40................ 11.05

21.11.1110.07.06.40................ 11.05

21.11.1110.07.07.40................ 11.05

21.11.1110.07.08.40................ 11.05

21.11.1110.07.09.40................ 11.05

21.11.1110.07.10.40................ 11.05

21.11.1110.10.01.40................ 11.05

21.11.1110.10.02.40................ 11.05

21.11.1110.10.03.40................ 11.05

21.11.1110.10.04.40................ 11.05

21.11.1110.10.05.40................ 11.05

21.11.1110.10.06.40................ 11.05

21.11.1110.10.07.40................ 11.05

21.11.1110.10.08.40................ 11.05

21.11.1110.10.09.40................ 11.05

21.11.1110.10.10.40................ 11.05

21.11.1110.20.01.40................ 11.05

21.11.1110.20.02.40................ 11.05

21.11.1110.20.03.40................ 11.05

21.11.1110.20.04.40................ 11.05

21.11.1110.20.05.40................ 11.05

21.11.1110.20.06.40................ 11.05

21.11.1110.20.07.40................ 11.05

21.11.1110.20.08.40................ 11.05

21.11.1110.20.09.40................ 11.05

21.11.1110.20.10.40................ 11.05

21.11.111E.07.01.40 ................ 11.05

21.11.111E.10.01.40 ................ 11.05

21.11.111E.20.01.40 ................ 11.05

21.11.1120.10.01.40................ 11.05

21.11.1120.10.02.40................ 11.05

21.11.1120.10.03.40................ 11.05

21.11.1120.20.05.40................ 11.05

21.11.112E.10.01.40 ................ 11.05

21.11.1130.10.01.40................ 11.05

21.11.113E.10.01.40 ................ 11.05

21.11.301E.07.00.40 ................ 11.05

21.11.301E.12.00.40 ................ 11.05

Article number index

Article No. Page Article No. PageArticle No. Page



B.03

21.121.33A.1 ........................... 12.17

21.121.33A.2 ........................... 12.17

21.121.34A.1 ........................... 12.17

21.121.34A.2 ........................... 12.17

21.121.41.1.............................. 12.12

21.121.41.2.............................. 12.12

21.121.41.3.............................. 12.12

21.121.41A.1 ........................... 12.12

21.121.41A.2 ........................... 12.12

21.121.41A.3 ........................... 12.12

21.121.42.1.............................. 12.12

21.121.42.2.............................. 12.12

21.121.42.3.............................. 12.12

21.121.42A.1 ........................... 12.12

21.121.42A.2 ........................... 12.12

21.121.42A.3 ........................... 12.12

21.121.50.1.............................. 12.12

21.121.50.2.............................. 12.12

21.121.50.3.............................. 12.12

21.121.50A.1 ........................... 12.12

21.121.50A.2 ........................... 12.12

21.121.50A.3 ........................... 12.12

21.121.51.2.............................. 12.18

21.121.52.2.............................. 12.18

21.121.61.1.............................. 12.19

21.121.61.2.............................. 12.19

21.121.62.1.............................. 12.19

21.121.62.2.............................. 12.19

21.121.70A.01 ......................... 12.13

21.121.70A.01E ........................ 12.13

21.121.70A.04 ......................... 12.13

21.121.71.1.............................. 12.13

21.121.71.2.............................. 12.13

21.121.71.3.............................. 12.13

21.121.71A.1 ........................... 12.13

21.121.71A.2 ........................... 12.13

21.121.71A.3 ........................... 12.13

21.121.72.1.............................. 12.13

21.121.72.2.............................. 12.13

21.121.72.3.............................. 12.13

21.121.72A.1 ........................... 12.13

21.121.72A.2 ........................... 12.13

21.121.72A.3 ........................... 12.13

21.121.73.1.............................. 12.13

21.121.73.2.............................. 12.13

21.121.73.3.............................. 12.13

21.121.73A.1 ........................... 12.13

21.121.73A.2 ........................... 12.13

21.121.73A.3 ........................... 12.13

21.121.74.1.............................. 12.13

21.121.74.2.............................. 12.13

21.121.74.3.............................. 12.13

21.121.74A.1 ........................... 12.13

21.121.74A.2 ........................... 12.13

21.121.74A.3 ........................... 12.13

21.121.81.1.............................. 12.12

21.121.81.2.............................. 12.12

21.121.81.3.............................. 12.12

21.121.81A.1 ........................... 12.12

21.121.81A.2 ........................... 12.12

21.121.81A.3 ........................... 12.12

21.121.91.2.............................. 12.19

21.121.92.2.............................. 12.19

21.121.93.2.............................. 12.20

21.121.94.2.............................. 12.20

21.121.95.2.............................. 12.20

21.121.96.2.............................. 12.20

 

21.13.
21.13.00.1................................ 13.02

21.13.00.2................................ 13.02

21.13.00A.1 ............................. 13.02

21.13.00A.2 ............................. 13.02

21.13.00B.1 ............................. 13.02

21.13.00B.2 ............................. 13.02

21.13.01.1................................ 13.02

21.13.01.2................................ 13.02

21.13.01A.1 ............................. 13.02

21.13.01A.2 ............................. 13.02

21.13.01B.1 ............................. 13.02

21.13.01B.2 ............................. 13.02

21.13.02.1................................ 13.03

21.13.02.2................................ 13.03

21.13.02A.1 ............................. 13.03

21.13.02A.2 ............................. 13.03

21.13.02G.1 ............................. 13.03

21.13.02G.2 ............................. 13.03

21.13.02GA.1 ........................... 13.03

21.13.02GA.2 ........................... 13.03

21.13.03.2................................ 13.04

21.13.04.2................................ 13.04

21.13.05.2................................ 13.04

21.13.06.01.............................. 13.05

21.13.06.01E ............................ 13.05

21.13.07.01.............................. 13.05

21.13.07.01E ............................ 13.05

21.13.08.01.............................. 13.05

21.13.08.01E ............................ 13.05

21.13.09.2................................ 13.06

21.13.10.2................................ 13.06

21.13.11.2................................ 13.07

21.13.13.2................................ 13.07

21.13.14.2................................ 13.07

21.13.142.2.............................. 13.08

21.13.15.1................................ 13.09

21.13.15.2................................ 13.09

21.13.150.1.............................. 13.08

21.13.150.2.............................. 13.08

21.13.15A.1 ............................. 13.08

21.13.15A.2 ............................. 13.08

21.13.15B.1 ............................. 13.09

21.13.15B.2 ............................. 13.09

21.13.16A.1 ............................. 13.09

21.13.16A.2 ............................. 13.09

21.13.16B.1 ............................. 13.09

21.13.16B.2 ............................. 13.09

21.13.16L.1 .............................. 13.09

21.13.16L.2 .............................. 13.09

21.13.16R.1 ............................. 13.09

21.13.16R.2 ............................. 13.09

21.13.17.2................................ 13.10

21.13.18................................... 13.10

 

21.14.
21.14.01.01.............................. 14.02

21.14.01.01E ............................ 14.02

21.14.01.03.............................. 14.02

21.14.01.04.............................. 14.02

21.14.02.01.............................. 14.02

21.14.02.01E ............................ 14.02

21.14.02.03.............................. 14.02

21.14.02.04.............................. 14.02

21.14.02.RUB ........................... 14.02

21.14.03.07.............................. 14.03

21.14.03.10.............................. 14.03

21.14.04.07.............................. 14.03

21.14.04.12.............................. 14.03

21.14.05.07.1........................... 14.04

21.14.05.07.2........................... 14.04

21.14.05.07.3........................... 14.04

21.14.05.10.1........................... 14.04

21.14.05.10.2........................... 14.04

21.14.05.10.3........................... 14.04

21.14.05.20.1........................... 14.04

21.14.05.20.2........................... 14.04

21.14.05.20.3........................... 14.04

21.14.06.07.1........................... 14.04

21.14.06.07.2........................... 14.04

21.14.06.07.3........................... 14.04

21.14.06.12.1........................... 14.04

21.14.06.12.2........................... 14.04

21.14.06.12.3........................... 14.04

 

21.15.
21.15.01.2................................ 15.02

21.15.02.2................................ 15.02

21.15.03.2................................ 15.02

21.15.04.032050.1................... 15.03

21.15.04.032082.1................... 15.03

21.15.04.032PAD ..................... 15.03

21.15.04.048100.1................... 15.03

21.15.04.049050.1................... 15.03

21.15.04.049082.1................... 15.03

21.15.04.050050.1................... 15.04

21.15.04.050082.1................... 15.04

21.15.04.090050.1................... 15.04

21.15.10.1................................ 15.21

21.15.10.2................................ 15.21

21.15.18.100............................ 15.22

21.15.18.125............................ 15.22

21.15.18.150............................ 15.22

21.15.19.01.............................. 15.23

21.15.19.01A ........................... 15.23

21.15.19.02.............................. 15.23

21.15.19.02A ........................... 15.23

21.15.19.03.............................. 15.23

21.15.19.03A ........................... 15.23

21.15.19.10.2........................... 15.24

21.15.20.EHV.1 ......................... 15.25

21.15.20.EHV.2 ......................... 15.25

21.15.20.L.1 ............................. 15.26

21.15.20.L.2 ............................. 15.26

B

Article number index

Article No. PageArticle No. Page Article No. Page



B.04

21.15.20.MHV.1 ........................ 15.28

21.15.20.MHV.2 ........................ 15.28

21.15.20.R.1 ............................ 15.27

21.15.20.R.2 ............................ 15.27

21.15.21.10.1........................... 15.29

21.15.21.10.2........................... 15.29

21.15.21.12.1........................... 15.29

21.15.21.12.2........................... 15.29

21.15.30.01.1........................... 15.29

21.15.30.01.2........................... 15.29

21.15.30.02.1........................... 15.29

21.15.30.02.2........................... 15.29

21.15.30.03.1........................... 15.29

21.15.30.03.2........................... 15.29

 

21.16.
21.16.1.040.11.1E.40 ............... 16.18

21.16.1.040.11.2.40................. 16.18

21.16.1.040.11.5.40................. 16.18

21.16.1.040.12.1E.40 ............... 16.18

21.16.1.040.12.2.40................. 16.18

21.16.1.040.12.5.40................. 16.18

21.16.1.040.21.1E.40 ............... 16.19

21.16.1.040.21.2.40................. 16.19

21.16.1.040.31.1E.40 ............... 16.20

21.16.1.040.31.2.40................. 16.20

21.16.1.040.32.1E.40 ............... 16.20

21.16.1.040.32.2.40................. 16.20

21.16.1.060.11.1E.40 ............... 16.33

21.16.1.060.11.2.40................. 16.33

21.16.1.060.21.1E.40 ............... 16.33

21.16.1.060.21.2.40................. 16.33

21.16.1.085.11.2.40................. 16.37

21.16.2.100.03.30.................... 16.21

21.16.2.111.02.20.................... 16.22

21.16.2.111.02.40.................... 16.22

21.16.2.111.05.20.................... 16.22

21.16.2.111.05.40.................... 16.22

21.16.2.111.C02 ...................... 16.22

21.16.2.200.03.30.................... 16.42

21.16.2.200.04.30.................... 16.42

21.16.2.201.AL.20 .................... 16.42

21.16.2.201.AL.40 .................... 16.42

21.16.2.202.AL.20 .................... 16.43

21.16.2.202.AL.40 .................... 16.43

21.16.3.10F.040 ....................... 16.24

21.16.3.10F.040L ..................... 16.24

21.16.3.10F.040R ..................... 16.24

21.16.3.10F.060 ....................... 16.34

21.16.3.10F.085 ....................... 16.38

21.16.3.10F.085L ..................... 16.38

21.16.3.10F.085R ..................... 16.38

21.16.3.11F.040 ....................... 16.24

21.16.3.11F.060 ....................... 16.34

21.16.3.20F.040 ....................... 16.25

21.16.3.20F.040B ..................... 16.25

21.16.3.20F.040L ..................... 16.25

21.16.3.20F.040R ..................... 16.25

21.16.3.20F.060 ....................... 16.34

21.16.3.20F.085 ....................... 16.39

21.16.3.20F.085L ..................... 16.39

21.16.3.20F.085R ..................... 16.39

21.16.3.21F.040 ....................... 16.26

21.16.3.21F.060 ....................... 16.34

21.16.3.30F.040 ....................... 16.26

21.16.3.30F.060 ....................... 16.35

21.16.3.30F.085 ....................... 16.39

21.16.3.31F.060 ....................... 16.35

21.16.3.31R.040 ...................... 16.26

21.16.3.32F.040 ....................... 16.27

21.16.3.32F.060 ....................... 16.35

21.16.3.4.040........................... 16.30

21.16.3.4.060........................... 16.36

21.16.3.4.085........................... 16.40

21.16.3.50F.040 ....................... 16.30

21.16.3.50F.060 ....................... 16.36

21.16.3.50F.085 ....................... 16.40

21.16.3.51F.040 ....................... 16.30

21.16.3.60F.040 ....................... 16.30

21.16.3.60F.085 ....................... 16.40

21.16.3.70F.040 ....................... 16.31

21.16.3.70F.085 ....................... 16.40

21.16.3.70R.040 ...................... 16.31

21.16.3.80F.040 ....................... 16.31

21.16.3.P10.040....................... 16.28

21.16.3.P20.040....................... 16.28

21.16.3.P25.040....................... 16.28

21.16.3.P28.040....................... 16.28

21.16.3.P30.040....................... 16.29

21.16.3.P40.040....................... 16.29

21.16.3.P50.040....................... 16.29

21.16.4.01................................ 16.32

21.16.4.02................................ 16.32

21.16.4.03................................ 16.32

 

21.17.
21.17.01.01.01......................... 17.02

21.17.01.01.01E ....................... 17.02

21.17.01.02.01......................... 17.02

21.17.01.02.01E ....................... 17.02

21.17.01.03.01......................... 17.02

21.17.01.04.01......................... 17.02

21.17.02.080120...................... 17.03

21.17.02.150060...................... 17.03

21.17.02.215160...................... 17.03

21.17.02.300120...................... 17.03

21.17.02.300220...................... 17.03

21.17.02.430310...................... 17.03

21.17.03.0100.......................... 17.03

21.17.03.0150.......................... 17.03

21.17.03.0250.......................... 17.03

21.17.03.1000.......................... 17.03

21.17.03.2.32.20...................... 17.04

21.17.03.3.05.40...................... 17.05

21.17.03.3.2.02........................ 17.04

21.17.03.4.00.20...................... 17.05

21.17.04.063.01....................... 17.06

21.17.04.063.01E ..................... 17.06

21.17.04.098.01....................... 17.06

21.17.04.098.01E ..................... 17.06

21.17.04.122.01....................... 17.06

21.17.04.122.01E ..................... 17.06

21.17.04.228.2......................... 17.07

21.17.05.01.............................. 17.07

21.17.05.02.............................. 17.07

21.17.05.03.01......................... 17.08

21.17.05.03.01E ....................... 17.08

21.17.05.04.01......................... 17.08

21.17.05.04.01E ....................... 17.08

21.17.06.021............................ 17.09

21.17.06.031............................ 17.09

21.17.08.01.............................. 17.10

21.17.08.02.............................. 17.10

21.17.08.03.............................. 17.10

21.17.08.10.............................. 17.11

21.17.08.11.............................. 17.11

21.17.08.12.............................. 17.12

21.17.08.13.............................. 17.12

21.17.09.01.............................. 17.13

21.17.09.02.............................. 17.13

21.17.09.03.............................. 17.13

21.17.09.04.............................. 17.14

21.17.09.05.............................. 17.14

21.17.09.06.............................. 17.14

21.17.09.07.............................. 17.14

21.17.10.200............................ 17.15

21.17.10.250............................ 17.15

21.17.10.300............................ 17.15

21.17.10.400............................ 17.15

21.17.15.036036.30................. 17.16

21.17.16.01.30......................... 17.16

21.17.16.02.30......................... 17.16

21.17.17.05.............................. 17.17

21.17.17.06.10......................... 17.17

 

21.99.
21.99.01................................... 99.04

21.99.02................................... 99.04

21.99.0321512HSS .................. 99.05

21.99.0321512VHM .................. 99.05

21.99.10................................... 99.04

21.99.61.A06.1 ........................ 99.02

21.99.61.A06.2 ........................ 99.02

21.99.61.A06S.1 ...................... 99.02

21.99.61.A06S.2 ...................... 99.02

Article number index

Article No. Page Article No. Page Article No. Page



B.05

21.M28.
21.M28A2028G11 .................... 12.24

21.M28A2028G11V .................. 12.24

21.M28A2028G12 .................... 12.24

21.M28A2028G12V .................. 12.24

21.M28A2028K11 ..................... 12.24

21.M28A2028K11V ................... 12.24

21.M28A2028K12 ..................... 12.24

21.M28A2028K12V ................... 12.24

21.M28A2028T11 ..................... 12.24

21.M28A2028T11V ................... 12.24

21.M28A2028T12 ..................... 12.24

21.M28A2028T12V ................... 12.24

21.M28A2028V11 ..................... 12.24

21.M28A2028V11V ................... 12.24

21.M28A20EK11 ....................... 12.28

21.M28A20EK11V ..................... 12.28

21.M28A20EK12 ....................... 12.28

21.M28A20EK12V ..................... 12.28

21.M28A20ET11 ....................... 12.28

21.M28A20ET11V ..................... 12.28

21.M28A20ET12 ....................... 12.28

21.M28A20ET12V ..................... 12.28

21.M28A20EU11 ....................... 12.28

21.M28A20EU11V ..................... 12.28

21.M28A20FK11 ....................... 12.28

21.M28A20FK11V ..................... 12.28

21.M28A20FK12 ....................... 12.28

21.M28A20FK12V ..................... 12.28

21.M28A20FT11 ....................... 12.28

21.M28A20FT11V ..................... 12.28

21.M28A20FT12 ....................... 12.28

21.M28A20FT12V ..................... 12.28

21.M28A20FU11 ....................... 12.28

21.M28A20FU11V ..................... 12.28

21.M28A20S11 ......................... 12.29

21.M28A20S11V ....................... 12.29

21.M28S1028G11 .................... 12.24

21.M28S1028G12 .................... 12.24

21.M28S1028K11 ..................... 12.26

21.M28S1028K11V ................... 12.26

21.M28S1028K12 ..................... 12.26

21.M28S1028K12V ................... 12.26

21.M28S1028K21 ..................... 12.24

21.M28S1028K22 ..................... 12.24

21.M28S1028T11 ..................... 12.26

21.M28S1028T11V ................... 12.26

21.M28S1028T12 ..................... 12.26

21.M28S1028T12V ................... 12.26

21.M28S1028T21 ..................... 12.24

21.M28S1028T22 ..................... 12.24

21.M28S1028V11 ..................... 12.24

21.M28S10EK11 ....................... 12.28

21.M28S10EK12 ....................... 12.28

21.M28S10ET11 ....................... 12.28

21.M28S10ET12 ....................... 12.28

21.M28S10EU11 ....................... 12.28

21.M28S10FK11 ....................... 12.28

21.M28S10FK12 ....................... 12.28

21.M28S10FT11 ....................... 12.28

21.M28S10FT12 ....................... 12.28

21.M28S10FU11 ....................... 12.28

21.M28S10S11 ......................... 12.29

21.M28S2028G11 .................... 12.24

21.M28S2028G12 .................... 12.24

21.M28S2028K11 ..................... 12.26

21.M28S2028K11V ................... 12.26

21.M28S2028K12 ..................... 12.26

21.M28S2028K12V ................... 12.26

21.M28S2028K21 ..................... 12.24

21.M28S2028K22 ..................... 12.24

21.M28S2028T11 ..................... 12.26

21.M28S2028T11V ................... 12.26

21.M28S2028T12 ..................... 12.26

21.M28S2028T12V ................... 12.26

21.M28S2028T21 ..................... 12.24

21.M28S2028T22 ..................... 12.24

21.M28S2028V11 ..................... 12.24

21.M28S20EK11 ....................... 12.28

21.M28S20EK12 ....................... 12.28

21.M28S20ET11 ....................... 12.28

21.M28S20ET12 ....................... 12.28

21.M28S20EU11 ....................... 12.28

21.M28S20FK11 ....................... 12.28

21.M28S20FK12 ....................... 12.28

21.M28S20FT11 ....................... 12.28

21.M28S20FT12 ....................... 12.28

21.M28S20FU11 ....................... 12.28

21.M28S20S11 ......................... 12.29

21.M28V1228G11..................... 12.24

21.M28V1228G11V ................... 12.24

21.M28V1228G12..................... 12.24

21.M28V1228G12V ................... 12.24

21.M28V1228K11 ..................... 12.24

21.M28V1228K11V ................... 12.24

21.M28V1228K12 ..................... 12.24

21.M28V1228K12V ................... 12.24

21.M28V1228T11 ..................... 12.24

21.M28V1228T11V ................... 12.24

21.M28V1228T12 ..................... 12.24

21.M28V1228T12V ................... 12.24

21.M28V1228V11 ..................... 12.24

21.M28V1228V11V ................... 12.24

21.M28V12EK11 ....................... 12.28

21.M28V12EK11V ..................... 12.28

21.M28V12EK12 ....................... 12.28

21.M28V12EK12V ..................... 12.28

21.M28V12ET11 ....................... 12.28

21.M28V12ET11V ..................... 12.28

21.M28V12ET12 ....................... 12.28

21.M28V12ET12V ..................... 12.28

21.M28V12EU11 ....................... 12.28

21.M28V12EU11V ..................... 12.28

21.M28V12FK11 ....................... 12.28

21.M28V12FK11V ..................... 12.28

21.M28V12FK12 ....................... 12.28

21.M28V12FK12V ..................... 12.28

21.M28V12FT11 ....................... 12.28

21.M28V12FT11V ..................... 12.28

21.M28V12FT12 ....................... 12.28

21.M28V12FT12V ..................... 12.28

21.M28V12FU11 ....................... 12.28

21.M28V12FU11V ..................... 12.28

21.M28V12S11 ......................... 12.29

21.M28V12S11V ....................... 12.29

 

21.MA
21.MA1228K11 ......................... 12.31

21.MA1228K11V ....................... 12.31

21.MA1228K12 ......................... 12.31

21.MA1228K12V ....................... 12.31

21.MA1228K21 ......................... 12.31

21.MA1228K22 ......................... 12.31

21.MA1228T11 ......................... 12.31

21.MA1228T11V ....................... 12.31

21.MA1228T12 ......................... 12.31

21.MA1228T12V ....................... 12.31

21.MA1228T21 ......................... 12.31

21.MA1228T22 ......................... 12.31

 

21.MB
21.MB1228A20V ....................... 12.30

21.MB1228S10V ....................... 12.31

21.MB1228S20V ....................... 12.31

21.MB1228V12V ....................... 12.30

 

21.MD
21.MD28A20KA ........................ 12.24

21.MD28A20TP......................... 12.24

21.MD28A20VA......................... 12.24

21.MD28S10KA ........................ 12.24

21.MD28S10TP ......................... 12.24

21.MD28S10VA ......................... 12.24

21.MD28S20KA ........................ 12.24

21.MD28S20TP ......................... 12.24

21.MD28S20VA ......................... 12.24

21.MD28V12KA ........................ 12.24

21.MD28V12TP ......................... 12.24

21.MD28V12VA ......................... 12.24

 

21.MR
21.MR28A2028K/xx .................. 12.25

21.MR28A2028T ....................... 12.25

21.MR28S10xx28K/xx ............... 12.25

21.MR28S10xx28T .................... 12.25

21.MR28S20xx28K/xx ............... 12.25

21.MR28S20xx28T .................... 12.25

21.MR28V1228K/xx .................. 12.25

21.MR28V1228T ....................... 12.25

 

22.16.
22.16.1.035.11.1E.40 ............... 16.13

22.16.1.035.11.2.40................. 16.13

22.16.1.035.11.5.40................. 16.13

22.16.1.035.41.1E.40 ............... 16.13

22.16.1.035.41.5.40................. 16.13

22.16.2.02.01E.40 .................... 16.41

22.16.2.02.02.40...................... 16.41

22.16.2.02.05.40...................... 16.41

22.16.2.100.01E.40 .................. 16.14

22.16.2.100.02.40.................... 16.14

22.16.2.100.05.40.................... 16.14

22.16.2.111.01E.40 .................. 16.14

22.16.2.111.02.40.................... 16.14

22.16.2.111.05.40.................... 16.14

B

Article number index

Article No. Page Article No. Page Article No. Page



B.06

22.16.3.10F.035 ....................... 16.15

22.16.3.10F.035B ..................... 16.15

22.16.3.10R.035 ...................... 16.15

22.16.3.30F.035 ....................... 16.16

22.16.3.30R.035 ...................... 16.16

22.16.3.35X.CLIP ...................... 16.16

22.16.3.4.035........................... 16.17

22.16.3.70F.035 ....................... 16.17

22.16.3.P10.035....................... 16.17

22.16.3.X50.035 ....................... 16.17

 

30.15.
30.15.S1................................... 15.25

30.15.S2................................... 99.03

Article No. Page

Article number index

Imprint

Subject to technical modifi cation.

All rights reserved.

Copying - also in parts - only allowed by 

written consent.

© MayTec Aluminium Systemtechnik GmbH,

Germany, D - 82140 Olching, 2022



MayTec GmbH plant in Olching

Panel storage Profi le machining

Accessory storage Stock of aluminium profi les



KG
B6

21
.0

0.
00

0.
20

01
23

_V
01

Australia Germany USA

MayTec Aluminium
Systemtechnik GmbH
Gewerbering 16
D - 82140 Olching

country code: +49
phone (0) 8142 / 65 40 - 0
fax (0) 8142 / 65 40 - 119
mail@maytec.de
www.maytec.de

MayTec Inc.

901 Wesemann Drive
West Dundee, IL 60118

country code: +1
phone 847 - 429 - 0321
fax 847 - 429 - 0460
mail@maytecinc.com
www.maytecinc.com

MayTec Australia P/L

Unit 8, 175 James Ruse Drive
Rosehill, NSW 2142

country code: +61
phone (0) 2 / 9898 9929
fax (0) 2 / 9638 4086
info@maytec.com.au
www.maytec.com.au

The key ...
to success

MayTec distributor

universal

  effi cient

   functional



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (Coated FOGRA39 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (Europe Prepress)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice




